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FRODUCT (CODE : Al -9482B-M(
PRODUCT NAME : (ZvSABO vS60 INST TST PTI

DA E: JUNE 1679
MAINTAINER: DIAGNOST]( ENGINEERING
AL THORS : R. SHOOP & R. MOORE

COPYRIGHT (C) 1976, 1979
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS.

THIS SOF TWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY
ON A SINGLE COMPUTER SYSTEM AND MAY BE (OPIED CNLY WITH
THE INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS

SOF TWARE, OR ANY OTHER COPIES THEREOF, MAY NOT BE PRO-
VIDED OR OTHERWISE MADE AVAILABLE TO ANY OTHER PERSON
EXCEPT FOR USE ON SUCH SYSTEM AND TO ONE WHO AGREES TO
THESE LICENSE TERMS. TITLE TO AND OWNERSHIP OF THE

SOF TWARE SHALL AT ALL TIMES REMAIN IN DEC.

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE (ONSTRUED AS A (COM-
MITMENY BY DIGITAL EQUIPMENT (ORPORATION,

DEC ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY
SE(ITS SOF TWARE ON EQUIPMENT WHICH S NOT SUPPLIED BY
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THIS PROGRAM IS THE FIRST OF A SERJES DESIGNED TO TEST STRICTLY LOGIC FUNCTIONS
OF THE VvSGO DISPLAY PROCESSOR. THIS DIAGNOSTIC TESTS, READING AND WRITING

OF vS60 BUS REGISTERS, NOM GRAPHI{ TYPE INSTRUCTIONS AND SEVERAL

INTERRUPT CONDITIONS., THFRE ]S NO FULL SPEED vS60 TESTING IN THIS TEST.
MAINTENANCE MODES 1, 2 OR 3 ARE uSeD.

ve* REV B == FIXES TIMING PROBLEM [N TEST 136 =e»

REQUIREMENTS

EQUIPMENT

A. PDP=11 COMPUTER WITH AT LEAST 8k OF MEMORY
8. 1/0 TERMINAL (].E. ASR33 TTY)

C. VS60 DISPLAY PROCESSOR

STORAGE

THIS PROGRAM OCCUPIES LOWER 8K OF MEMORY,

LOADING PROCEDURE

NORMAL PROCEDURE FOR LOADING A BINARY PROGRAM INTO MEMORY SHOULD
BE FOLLOWED.

STARTING PROCEDURE

STARTING ADDRESS 200

LOADING ADDRESS 200 AND STARTING WILL IDENTIFY THE TEST, INITJALIZE
THE SYSTEM, AND BEGIN TESTING.

RESTART ADDRESS 204

LOADING ADDRESS 204 AND STARTING WILL INITIALIZE THE SYSTEM AND
BEGIN TESTING.
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SWITCH REGISTER SETTINGS
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Sw09
Sw08

ERRCR REPGRTING

ERROR COMMENT

FUNCTION

INHIBIT
BELL ON
LOOP ON
LOOP ON

ERROR

TES™

ERROR TYPEQUTS

END OF DIAGNOSTIC

ITERATIONS - NORMALLY 2000(8) AFTER 1ST PASS
ERROR

ERROR

TEST IN SWR<7:0>

ALL ERRORS ARE ACCOMPANIED WITH AN ENGL]SH LANGUAGE DESCRIPTIVE
COMMENT AS TO THE TYPE OF FAILURt. FURTHER QUALIFICATION
Of THE ERROR CAN BE OBTAINED IF NCEDED FROM THE (OMMENT AT THE

ERROR PC OF THE
ERROR DATA

LISTING.

PC LISTING ADDRESS WHERE THE ERROR WAS DETECTED.

TSTNUM TEST NUMBER WHERE THE ERRCH OCCURRED.

BUSADRS  DISPLAY BUS ADDRCSS WHERE THE RESULTANT DATA WAS EXPECTED
_XPCT DATA THAT WAS EXPECTED.

RCVD DATA THAT WAS RECEIVED.

SEw 0004
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vS60 BUS/VECTOR ADDRESS MODIF ICATION:
MODIFY LOCATION "SVE(T1*® ]F BASE VECTOR ADDRESS IS NOT 320,
MODIFY LOCATION 'S$BASE' IF BASE BUS ADDRESS IS NOT 172000.

NOTE: A RESTART IS REQUIRED AFTER THE ASOVE ADDRESS MODIFICATION.
THE ABOVE LOCATIONS ARE LOCATED IN THE 'APT MA] BOX-ETASLE’

XXDP/APT NOTES:

THIS DIAGNOSTIC IS CHAINABLE UNDER XXDP.

THIS DIAGNOSTIN INCLUDES THE 'APT' SOF TWARE HOOKS HOWEVER, THEY
HAVE NOT BEEN TESTED.

POWER FAIL:
A POWER FAILURE WILL CAUSE A RESTART MESSAGE ON POWER UP AT
WHICH TIME THE PROGRAM [S RESTARTED AT THE BEGINNING.

SINGLE VvS60 TESTING:
THIS DIAGNOSTIC DOES NOT TEST MULTIPLE VvS60°S.

EXECUTION TIME

-------------- -

EXECUTION TIME RANGES FROM ABOUT 3 SECONDS WITH NO JTERATIONS
TO ABOUT 2 MINUTES WITH ITERATIONS ENABLED. AN 'END PASS' MESSAGE
IS TYPED EACH PASS THRU THE DIAGNOSTIC.

PROGRAM TEST DESCRIPTIONS

GENCRAL

THE TABLE OF CONTENTS AT THE BEGINNING OF THE LISTING CONTAINS

A BRIEF DESCIPTION OF EACH TEST., IT WlLL ALSO IDENTIFY WHAT MAINTENANCE
MODE A PARTICULAR TEST USES. THE COMMENT FIELD IN EACH TEST

ALSO CAN BE HELPFUL IN UNDERSTANDING A TEST.

TYPICAL TEST SEQUENCE

MOST TESTS ARE ORGANIZED AROUND THE FOLLOWING FORMAT :

A MAINTENANCE MODE SWITCH IS SET (SW1, 2 OR 3). THEN A VS60 REGISTER

BUS REGISTER ADDRESS IS LOADED INTO LOCATION ‘'$8DADR' WHICH

IS WHERE THE EXPECTED DATA WILL BE READ. NEXT STEP WILL BE TO LOAD THE
EXPECTED DATA INTO LOCATION '$GDDAT'. THEN ONE OR MORE INSTRUCTIONS

ARE LOADED STARTING AT LOCATION °'BUFFER'. THE DISPLAY PC IS THEN LOADED
WlTH ADDRESS °'BUFFER' WHICH CAUSES AN NPR TO °'BUFFER'., AT THE COMPLETION
OF THE 'NPR' A NUMBER OF RESUMES COULD BE ISSUED IF ADDITIONAL 'NPRS' ARE
REQUIRED FOR INSTRUCTIONS OR DATA. AT THIS TIMF THE CONDITION

UNDER TEST SHOULD HAVE BEEN SET UP AND AVAILABLE AT THE BUS ADDRESS

SET UP IN '$BDADR'. THIS CONDITION IS USUALLY LOADED INTO LOCATION
'$SBDDAT' AND COMPARED TO THE EXPECTED RESULTS PREVIOUSLY SET UP

IN "SGDDAT'. IFf AN ERROR IS DETECTED THEN AN ERROR TR .°» (EMT) IS PREFURMED
ACCORDING TO THE ITEM NUMBER IN THE 'SERRTB' (ERROR TABLE).

THIS TABLE DIRECTS OR POINTS TO THE PERTINENT 'TYPE QUT' INFORMATION.
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CZVSA-B VSO60 INSTRUCTION TES! PART 1 MA(Y'1 30G(1063) 17-SEP-79 (08:43 PAGE 7
(ZVSAB.P11 29-MAY-79 10:10 SEQ 0007

13 JTITLE C2ZVSA-B  VS60 INSTRUCTION TEST PART 1
1) :*COPYRIGHT (C) 1976
1) ;*DIGITAL EQUIPMENT CORP.
g}; :*MAYNARD, MASS. 01754

> %
2}; :*PROGRAM BY R. MOORE
¢

(1 ;*THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDE( SYSMA(
(;) :*PACKAGE (MAINDEC-11-DZ3A(=(3), JAN 19, 1977.
1 o ®

14 ;

}2 : REVY B == FIXES TIMING HACK IN TEST 136 (G.P. JUNE '79).
(}? .SBTTL BASIC DEFINITIONS

)
(1 ;*INITIAL ADDRESS OF THE STACK POINTER sxx 17100 #w«
N 001100 STACK= 1100
1 LEQUIV  EMT,ERROR ;:BASIC DEFINITION OF ERROR CALL
g;; .EQUIV I0T,SCOPF ;:BASIC DEFINITION OF SCOPE CALL
(1) J*MISCELLANEOUS DEF I'NIT]IONS
(1 000011 HT= 1 ;:CODE FOR HORIZONTAL TAB
(&P 000012 LF= 12 ::CODE FOR LINE FEED
(1) 000015 CR= 15 ;:CODE FOR CARRIAGE RETURN
() 000200 CRLF= 200 ;;CODE FOR CARRJAGE RETURN-LINE FEED
1) 177776 PS= 177776 ; JPROCESSOR STATUS WORD
1 .EQUIV PS,PSW
1) 1727774 STKLMT= 177774 ::STACK LIMIT REGISTER
(1 177772 PIRQ= 177772 : ;PROGRAM INTERRUPT REQUEST REGISTER
) 177570 DSWR= 177570 : ;HARDWARE SWITCH REGISTER
5}) 177570 DDISP= 177570 ; JHARDWARE DISPLAY REGISTER

)
(1) s *GENERAL PURPOSE REGISTER DEFINITIONS
@p) 000000 RO= X0 ;;GENERAL REGISTER
1) 000001 R1= ' 4 . GENERAL REGISTER
(1 000002 R2= X2 ;s GENERAL REGISTER
(1) 000003 R3= %3 ;;GENERAL REGISTER
(1) 000004 R4= ) 73 : ;GENERAL REGISTER
(1) 000005 RS= %5 ;s GENERAL REGISTER
(1) 000006 R6= X6 ; sGENERAL REGISTER
(1) 000007 R7= X7 :;GENERAL REGISTER
(M 000006 SP= X6 ::STACK POINTER
qu 000007 PC= t ¥4 ; ;PROGRAM COUNTER
(1) ;*PRIORITY LEVEL DEFINITIONS
(", 000000 PRO= 0 ;:PRIORITY LEVEL O
(1) 000040 PR1- 40 ::PRIORITY LEVEL 1
(1) 000100 PR?2= 100 ;;PRIORITY LEVEL 2
(1) 000140 PR3= 140 ::PRIORITY LEVEL 3
(1) 000200 PR 200 ;;PRIORITY LEVEL 4
1) 000240 PRS= 240 ::PRIORITY LEVEL S
(1) 00C300 PRé6= 300 J:PRIORITY LEVEL 6
(}; 000340 PR7= 340 ::PRIORITY LEVEL 7
(
(1) s2"'SWITCH REGISTER' SWITCH DEFINITIONS
(1) 100000 Swi15- 100000




(ZvSA-B VS60 INSTRUCTION TEST PART 1
(ZVSAB,P11 29~-MAY~79 10:10

‘1) 040000
qp ¢20000
(M 01¢Y00
QD) 004000
(1) 002000
(1 001000
(1) 000400
(M) 000270
ap 2360100
ap 000040
ab) 000020
(1) 000010
(1 000004
(1 000002
(73 000001
(1)
(1)
(1
(1)
1
(1
(1)
(1)
()
(n
(M
(1
(1) 100000
(1) 040000
(M 020C00
@D] 010000
1) 004000
(1 002000
(1, 001000
(M 000400
(1) 000200
1) 000100
(1) 000040
(1 000020
(1 000010
(1) 000004
(1) 000002
P 000001
(@D
(1)
(1)
(1)
(1)
(1
(1)
(H
(1)
(1
(1)
(1)
(1 00C004

MACY1T

I 1
30G(1063) 17-SEP=79 (08:43 PAGE 1-1

BASIC DEFINITIONS

SwWl4=
Sw13=
Swiz=
Swll=
SW10=
SW09=
SW08=
SWQ7=
SW06=
SW0S=
SW04=
Sw03=
Swl2=
SW01=
SW00=
.EQulv
.EQUlvV
LEQUIV
.EQUIV
EQUIV
EQUIV
.EQUIV
.EQUIV
EQUIV
EQUIV

;*DATA
BIT15=
BIT14=
BIT13=
BIT12-
BIT11=
BIT10=
BIT09=
BITO8=
BITO7=
BIT06=
BIT0S=
BIT04=
BIT03~
BIT02-
BITO1=
BIT00=
.EQUIV
LEQUIV
LEQUIV
LEQUIV
LEQUIV
JEQUIV
LEQUlV
LEQUIV
LEQUlV
LEQUIV

40000
20000
10000
4000
2000
1000

400

200

100

49

20

10

4

2

1

SW09, SW9
Sw08, Sw8
SWO7,Sw?
SW06, Swé
SWO5, Sw5
SW04 , SWé
SW03,Sw3
SW02, Sw¢
SW01,sw1
Sw00, Sw0

BIT DEFINITIONS (BITOO 71O BIT15)
100000
40000
20000
10000
4000
2000
1000
400
200
100
40
20
i0
4
2
BIT0Y.BIT9
BIT08,BIT8
81107,B117
BIT06,8I1716
BITOS5,BITS
BIT04,BIT4
BIT03,B]T2
BIT02.BIT2
BITO1,BIT1
B1700.8I1T0

:*BAS]( ‘'C(PU'* TRAP VECTOR ADDRESSES
ERRVEC= 4 ;s TIME OUT AND OTHER ERRORS

SEQ 0008
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CZVSA=B  vS60 INSTRUCTION TES

(IVSAB.P'1 29-MAY=-79 10:10 RASIC DEFINITIONS SEQ 0009
(1) 000010 RESVEC= 10 ; JRESERVED AND ILLEGAL INSTRUCTIONS
(1) . 000014 TBITVEC=14 ST BIT
1) 000014 TRTVEC= 14 ;s TRACE TRAP
(n 000014 BPTVE(= 14 ; ;BREAKPOINT TRAP (BPT)
(1;. 000020 I0TVEC= 20 :: INPUT/OUTPUT TRAP (]0OT) ««SCOPE=*
(1) 000024 PWRVEC= 24 ; ;POWER FAJL
(1), 000030 EMTVEC- 30 : ;EMULATOR TRAP (EMT) ==ERRQOR=*®*
(N 000034 TRAPVE (=34 ;" 'TRAP'' TRAP

o = 000060 TKVEC= 60 ;;1TY KEYBOARD VECTOR

oD = 000064 TPVEC= 64 ;:TTY PRINTER VECTOR

r.,c}é ~ 800240 PIRQVE (=240 ; ;PROGRAM INTERRUPT REQUEST VECTOR
19 172000 ABASE= 172000 ; 1ST REGISTER ADDRESS (DISPLAY P(C).
20 100320 AVECT1= 100320 ; PRI (4] BYTE) AND VECTOR ( LO BYTE).
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(ZVSAB.P11 29-MAY-79 10:10 OPERATIONAL SWITCH SETTINGS SEQ 0010
2%, .SBTTL OPERATIONAL SWITCH SETTINGS L
b o
(%) ot SWIT(H USE
an ;v =me=e=  eesecsccccscec—cce--e-
(1) . 15 HALT ON ERROR
(1) . 14 LOOP ON TEST
(1) o * 13 INHIBIT ERROR TYPEQUTS
(v . 12 HALT AT END OF DIAGNOSTIC
(1) . 11 INHIBIT ITERATIONS
(1) M 10 BELL ON ERROR
(1) . 9 LOOP ON ERROR
(}% ;¥ 8 LOOP ON TEST IN SWR<7:0>
24 .SBTTL TRAP CAT(CHER
(
( 000000 .=0
( ;*ALL UNUSED LOCATIONS FROM 4 - 776 CONTAIN A ''.+2 HALT"'
( :*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
g 000174 *LOCAT10N194C0NTAINS O TO CATCH IMPROPERLY LOADED VECTORS
( 000174 000000 CISPREG: .WORD 0 ;. SOF TWARE DISPLAY REGISTER
( 000176 000000 SWREG: .WORD 0 ;s SOFTWARE SWITCH REGISTER
( .SBTTL STARTING ADDRESS(ES)
( 00 000137 002110 JMP a#BEGIN ;;JUMP TO STARTING ADDRESS OF PROGRAM
04 000137 002472 JMF RESTRT ; RESTART ADDRESS

.SBTTL ACT11 HOOKS

282232333822 2200330 RR2Ri2 st Rttt tRaRlRR Rttt llld)

HOOKS REQUIRED BY ACT11

1
e d e e e e h PN e b md b d h ) ) 2D (NP b wd s end =3 L N DANUNI A =D eed ek = e d ed = e b
" N N N v f e e N e e W W e e s e e O ND 00 S N v e e e N S SN W Y S N N N e W W N S

(
(
(
( 000210 $SVPC=. :SAVE PC
( 000046 =46
i 000046 8588%8 SEggAD J2T1ISET LOC.46 TO ADDRESS OF $ENDAD IN .SEOP
(1) 000052 000000 JWORD 0 ::2)SET LOC.52 TO ZERO
( 000210 .~ $SVP( ;2 RESTORE PC
001000 .=1000
( .SBTTL APT PARAMETER BLOCK
( 2 2222222223333 3232 XX223Z3 X222 2332222222222 X2XE XSRS NS
( SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
( t*tt**ttl*ttttttt*ttttttiiﬁtititti*iitittttttttt*tttttttttt*ttt
( 001000 .$X=.  ::SAVE CURRENT LOCATION
( 000024 =24 ;;SET POWER FAIL TO POINT TO START (CF PROGRAM
( 000024 000200 200 ;2FOR APT START UP
( 000044 .=44 JJPOINT TO APT INDIRECT ADDRESS PNTR.
(1) 000044 001000 $APTHDR ::POINT TO APT HEADER BLOCK
( 001000 =.$X  :-RESET LOCATION COUNTER
( ttiittttt'tiiit*iiti'ﬁ'iiiiﬁ.ﬁﬁtititttﬁtﬁﬁttttttttttttttttttttt
( :SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC
( “INTERFACE SPEC.
(1) 001000 $APTHD :
(1) 01000 000000 SHIBTS: .WORD O - TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

001002 001202 $MBADR: .WORD  SMAJL  ;;ADDRESS OF APT MAILBOX (BITS 0-15)
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(1)
(D
1)
(1)

21

vS60 INSTRUCT]ON ng
001004 000012
001006 000036

001010 000000
001012 000033

T PART 1

L 1
MACYTT 30G(1063) 17-SEP-79 08:43 PAGE 1-4

APT PARAMETER BLOCK SEQ 0011
$7STM: .WORD  10. sJRUN TIM OF LONGEST TEST

$PASTM: _WORD  30. ;;RUN TIME IN SECS. OF 1ST PASS ON 1 UNJT (QUICK VERIFY)

SUNITM: _WORD ;;ADDITIONAL RUN TIME (SECS’) OF A PASS FUR EACH ADDITIONAL UNIT

.WORD

0
SETEND-SMAIL/2 ;:LENGTH MAILBOX-ETABLE (WORDS)
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(2)

8882388833828

BRXRNSrrruo®RIACES

001202
001202
001204
001206

29~-MAY-79

001100

000000
000000
000000
000000
177607
077
. 015
000012

000000
000000
000000

ON TEST PART 1
10:10

000377

M1
MACY11 30G('063) 17-SEP-79 08:43 PAGE 1-5
COMMON TAGS

.SBTTL COMMON TAGS

S 2332323023202 2223002300RRR2RRR Rl RS RRRiRRRRRRRRRRR RS

1ﬂ’HIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

.=1100
$SCMTAG: ;:START OF COMMON TARGS

.WORD O
$TSTNM: BYTE 0 ;;CONTAINS THE TEST NUMBER
$ERFLG: .BYTE O ; ;CONTAINS ERROR FLAG
$ICNT: _WORD O :;CONTAINS SUBTEST [TERATION COUNT
$LPADR: .WORD O ;;CONTAINS SCOPE LOOP ADDRESS
$LPERR: .WORD 0 ;;CONTAINS SCOPE RETURN FOR ERRORS
$ERTTL: .WORD O 2 ;CONTAINS TOTAL ERRORS DETECTED
$ITEMB: .BYTE O ;;CONTAINS ITEM CONTROL BYTE
$SERMAX: .BYTE 1 s CONTAINS MAX., ERRORS PER TEST
$ERRPC: .WORD 0 ;;CONTAINS PC OF LAST ERROR INSTRUCTION
$GDAOR: WORD O ;s CONTAINS ADDRESS OF °'GOOD' DATA
$8DADR: .WORD 0 ;JCONTAINS ADDRESS OF °'BAD' DATA
$GDDAT: .WORD C ;sCONTAINS °*GOOD' DATA
$8DDAT: .WORD O ;cCONTAINS 'BAD' DATA

WORD O ; ;RESERVED=--NOT TO BE USED

MWORD O
$AUTOB: .BYTE O ;;AUTOMATIC MODE INDICATOR
$INTAG: .36;5 8 ;o INTERRUPT MODE INDICATOR
SWR: .WORD DSWR :;ADDRESS OF SWITCH REGISTER
DISPLAY: .WORD DDISP ;. ADDRESS OF DISPLAY REGISTER
$TKS: 177560 ;:TTY KBD STATUS
$TKB: 177562 ;2TTY KBD BUFFER
$TPS: 177564 ;:TTY PRINTER STATUS REG. ADDRESS
$TP: 177566 ::TTY PRINTER BUFFER REG. ADDRESS
$NULL: .BYTE O ;; CONTAINS NULL CHARACTER FOR FILLS
$FILLS: .BYTE 2 :;CONTAINS # OF FILLER CHARACTERS REQUIRED
$FILLC: .BYTE 12 ::INSERT FILL CHARS. AFTER A 'LINE FEED'’
$TPFLG: .BYTE O ;' 'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
$REGAD: WORD O :;CONTAINS THE ADDRESS FROM

;:UHICH (SREGO) WAS OBTAINED

$REGO: .WORD O :CONTAINS ((SREGAD)+0)
SREG1: .WORD O ..CONTAINS ((SREGAD) +2)
$TIMES: O JMAX., NUMBER OF ITERATIONS
$¢ SCAPE: 0 ;ESCAPE ON ERROR ADDRESS
$BELL: .ASCIZ <207><377><377> ;.CODE FOR BELL
$QUES: .ASCII /?/ JQUESTION MARK
$CRLF: .ASCII <15 :;CARRIAGE RE TURN
$LF: ASTIZ2 <12 sLINE FEED

. Ittﬁtt*t*tltﬁQﬁtl’tl’kﬁtlﬁt*t**ttﬁttﬁttttttﬁﬁttttttttﬁtititttltit

"SBTTL APT MA]LBOX-ETABLE

""ttttittttitttttt*tttttittit*itttit*,ittltttlttttttttttttttttiitt

.EVEN

MAIL: ;;APT MA]LBOX
$MSGTY: .WORD  AMSGTY ;:MESSAGE TYPE (CODE
$FATAL: .WORD  AFATAL ;;FATAL ERROR NUMBER
$TESTN: . WORD  ATESTN ;:TEST NUMBER

SEQ 0012
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2
(2)
(2)
(2)
(2)
(2)
(2>
(2)
(2)
(2)
(2)
(2)
(2)
(2)
2)
(2)
(2)
£2)
(L)
(2)
1)

(2

(2)
(2)
(2
(2)
2)
(2)
(2)
(2)
(2)
. (2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)

P11

001556

001230

00123
00123

NP

001234

001236
001237
001240
001242
001243
001244
001246
001247
001250
001252
001254
001256
001260
001262
001264
001266
001270

29-MAY-79 10:10

00dooo |

000000

000000 -

000000
000000

'000

006000
000000
* 500000

000!
‘000

000000

000
000
000000
000

000Q00

000

000
000000
100320
00QC00
172000

000000
000000

000G07

MACY1T 30G(1063)

N 1
17-SEP-79 08:43 PAGE 1-6

APT MA]LBOX-~ETABLE

$PASS :
$DEV(T:
$UNIT:
$MSGAD :
$MSGLG:

SETABLE:

$ENV:

SENVM:
$SWREG:
SUSWR -
$CPUOP:

- %
.

N v, 8, 8,
' » * ¥ »

SMAMS1:
SMTYP:

$MADR1 :
. %

MAMS? :
SMTYPZ:
$MADR? :
SMAMS 3 :
MTYP3:

MAMSS :
MTYPS4:
$MADRS :
$VECT1:
SVECTZ:
$BASE :
$DE VM:
“(DW1:
$CDWe:
$DDWO :
$ETEND:
MOXIT

-WORD
.WORD
. WORD
.WORD
.WORD

.BYTE
BYTE
. WORD
.WORD
.WORD

.BYTE
BYTE

.WORD

.BYTE
.BYTE
. WORD
.BYTE
.BYTE
$MADR3: .
BYTE
.BYTE
- WORD
. WORD
.WORD
.WORD
.WORD
. WORD
.WORD
.WORD

APASS
ADEVCT
AUNIT
AMSGAD
AMSGLG

AENV
AENVM
ASWREG
AUSWR
ACPUOP

AMAMS 1
AMTYP1

AMADR1

AMAMS 2
AMTYP?2
AMADR?2
AMAMS 3
AMTYP3Z
AMADR3
AMAMS 4
AMTYP4
AMADRY
AVECT1
AVECT?
ABASE
ADE VM
ACDW]
ACDW2
ADDWO

SEQ 0013

;s PASS COUNT

::DEVICE COUNT

::1/70 UNIT NUMBER

s sMESSAGE ADDRESS

;sMESSAGE LENGTH

:;APT ENVIRONMENT TABLE

: ;ENVIRONMENT BYTE

: ;ENVIRONMENT MODE BITS

:;APT SWITCH REGISTER

; ;USER SWITCHES

;2CPU TYPE,OPTIONS

BITS 15-11=CPU TYPE
11/04=01,11/05=02,11/20=03,11/40-04,11/45-05
11/70=06,PDQ=07,0=10

BIT 10=REAL TIME CLOCK

BIT 9=FLOATING POINT PROCESSOR

BIT 8=MEMORY MANAGEMENT

;;HIGH ADDRESS,M.S. BYTE

::MEM. TYPE .BLKA#1

MEM.TYPE BYTE == (HIGH BYTE)
900 NSEC CORE=00N
300 NSEC BIPOLAR=002
500 NSEC M0OS=003

:sHIGH ADDRESS .BLKA#1

MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF '‘TYPE'' ABOVE

;:HIGH ADDRESS.M.S. BYTE

::HEM.TYPE,BLK#2

:JMEM.LAST ADDRESS.,BLKA?

;:;HIGH ADDRESS.M.S.BYTE

::MEM.TYPE ,BLK#3

; :MEM.LAST ADDRESS.BLK#3

;;HIGH ADDRESS ., M.S.BYTE

: :MEM. TYPE .BLKA#

;;MEM.LAST ADDRESS.,BLK#4

:; INTERRUPT VECTORA1.,BUS PRIORTTYAI

;; INTERRUPT VECTOR#2BUS PRIORITYHN?

:;BASE ADDRESS OF EQUIPMENT UNDER TEST

;:DEVICE MAP

:;CONTROLLER DESCRIPTION WORDA~

:;CONTROLLER DESCRIPTION WORD#?

;;DEVICE DESCRIPTOR WORD#0




(ZVSA-B  VvS60 INSTRUCT]ION TEST PART 1
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001270

001270
001272
001274
001276

001330
001332
001334
001336
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027216
031014
021062
000000

027240
031014
031062
000000

027274
031014
031062
000000

027315
031014
031062
000000

027340
031014
031062
000000

B 2
MACY11 30G(1063) 17-5EP-79 08.43 PAGE 1-7
ERRCR POINTER TABLL

.SBTTL ERROR POINTER TABLE
;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

;«THE INFORMATION [S OBTAINED BY USING THE INDEX NUMBER FOUND N
;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM [N THE TABLE IS PERTINENT,

:*NOVET: IF SITEMB S O THE ONLY PERTINENT DATA IS (SERRP().
:«NOTE?: EACH JTEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
o EM ;.POINTS TO THE ERROR MESSAGE
o DH ;;POINTS TO THE DATA HEADER
. DT ::POINTS TO THE DATA
M DFf ::POINTS TO THE DATA FORMAT
$ERRTR:
;ITEM ]
EMm1 :MAINT. SWITCH REGISTER
DH1 JERRPC TSTNUM BUSADR EXPCT RCVD
871 J$ERRPC TSTNUM  $BDADR $GDDAT $BDDAT
JITEM 2
EM? JLOADING D.P.C. REGISTER <STATI(>
DH1 JERRPC TSTNUM BUSADR EXP(CT RCVD
8T1 ;$ERRPC TSTNUM  $BDADR SGDDAT $BDDAT
;ITEM 3
EM3 ;LOADING MODE REGISTER
DH1 JERRPC TSTNUM BUSADR EXPC(T RCVD
871 J$ERRPC TSTNUM SBDADR $GDDAT S$BDDAT
JITEM [A
EM4 s SEQUENCING DPC REGISTER
DH1 JERRPC  TSTNUM  BUSADR EXPCT RCvD
8T1 JSERRPC TSTNUM $BDADR SGDDAT S$BDDAT
JITEM 5
EMS ;LOADING LINE TYPE REGISTER
DH1 JERRPC  TSTNUM BUSADR EXPCT RCVD
DT1 :$ERRPC TSTNUM S$BDADR S$SGDDAT S$BDDA”™

SEQ 0014
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71 001340 027366
72 001342 031014
73 001344 031062
76 001346 000000

78 001350 027422
79 001352 031014
80 00135 031062
81 001356 000000

85 001360 027454
8 001362 031014
87 001364 031062
88 001366 000000

92 001370 027510
93 001372 031014
9% 001374 031062
95 001376 000000

99 001400 027544
100 001402 031014
101 001404 031062
102 0C1406 000000

106 001410 027577
107 001412 031014
108 001414 031062
001416 000000

3

001420 027632
001422 031074
001424 031062
001426 000000

D h ik e emd b —d
[ G U S
OOV WO

1

MACY11 30G(1063)

c 2
17-SEP=79 (8:

ERROR POINTER TABLE

;ITEM

JITEM

JITEM

JITEM

JITEM

JITEM

C1TEM

6

EM6
DH1
DT
0

7

EM/
DH1
DT1
0

10

EM10
DH1
DT1
0

1M

EM11
DH1
DT
0

12

EM12
DH1
o1
0

13

EM13
DH1
DT1
0

14

EM14
DH1
DT
0

43 PAGE 2

SLOADING INTENSITY LEVEL REGISTER
JERRPC  TSTNUM  BUSADR EXPCT  R(CVD
JSERRPC TSTNUM  $BDADR $GDDAT  $BDDAT

;LOADING GRAPHPLOT [NCREMENT REGISTER
JERRPC  TSTNUM BUSADR EXP(T  RCVD
J$ERRPC TSTNUM SBDADR $GDDAT  $BDDAT

;DISPLAY JUMP ABSOLUTE TO AN ADDRESS
;ERRPC  TSTNUM BUSADR EXPCT  RCVD
;$ERRPC TSTNUM $BDADR S$GDDAT $BDDAT

:DISPLAY JUMP RELATIVE TO AN ADDRESS
JERRPC TSTNUM BUSADR EXPCT  RCVD
J$ERRPC TSTNUM  $BDADR SGDDAT  $BDDAT

;DISPLAY JSR ABSOLUTE TO AN ADDRESS
;ERRPC TSTNUM BUSADR EXPCT  RCVD
;$ERRPC TSTNUM  $BDADR SGDDAT $BDDAT

;DISPLAY JSR RELATIVE TO AN ADDRESS
;ERRPC TSTNUM BUSADR EXPCT  RCVD
;$ERRPC TSTNUM $BDADR S$GDDAT $BDDAT

;LOADING X POSITION REGISTER
;ERRPC  TSTNUM BUSADR EXPCT  RCVD
;SERRPC TSTNUM  $BDADR $GDDAT  $BDDAT

SEQ 0015
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CZYSA~B VSO0 INSTRUCTION TEST PART 1 MACY11 30G(1063) 17-SEP-79 (08:43 PAGE 3

CZVSAB.P11 29-MAY~-79 10:10 ERROR POINTER TABLE SEQ 0016
11118 JITEM 1S
120 001430 027654 EM1S :LOADING Y POSITION REGISTER
121 001432 031014 DH1 JERRP(C TSTNUM BUSADR EXP(CT RCVD
122 0014346 031062 DT? :SERRPC TSTNUM ?3DADR $GDDAT S$SBDDAT
;52 001436 000000 0
152 JITEM 16
127 001440 027676 EM16 :BUS ERROR TIME OuT
128 001442 031014 DH? ;ERRPC TSTNUM BUSADR EXPC(CT RCVD
129 0071444 031062 DT1 ;SERRP( TSTNUM S$BDADR SGDDAT S$BDDAT
;%? 001446 000000 0
}%% JITEM 17
134 001450 027716 EM17 ;CHARA(CTER TERMINATOR ERROR
135 001452 031014 DH1 JERRPC TSTNUM BUSADR EXPCT RCVD
136 001454 031062 DT J$ERRPC TSTNUM S$BDADR S$GDDAT $BCDAT
;%g 001456 000000 0
}28 ITEM 20
141 001460 027740 EM20 ;Y DFFSET REGISTER ERROR
142 001462 031014 DH1 JERRPC  TSTNUM  BUSADR EXPCT RCVD
143 001464 031062 DT ;SERRPL TSTNUM SBDADR S$SGDDAT $BDDAT
ng 001466 000000 0
}29 JITEM 21
148 001470 027764 EM21 ;X OFFSET REGISTER ERRCR °
149 001472 031014 DH1 JERRPC TSTNUM BUSADR EXPCT RCVD
150 001474 031062 DT ;SERRP( TSTNUM - SBDADR $GDDAT $8DDAT
151 001476 000000 0 T,
152 .
153 JITEM 22 .
154 ity
155 001500 030010 EM2/? ;RELOCATE REGISTER ERROR « .
156 001502 031014 DH1 ;ERRPC  TSTNUM B8BUSADR EXPCT RCVD
157 001504 031062 pT1 :$ERRPC TSTNUM $BDADR S$SGDDAT SBDDAT
;gg 001506 000000 0
}g? JITEM 23
162 001510 030030 EM23 :D.P.U. NAME REGISTER ERROR
163 001512 031014 DH1 ;ERRPC TSTNUM BUSADR EXPCT RCVD
164 001514 031062 DT ;% RRPC TSTNUM SBDADR $GDDAT S$BDDAT
165 001516 000000 0
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168

P11

001520
001522
001524
001526

001530
001532
001534
001536

001540
001542
001544
001546

001550
001552
001554
001556

29-MAY-79 10:10

030053
031014
031062
000000

030115
031014
03106:

000000

030135
031014
031062
000000

03015%
031014
031062
000000

030172
031014
031062
000000

030212
031074
031062
000009

030230
031014
031062
000000

MACY11 30G(1063)

E 2
17-SEF-79 08:

ERROR POINTER TABLE

:1TEM

JITEM

JITEM

JITEM

;ITEM

;ITEM

CITEM

24

EM24
DH1
DT1
0

25

EMZ5
DH1
DT
0

26

EM26
DH1
CT1
0

27
EM27
DH1
DT1
30
EM30

DH1
DT

31
EM31
DH1
DT
32
EM32

DH1
DT1

43 PAGE &

;SEARCH OR ASSOCITIVE NAME MAT(CH ERROR

sERRPC  TSTNUM BUSADR EXP(T
;$ERRPC TSTNUM $BDADR $GDDAT

;VELTOR SCAL ERROR
JERRPC  TSTNUM BUSADR EXP(T
JSERRPC TSTNUM  SBDADR S$GDDAT

;CHARACTER SCALE ROTATE ERROR
;ERRPC TSTNUM BUSADR EXP(T
;SERRPC TSTNUM $BDADR $GDDAT

;BLINK LOGIC ERROR
JERRPC  TSTNUM  BUSADR EXP(CT
;$ERRPC TSTNUM $BDADR $GDDAT

LITALIC LOGIC ERROR
;ERRPC TSTNUM BUSADR tXPCT
;SERRPC TSTNUM $BDACR® $GDDAT

JMENU LOGIC ERROR
JERRPC  TSTNUM  BUSADR EXPCT
;$ERRPC TSTNUM $BDADR S$GDDAT

RCVD
$BDPDAT

RCVD
$BDDAT

RCVD
$8DDAT

RCVD
$BDDAT

RCVD
$BODAT

RCVD
$8DDAT

RESET FAILED TO CLEAR A REGISTER

JFRRPC  TSTNUM BUSADR EXP(T
JSERRPC TSTNUM $BDADR S$GDDAT

RCVD
$8DDAT

SEQ 0017
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218
219

001650
001652
001654
001656

001660
001662
001664
001666

001670
001672
001674
001676

29-MAY-79 10:10

030264
931014
031062
000000

030301
0371014
031062
000000

030316
031014
031062
000000

030335
031014
031062
000000

030375
031014
031062
0000G0

030436
031014
031062
(00000

030501
031014
031062
000000

F 2
MACY?1 30G(1063) 17-SEP-79 (8:
ERROR POINTER TARLE

:ITEM

;I1TcM

JITEM

JITEM

JITEM

33

EM33
DH1
DT1
0

34

EM34
DH1
DT1
¢

35

EM3S
DH1
DT1
0

36

EM36
DH1
pT?
0

37
EM27
DH1
pT1
0

40
EMLO

DH1
DT

41

kM

“OMi
DT

43 PASE S

;STOP INTERRUPT ERROR
JERRPC TSTNUM BUSADR EXPCT  RCVD
;SERRPC TSTNUM $BDADR $GDDAT $8DDAT

:L.P. FLAG ERROR
JERRPC  TSTNUM  BUSADR EXPCT  RCVD
;SERRPC TSTNUM SBDADR SGDDAT S$SBDDAT

;COLOR LEVEL ERROR
JERRPC  TSTNUM  BUSADR EXPCT  RCVD
JSERRPC TSTNUM $BDADR S$GDDAT $BDDAT

JINTENSITY ENABLE - CONSOLE 0/1 ERROR
JERRPC  TSTNUM  BUSADR EXPCT  RCVD
JSERRPC TSTNUM $BDADR S$GDDAT  $BDDAT

;INTERNA!. STOP FLAG FAJLED TO SET
JERRPC  TSTNM  BUSADR EXP(T  RCVD
;SERRPC TSTNUM S$BDADR S$GDDAT $BDDA”

;INTERNAL STOP FLAG FAILED TQ CLEAR ™
;ERRPC TSTNUM BUSADR EXPCT  RévD ™
;SERRPC TSTNUM $BDADR SGDDAT  $8DDAT

-
.

:WORD 0-1-2 INDICATOR ER !
"ERRPC  TSTNUM BUSADR EXPCT séﬁ’g‘“'
"$ERRPC TSTNUM $BDADR $GDDA" AT™

’

SEQ 0018
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.P11

001700
001702
001704
001706

001746

001750
001752
001754
001756

001760
001762
001764
001766

001770
001772
001774
001776

INSTRUCT
29 MAY-7

I
9

TE
2

0
;ITEM

[ XY :5,191'1

030531 -

031014
03062
000000

030572
031014
031062
000000

030642
031014
031062
000000

030662
031014
031062
000000

030711
031014
031062

000000

030732
031014
031062
000000

030755
031014
031062
000000

Q30777
031014
031062
000000

J1TeM

JITEM

J1TEM

DITEM

:1TEM

JITEM

JITEM

ST PART 1 MACY11 30G(1063)
0 ERROR POINTER TABLE

&2

EM42
DH1
DT1
0

43

EM43
DH1
DT1
0

44

EM44
DH1
DT1
0

45
EM4S
DH1
DT1
0

46

EM46
DH1
DT1
0

47

EM4L7
DH1
DT1
0

50

EMS0
DH1
DT
0

51

EMS1
DH1
DT
0

G
17=SEP=79

2
08:43 PAGE 6

;L.F. INTR ENABLE - CONSOLE 0/1 ERROR

;ERRPC TSTNUM BUSADR EXP(T
;$ERRPC TSTNUM S$BDADR $GDDAT

RCVD
$8DDAT

;L.P. SWITCH INTR ENASLE - (ONSOLE 0/1

JERRPC  TSTNUM  BUSADR  EXPCT
;$ERRP(C TSTNUM $BDADR S$GDDAT

;DISPLAY BUSY ERROR
;ERRPC  TSTNUM  BUSADR EXP(T
JSERRPC TSTNUM S$BDADR S$GDDAT

JEXTERNAL STOP LOGI( ERROR
JERRPC  TSTNUM  BUSADR EXP(T
JSERRPC TSTNUM  $BDADR  $GDDAT

;TIME=-0OUT INTERRUPT ERROR
JERRPC  TSTNUM  BUSADR EXP(T
J$ERRPC TSTNUM S$BDADR $GDDAT

SNAME MAT(CH INTERRUPT ERROR
JERRPC  TSTNUM BUSADR EXPCT
;$ERRP(C TSTNUM $BDADR $GDDAT

:L.P. FLAG INTERRUPT ERROR
JERRPC  TSTNUM BUSADR EXPCT
;SERRPC TSTNUM  SBDADR $GDDAT

:STACK PTR ER
;ERRPFC  TSTNUM BUSADR EXP(CT
;SERRP( TSTNUM $BDADR $GDDAT

RCVD
$8DDAT

RCVD
$8DODAT

RCVD
$8DDAT

RCVD
$BDDAT

RCVD
$BDDAT

vD
$BDDAT

RCVD
$EDDAY

ERROR

SE@ 0019
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323
324
325
326
327
328
329
330
33
332
333
3%
335
336
337
250
354
355
356
357
358
359

002000
002002
002004
002006
002010
002012
002014
002016
002020
002022
002024
002026

002C30
002032
002034
002036
002040
002042
002044
002046
002050
002052
002054
002056
002060
002062
002064
002066

002070
002072

002074
002076

002100
002102

002104
002106

29-MAY-79 10:

031076
031100
031102
031104
031106
031110
000000
000000
000000
000000
000000
000020

172000
172002
172004
172006
172010
172012
172014
172016
172020
172022
172024
172026
172030
172032
172034
172036

000320
000322

00032¢
000326

000330
000332

000334
000336

E
:

S
0

T PART 1

H o
MACY1T 30G(1063) 17-SEP=79 (8:4% PAGE 7
ERROR POINTER TABLE

:COMMON PROGRAM TAGS AND STORAGE LOCATIONS

DBUF : BUFFER ;FIRST WORD IN THE DISPLAY BUFFER
DBUF1: BUFFER+? ;SECOND WORD

DBUF2: BUFFER+4 ;THIRD WORD

DBUF3: BUFFER+6 ;FOURTH WORD

DBUF4: BUFFER+10 JFIFTH WORD

DBUFS: BUFFER+1? :SIXTH WORD

DSAVE: 0 ;TEMP REG.

DSAVE1: 0

SIZE: 0 ;BUFFER SIZE

CNTR: 0

TSTNUM: O JCONTAINS TEST NO. ON ER

DELAY: 20 ;COUNT USED FOR GENERAL PURPOSE DELAYS
:VS60 ADDRESSES AND VECTORS POINTERS

DPC: 172000 ;DISPLAY PC REGISTER

SREGO: 172002 :DISPLAY STATUS REGISTER

XPOS : 172004 ;X AXIS REGISTER AND GRAPHPLOT REG <READ ONLY>
YPCS: 172006 ;Y AX]S REGISTER AND (HARACTER REG <READ ONLY>
RLO: 172010 ;RELOCATION REGISTER

SREG1: 17201 ;MISC STATUS REGISTER M1

XDOFF: 172014 :X DYNAMIC OFFSET REGISTER

YDOFF: 172016 ;Y DYNAMIC OFFSET REGISTER

ANAME : 172020 ;ASSOCIATIVE NAME REGISTER

CONS: 172022 ;CONSOLE STATUS REGISTER

DNAME : 172024 :DISPLAY NAME REGISTER

STKVAL: 172026 ;VALUE OF CURRENT STACK WORD

TERMCH: 172030 ; TERMINATE CHARACTER REGISTER

STKPT: 172032 ;STACK POINTER REGISTER

ZPOS: 172034 ;2 POSITION REGISTER <READ ONLY>
IDOFF: 1720%6 :l DYNAMIC OFFSET REGISTER

DDONE: 320 :DISPLAY STOP <DONE> VECTOR

DDONE1: 322 :

LPVCT: 324 :DISPLAY LIGHT PEN VECTOR

LPVCT1: 326 ;

TIMEVT: 330 :DISPLAY TIME-OUT <NXM.> ERROUR VECTOR
TMEVT1: 332 ; OR ''SHIFT-QUT'" VECTOR

NAMEV™: 334 JNAME MAT(H VECTOR
NAMEVT: 33§

SEQ 0020
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012706
005026
022706
001374
012706

012737
012737
012737
012737
012737
012737
012737
012737
013737
005037
005037
112737
012737
012737

013746
012737
012737
012737
022777
001012

000403
012716
000002
012737
012737
012637

005037
132737
001403
012737

012700
013701
010120
062701
022700
001372
012700
013701
042701
010120

ON TE
10:1

e

S
0:10

001100
001140
001100

024526
000340
025252
600340
027062
000340
026262
000340
024366
001166
001170
000001
002234
002242

000004
02310
177570
177570
177777

002216

000176
000174
000004

001210
000200

001224

002030
001256

000002
00207C

002070
001252
160000

PART 1

000020
000022
000030
000032
000034
000036
000024
000026
024360

000004
001140
001142
176634

ol
O
—
— w—
S
nNO

001223
001140

I 2
MACY1T1 30G(1063) 17-SEP~79 08:43 PAGE 8
ERROR POINTER TABLE SEQ 0021

;SOF TWARE INITALIZATION ROUTINE
BEGIN:

LSBTTL INITIALIZE THE COMMON TAGS
;:CLEAR THE COMMON TAGS ($CMTAG) AREA

MOV #S$CMTAG,R6 ;+FIRST LOCATION TO BE CLEARED
CLR (R6) + ;s CLEAR MEMORY LOCATION

(MP #SWR,R6 ;;DONE?

BN. -6 ;.LO0P BACK [F NO

MOV #STACK,SP JSETUP THE STACK POINTER
;oINITIALIZE A FEW VECTORS

MOV #$SCOPE ,a#I0OTVEC ;;IOT VECTOR FOR SCOPE ROUTINE

MOV #340,a¥I0TVEC+2 ;;LEVEL 7

MOV NSERROR ,aNSMTVEC ;.EMT VECTOR FOR ERROR ROUTINE

MOV #340,FEMTVEC+2 ;;LEVEL 7

MOV HSTRAP ,a#TRAPVEC ;:;TRAP VECTOR FOR TRAP CALLS

MOV #3640, a#TRAPVEC+2:LEVEL 7

MOV A#SPWRDN ,a#PWRVEC ;;POWER FAILURF VECTOR

MOV #3460, a#PWRVEC+?2 ;:LEVEL 7

MOV $SENDCT ,$EOPCT ;:SETUP END=-OF~-PROGRAM COUNTER

CLR $TIMES ;o INITIALIZE NUMBER OF ITERATIONS

CLR $ESCAPE .:CLEAR THE ESCAPE ON ERROR ADDRESS
MOVB #1,SERMAX ; ALLOW ONE ERROR PER TEST

MOV #..SLPADR ;o INITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV #.,SLPERR 2;SETUP THE ERROR LOOP ADDRESS

;;SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
;.EQUAL TO A '-1'', SETUP FOR A SOF TWARE SWITCH REGISTER.

MOV Q¥ERRVEC,-(SP) ;;SAVE ERROR VECTOR

MOV #6648  WERRVEC  ;;SET UP ERROR VECTOR

MOV #DSWR, SWR ;:SETUP FOR A HARDWARE SWICH REGISTER
MOV #DDiSP,DISPLAY ;;AND A HARDWARE DISPLAY REGISTER
CMP #-1,aS#R ;. TRY TO REFERENCE HARDWARE SWR
BNE €68 ;sBRANCH IF NO TIMEOUT TRAP OCCURRED
;;AND THE HARDWARE SWR [S NOT - -1
BR 65% s JBRANCH IF NO TIMEOUT
64%: M?Y #65%, (SP) ;:SET UP FOR TRAP RETURN
R
65%: MCv #SWREG, SWR ;sPOINT TO SOF TWARE SWR
MOV #D1SPREG,DISPLAY
66%: MOV (SP)+ ,a#ERRVEC ,;.RESTORE ERROR VECTOR
CLR $PASS ;:CLEAR PASS COUNT
BI1T8 WNAPTSIZE ,$ENVM ;TEST USER SIZE UNDER APT
BEQ 67% ;o YES,USE NON-APT SWIT(CH
675 MOV #SSWREG, SWR ;+NO,USE APT SWITCH REGISTER
SETUPT: MOV #DPC RO ;SET UP vS60 REG ADRS POINTERS
MOV $8ASE ,R1 ;GET VvS60 BASE ADRS FROM APT MAILBOX-ETABLE
SETUPZ: MOV R1.(0)+
ADD #2 ,R1
rmMp #DDONE ,RO :TEST FOR LAST ADDRESS
BNE SETUPZ2
MOV #DDONE RO ;SET UP VS60 VECTOR ADRS POINTERS
MOV SVECTT R1 ;GET VS60 BASE VECTOR ADRS FROM APT MA]LBOX-ETABLE
BI( #160000,R1 ; CLEAR PSW BITS *r B e

SETUP3: MOV R1,(0)+
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399 002622 062701 000002

400 002426 022700 002110

401 0026432 001372

402 0026434 004737 024454

403 002440 004737 026502

404 002444 013737 026576 002020
405 0026452 162737 006000 002020
406 002460 005737 000042

407 002464 001002

408 002466 104401

409 002470 027132

410 002472 012737 000340 177776 RESTRT:
411 002500 012706 001100

412 002504 000005

413 002506 105037 001102

ADD
(MP
BNE
JSR
JSR
MOV
SuB
TST
BNE
TYPE
HEADER
MOV
MOV
RESET
CLRB

J ¢
MACY11 30G(1063) 17-SEP-79 08:
INITIALIZE THE COMMON TAGS

#2 ,R1
#BEGIN,RO
SETUP3
PC,RSTVEC
PC,$S]ZE

SLSTAD,SIZE
#6000,S12E

42
RESTRT

#340,PSW
#STACK,SP

$TSTANM

43 PAGE B8-1

;TEST FOR LAST VECIOR

;GO SET UP VS60 VECTOR ADR'S WITH HLTS
;DETERMINE _AST MEM LOCATION

;LOAD LAST MEM ADDRESS

:SAVE LOADERS AND XXDP

:TEST IF RUNNING CHAIN MODE UNDER XXDP
;BR IF SO

;SET PRIORTY TO HIGHEST LEVEL
JALWAYS SET UP STACK POINTER
;START TESTS WITH vS60 INITIALIZED
JRESET TEST NUMBER

SEQ 0022
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415
(3)
(3)
(2)
(2)

616
L17
418
419
420
421

422
423
L24
425
426
&27
428
429
430
431

(3)
(3)
(2)
(2)

432
433
434
435
436
(37
438
439
440
441

442
443
444
445
(3)
(%)
(2)
(2)
446
447
448
449
450
451
452
453
454
455
456
457
458

002512

002544
002552

002574
002576
002600
002602
002610

002614
002616
002624
002632
002640
002646
002652
002656
002662
002670
002676
002700
002702
002706

002710
002712
002720
002726
002734
002742
002746
002752
002760
002766
002770
002772
002774

003006

29-MAY-79 10:

000004
012737
012737
012737
012737
013737
012700
005777
062737
005300
001371
000402
022626
104016
012737
005037

0000u4
017737
012737
013737
012737
013700
052700
010077
017737
023737
001401
106017
006237

001357

000004
012737
012737
013737
012737
012700
010077
017737
023737
001401
104017
006200
006237
052737
103757

ST
0

000001
002556
002576
000340
001256
000020
176340
000002

000006
000006

000602
002646
002060
000100
001124
000200
177176
177172
001124

001124

000003
002746
002060
000077
177677
177106
177102
001124

001124
000100

PART 1

001206
001110
000004
000006
001122

001122

000004

001206
001110
00122
001124

001126
001126

001206
001110
001122
001124

001124
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T SEE IF ALL VS60 REGS ARE THERE
T L I T T T T T T T e
;*TEST 1 SEE IF ALL VvS60 REGS ARE THERE
RN RN AR R AR RN RAN N R RN RN RN RN RN RN RANRR R R R AN R R AR N RS
TST1:  SCOPE
MOV #1,STESTN ;;SET TEST NUMBER IN APT MAIL BOX
MOV #1% ,SLPERR ;JSET UP SCOPE LOOP ADRS

MOV #2$ RFERRVEC  :SET UP TIME OUT TRAP
MOV #3400, S¥ERRVEC+2 >SET UP TIME OUT PRIORITY
MOV $BASE ,$8DADR  :PUT 1ST VS60 BUS ADRS IN LOC $BDADR

MOV #20,R0 JSET UF REG COUNT
1%: TST a$8DADR ;LOOK FOR VS60 REG
ADD #2 ,$8DADR ;OK~-ADVANCE TO NEXT
DEC RO ;HAVE WE TRIED ALL REGS?
BNE 1% ;BR IF NOT
BR 3$ 26O RESTORE LOCS 4 & 6
2%: (MP (R6)+,(R6) + ;FIX STK SINCE NO RT]
ERROR 16 :REG ADRS TIME QUT ER
3%: MOV H#ERRVEC+2 ,a#ERRVEC sPOINT TO HALT IN ADRS 6
CLR S#ERRVE( +2 ;SET UP HALTY
R L R T T T I a Y
;*TEST 2 FLOAT A ONE THRU TERMINATE (HARACTER REG
IR EARANR KRN N AREAAANN AR A AR AR ANANNRRORTS VRRANANRRRANANRAA RN RA R AN
TSTZ: SCOPE
MOV #2,S$TESTN ;2SET TEST NUMBER IN APT MAIL BOX
MOV #1%8 ,SLPERR SET UP SCOPE LCOP ADRS
MOV TERMCH,$8DADR  ;SET UP TERM(CH ADRS
MOV #100,8GDDAT ;EXPECT 100 INITIALLY
1%: MOV $GDDAT RO ;PUT PATTERN IN RO
BIS #200,R0O ;SET THE ENABLE BIT
MOV RO,aTERMCH :LOAD UP TERM(H REG

MOV aTERMCH,$8BDDAT ;READ [T BA(K
CMP $GDDAT ,$8DDAT IS IT CORRECT?

BEQ 2 ‘BR IF OK

ERROR 17 "TERMINATE CHARACTER READ/WRITE EP
2% : ASR $GDDAT *SHIFT ONE BIT RIGHT

BNE 18 :BR IF NOT DONE
".'**ttﬁiﬁtttt**tttl’ttt*ﬁt*ttttﬁtiﬁitttttﬁﬁtﬁtttttt‘tttﬁi*tt'ﬁtttt
S«TEST 3 FLOAT A ZERO THRU TERMINATE CHARACTER REG
":ttt**ttttttttttttttﬁttttttltttttﬁﬁt*ltt!ttttﬁtttttttttttttttitt
TST3:  SCOPE

MOV #3.$TESTN ::SET TEST NUMBER IN APT MAIL BOX

MOV #1%, $LPERR :SET UP SCOPE LOOP ADRS

MOV TERMCH,$8DADR  -SET UP TERMCH ADRS

MOV #77 . $GDDAT CEXPECT 77 INITIALLY

MOV #177677.R0 *PUT PATTERN IN RO
1$: MOV RO, 3TERMCH “LOAD UP TERMCH REG - SEND HIGH BITS FOR NOISE

MOV JTERMCH,$BDDAT  ;READ IT BACK
cMP $GDDAT ,$BDDAT ;IS IT CORRECT?

BEQ 2% ;BR IF OK

ERROR 17 sTERMINATE CHARACTER READ/WRITE ER
2%: ASR RO ;SHIFT ZERO BIT RIGHT

ASR $GDDAT ;SHIFT PATTERN IN COMPARE LOC

BIS #100,$GDDAT ;SET MSB

8(S 1% ;BR [F NOT DONE

SEQ 0023
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459
460
(3)
(3)
(2)
(2)
461
462
463
464
465
466
467
468
469
470
(3)
(3)
(2
(2)
47
472
473
474
475
476
477
478
479
480
481
482
483
(3)
(3)
(2}
(2)
484
485
486
487

(2)

003010
003012
003020
003026
003034
003042
003046
003054

003064

03266

000004
012737
013737
012737
012777
005077
017737
023737
001401
104017

000004
012737
012737
013737
012737
013777
017737
042737
023737
001401
104020
006237
001357

000004
012737
012737
013737
012700
010037
042737
010077
017737
042737
023737
001401

005077

000004

ST
0

000004
002060
000177
177777
177012
177006
001124

000005
003120
002046
004000
001124
176714
170000
001124

001124

000006
003212
002046
173777
001124
170000
176616
176612
170000
001124

176560

PART 1

001206
001122
001124
177016

001126
001126

001206
001110
001122
001124
176720
001126
001126
001126

001206
001110
001122

001124
001126

001126
001126

L 2
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13 FLOAT A ZERD THRU TERMINATE CHARALTER REG

';itﬁttttti"tt‘!Qt.‘l.ltt't"..ttit‘..!!t*tt"tﬁttttittt.ittt*t‘

;*TEST 4 TEST TERMINATE CHARACTER REG IS NOT WRITEABLE WHEN CHANGE ENA=0

':t!itt**lttttt't**t'tt.tit!t*..'t.tﬂ.'tttt'ittttﬁt*t'ﬁt!ttt*tttt

TST4:  SCOPE

MOV #4, STESTN ;:SET TEST NUMBER IN APT MAIL BOX

MOV TERMCH,$BDADR  -SET UP TERMCH ADRS

MOV #177,$GDDAT “SET UP DATA PATTERN

MOV #177777 .QTERMCH :LOAD UP ALL WRITEABLE BITS

CLR ATERMCH “TRY TO CLEAR ALL BITS

MOV aTERMCH,SBDDAT -READ IT BACK

CMP $SGDDAT,$8DDAT  :SFE IF ANY BITS WERE CLEARED

BEQ TSTS *;ADVANCE TO NEXT TEST IF OK

ERROR 17 *TERMINATE CHARACTER ENABLE CHANGE ER
;;tt*tittt*ttttttﬁttttﬁttﬁtttttttttttttttﬁtttﬁttttttttttttttttttt
SxTEST S FLOAT A ONE THRU Y DYNAMIC OFFSET REG
;:ttt*t*****ttttt**ttl*iltttttttttttttttttttltttttt\ttttitt!ttttt
T§TS:  SCOPE

MOV #5,$TESTN ::SET TEST NUMBER IN APT MAIL BOX

MOV #1%,SLPERR *SET UP SCOPE LOOP ADRS

MOV YDOFF,$8DADR  :SET UP YDOFF ADRS

MOV #4000,$GDDAT  -SET UP MSB TO A ONE
Is: MOV $GDDAT,aYDOFF  :LOAD UP YDOFF REG

MOV aYDOFF .$8DDAT  -READ IT BACK

BIC #170000, SBDDAT  -SAVE ONLY OFFSET VALUE

CMP $GDDAT.$BDDAT  :IS IT CORRECT?

BEQ 2s :BR IF OK

ERROR 20 LY OFFSET READ/WRITE ER
2% : ASR $GDDAT “SHIFT ONE BIT RIGHT

BNE 1% *BR IF NOT DONE
;;ttttt*ttttttttttttttttttttt*tttttttttttttttttititttttttIttttttt
SxTEST 6 FLOAT A ZERC THRU Y DYNAMIC OFFSET REG

;;tttttttt*tttttttt*ttt*tittittttttitttiiittttitttttttttitttttt*t

TST6:  SCOPE

MOV #4 STESTN :;SET TEST NUMBER IN APT MAIL BOX
MOV %1%, $LPERR *SET UP SCOPE LOOP ADRS
MOV YDOFF ,$8DADR  :SET UP YDOFF ADRS
MOV #173777.RO SSET UP MSB TO A ZERO
1$: MOV RO, $GDDAT *SAVE PATTERN FOR COMPARE
BIC #170000,8GDDAT :GET RID OF HIGH BITS THAT ARE NOT WRITEABLE
MOV RO, aYDOFF *LOAD UP YDOFF REG - SEND HIGH BITS FOR NOISE
MOV aYDOFF ,$BDDAT  :READ IT BACK
BIC #170000,$8DDAT >SAVE ONLY OFFSET VALUE
CMP $GDDAT,$BDDAT  -IS IT CORRECT?
BEQ 2$ :BR IF OK
ERROR 20 *Y OFFSET READ/WRITE ER
28 : ASR RO “SHIFT ZERO BIT RIGHT
BCS 13 “BR IF NOT DONE
CLR aYDOFF “INSURE O Y OFFSET BEFORE ADVANCING
;;ttltttttttttt!tttttttttttﬁﬁti*ttﬁttitttttttttﬁt&ttttttlttﬁttttt
SeTEST 7 FLOAT A ONE THRU X DYNAMIC OFFSET REG

';tttttttttttttttﬁltttlitttﬁktttttiltttﬁtt*tttlttttttt‘tttﬁtttttt

7ST7:  SCOPE

SEQ 0024
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(2)
500
501
502
503
504
505
506
507
508
509
510
S11
512
(3)
(3
(2)
(2)
513
514
515
516
517
518
519
520
521
522
523
524
525
326
527
528
(3)
(3)
(2)
(2)
529
530
531
532
533
534
535
536
537
538
539
540
541
542
543
(3)
(3)
(2)

003270 012737 000007
003276 012737 003320
003304 013737 002044
003312 012737 004000
003320 013777 001124
003326 017737 174512
003334 042737 170000
003342 023737 001124
003350 001401

003352 104021

003354 006237 001124
003360 001357

003362 000004
003364 012737 000010
003372 012737 003412
003400 013737 002044
003406 012700 173777
003412 010037 001124
003416 042737 170000
003424 010077 176414
003430 017737 176410
003436 042737 170000
003444 023737 001124
003452 001401
003454 104021
003456 006200
003460 103754
003462 005077 176356

003466 000004

003470 012737 000011
003476 012737 003524
003504 013737 002066
003512 012700 020000
003516 012737 040000
003524 010077 176316
003530 017737 176332
003536 042737 037777
003544 023737 001124
003552 001401

003554 104020

003556 005037 001124
003562 162700 020000
003566 100356

003570 000004

PART 1

001206
001110
001122
001124
176516
001126
001126
001126

001206
001110
001122

001124

001126
001126
001126

001206
001110
001122

001124
001126

001126
001126
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17 F.OAT A ONE THRU X DYNAMIC OFFSET REG

MOV #7 STESTN ;.SET TEST NUMBER [N APT MAIL BOX
MOV #1$,SLPERR ;SET UP SCOPE LOOP ADRS
MOV XDOF F , $8DADR sSET UP XDOFF ADRS
MOV #4000, $GDDAT ;SET UP MSB TO A ONE
1%: MoV $GDDAT,@XDOFF  ;LOAD UP XDOFF REG
MOV aXDOFF ,$80DAT  ;READ [T BA(CK
BIC #170000,$8BDDAT ;SAVE ONLY OFFSET VALUE
CMP $GDDAT ,$8DDAT ;IS IT CORRECT?

BCQ 2$ ‘BR IF 0K
ERROR 21 “X OFFSET READ/WRITE ER
28: ASR $GDDAT SSHIFT ONE BIT RIGHT
BNE 1% :BR IF NOT DONE
::ltttt*tttttttttﬁ*ttttttttttt!tt*tttttﬁtitttttttttttt*tttﬁttttti
SATEST 10 FLOAT A ZERO THRU X DYNAMIC OFFSET REG
;;ttttttittt*tttttt**tttttttttttttt*tittiitt*itttﬁttt***ttttttttt
1ST10: SCOPE
MOY #10,$TESTN ;:SET TEST NUMBER [N APT MAIL BOX
MOV #1$.SLPERR *SET UP SCOPE LOOP ADRS
MOV XDOFF ,$8DADR  -SET UP XDOFF ADRS
MOV #173777.R0 *SET MBB T0 A ZERO
1$: MOV RO, $GDDAT “SAVE PATTERN FOR COMPARE
BIC #170000,$GDDAT :GET RID IF HIGH BITS THAT ARE NOT WRITEABLE
MOV RO, aXDOFF SLOAD UP XDOFF REG - SEND HIGH BITS FOR NOISE

MOV axDOFF ,$8DDAT  :READ IT BACK
BIC #170000,$8BDDAT ;SAVE ONLY OFFSET VALUE
CMP $GDDAT,$8DDAT ;IS IT CORRE(CT?

BEQ 2% JBR IF OK
ERROR 21 ;X OFFSET READ/WRITE ER
2%: ASR RO SHIFT ZERO BIT RIGHT
BCS 1% BR IF NOT DONE
CLR aXDOFF INSURE 0O X OFFSET BEFORE ADVANCING
RN RAARR R AR R AR AR A AN R R AR RN AR RN AR AN AR AR RN AN R RN
*TEST 11 TEST THAT THE Y OFFSET POLARITY BIT CAN SET & RES.T

't*ittttiktttttt*tttittttltti*ﬁ*tittttﬁtit*ttttttttttlttttttﬁttt

TST11: SCOPE

MOV #11,STESTN ;.SET TEST NUMBER IN APT MAIL BOX
MOV #1$ SLPERR sSET UP SCOPE LOOP ADRS
MOV ZDOFF , $8DADR ;SET UP REG 36 ADRS
MOV #20000,R0 ;RO HAS BIT
MOV #40000,8GDDAT ;LD EXPCTED
18: MOV RO,aYDOFF ;SEND IT OUT

MOV oZDOFF ,$BDDAT  ;READ AT REG 36
BIC #37777 ,$8DDAT  ;SAVE X & Y POLARITY BITS
CMP $SGDDAT,$BDDAT  ;CORRECT?

BEQ 23 :BR IF SO
ERROR 20 :Y OFFSET POLARITY READ/WRITE ER
2%: CLR $GDDAT *EXPECT ZERO
suB #20000,70 :NOW RESET STATE
BPL 18 BR IF NOT YET TESTED
S 4442233322228 2332232323 2322232232222 2232322233322222322232 2222823 ]
SATEST 12 TEST THAT THE X OFFSET POLARITY BIT CAN SET §& RESET

A 22t 2222202023023 0d0 R R R R 2RARRRRRARRRRRRARERDR D

TST12: SCOPE

SEQ 0025
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CZVSAB.P11 29-MAY-79 10:10 T12 TEST THAT THE X OFFSET POLARITY BIT (AN SET & RESET SEQ 0026
(2) 003572 (12737 000012 001206 MOV #12,$TESTN ;oSET TEST NUMBER [N APT MAJL BOX
544 003600 012737 003626 001110 MOV #18 ,SLPERR ;SET UP SCOPE LOOP ADRS
545 003606 013737 002066 001122 MOV IDOFF ,$BDADR ;SET UP REG 34 ADRS
546 003614 012700 020000 MOV #20000,R0 ;RO HAS BIT
547 003620 012737 100000 001124 MOV #100000,8GDDAT ;LD EXPECTED
548 003626 010077 176212 1%: MOV RO,axDOFF ;SEND IT OUT
549 003632 017737 176230 001126 MOV aZDOFF ,$BDDAT JREAD IT BACK
550 003640 042737 037777 001126 BIC #37777 ,$8DDAT  ;SAVE X & Y POLARITY BITS
551 003646 023737 001126 001126 CMP $SGDDAT ,$BDDAT ;1S IT CORRECT?

552 003654 001401 BEQ 29 ;BR IF SO

553 003656 104021 ERROR 21 ;X OFFSET POLARITY READ/WRITE ER
554 003660 005037 001124 2%: CLR SGDDAT JEXPECT 2ERO

555 003664 162737 020000 001124 SUB #20000, SGDDAT ;ADVANCE TO RESET STATE

ggg 003672 100355 BrL 18 ;BR IF NOT YET TESTED

558 IR RN RN R AR AR AR AR R AR R RN AR R R ARNA RN R AN AR ANNRNRAARA A NN AR AR AN
(3) ;*TEST 13 FLOAT A ONE THRU RELOCATE REG

(%) P RN A AN AR R AR N AR AN RN AN AN RN N AR NN R AN AN NN AR AA AN AN RAARAR AR RN
(2) 003674 000004 TST13: SCOPE

(2) 003676 012737 000013 001206 MOV #13 $7ESTN ;oSET TEST NUMBER IN APT MAJL BOX
559 003704 012737 003726 001110 MOV #18 _SLPERR JSET UP SCOPE LOOP ADRS

560 003712 013737 002040 001122 MOV RLO,S8DADR JSET UP RLO ADRS

561 003720 012737 004000 001124 MOV #6000 ,8GL DAT JSET UP MSB TO A ONE

562 003726 013777 001126 176104 1%: MOV $GDDAT ,aRLO ;LOAD UP RLO REG

563 003736 017737 176100 001126 MOV aRLO,$BDDAT JREAD 7 BACK

564 003772 023737 001124 (01126 € o $GDDAT , $BDDAT 21 IT CORRECT?

565 003750 001401 BEQ Ve 3 ;BR IF OK

566 003752 104022 ERROR 22 ;RELOCATE REG READ/WRITE ER

567 003754 006237 001124 ’%: ASR $GDDAT JSHIFT ONE BIT RIGHT

ggg 003760 001362 BNE 1% ;BR IF NOT DONE

570 DN RN R R AN S AR AR AR AR AN AR AR A AN AR ANARN A AR AR R AR AR AN AR AR AN AR R
(3 J*TEST 14 FLOAT A ZERO THRU RELOCATE REG

(3 PIRN RN N A AR NN RN R AN A AR AN N R R AN R AR AR AR R AR AR AR AN AR ARA N AN RN RN NN AN
(2) 003762 000004 TST14: SCOPE

(2) 003764 012737 000014 001206 MOV #14,STESTN ;.SET TEST NUMBER IN APT MAIL BOX
S71 003772 012737 004012 001110 MOV #18 ,SLPERR sSET UP SCOPE LOOP ADRS

572 004000 013737 002040 001122 MOV RLO,$8DADR ;SET UP RLO ADRS

573 0046006 012700 173777 MOV 3173777,R0 ;SET MSB TO A ZERO

576 004012 010037 001124 1%: MOV RO, $GDDAT ;SAVE PATTERN FOR (OMPARE

575 004016 042737 170000 001124 B8IC ll?OOOO.SGDDAT ;GET RID OF HIGH BITS THAT DO NOT READ/WRITE
576 004024 010077 176010 MOV RO,aRLO ;LOAD UP RLO REG - SEND HIGH BITS FOR NOISE
577 004030 017737 176004 001126 MOV aRLO,$8DDAT JREAD IT BA(K

578 004036 023737 0011246 001126 P $GDDAT , $BDDAT ;1S IT CORRECT?

579 004044 001401 BcQ 29 ;BR IF 0K

580 004046 104022 ERROR 22 JRELOCATE REG READ/WRITE ER

581 004050 006:00 2%: ASR RO JSHIFT ZERO BIT RIGHT

582 004052 103757 B(S 1% ;BR IF NOT DONE

ggz 00405¢ 005077 175760 (LR aRLO ;CLR RELOCATE REG BEFORE ADVANCING
585 DN AN R R RN AR A R AR R A A AN AR A AN R R A AN R AR A AN AR R AN AR AR NN RARN RN NS
3 ;*TEST 15 TEST THAT ALL MAINT TYPE BITS ARE READ/WRITEABLE
&) SRR RN A A AN N AR AR AR AR AN R AN RN R AR N AR A AN A A NN R AN AR R AR R AR R
(2) 004060 000004 TST15: SCOPE

(2) 004062 012737 000015 001206 MOV #15,87ESTN oSET TEST NUMBER IN APT MAIL BOX

586 004070 013737 002062 001122 MOV STKPT ,$8DADR ;SET UP REG 32 ADRS
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CZVSAB.P11 29-MAY-79 10:10 T15 TEST THAT ALL MAINT TYPE BITS ARE READ/WRITEABLE SEQ 0027
587 004076 012737 004112 00"110 MOV #13 SLPERR JSET UP SCOPE LOOP ADRS
588 004104 012737 170000 001124 MOV #170000,$GDDAT  :EXPECT ALL BITS INITIALLY
589 004112 013777 0011246 175742 1%: MOV $GDDAT ,aSTKPT ;LOAD UP MAINT BITS
590 004120 017737 175736 001126 MOV aSTKPT ,$8DDAT JREAD THEM BA(CK
591 004126 042737 007777 001126 B8I( #7777 ,$8DDAT ;SAVE ONLY MAINT SWITCHES
592 004134 023737 001126 0711 cMP $GDDAT ,$8BDDAT JARE THEY CORRECT?
593 004142 00140 BEQ 2% ;BR IF SO
594 004144 104001 ERROR 1 JMAINT SWITCH READ/WRITE ERROR
595 004146 162737 010000 00, .« 2%: suB #10000, $GDDAT ;GO TO NEXT PATTERN
ggg 004154 100356 B8PL 1% JBR IF ALL STATES NOT TESTED
598 IR AR P R AR R E N AN R AN A RN RN RN A NAR AR NARRA RN NN ARARAAR ARG AN NN RN
(3 ;+TEST 16 TEST THAT RESET WILL CLEAR THE RELOCATE REG
) IR AR R AR AN AR AR AN AN AR A AN AR AR A RNR A RN AN AR AN RN RN AR RN AR
(2) 0046156 000004 TST16: SCOPE
(1) 004160 012737 000010 001166 MOV #10,$TIMES ;:D0 10 ITERATIONS
(2) 004166 012737 000016 001206 MOV #16,$TESTN ;oSET TEST NUMBER [N APT MAIL BOX
599 004174 013737 002040 001122 MOV RLO,$8DADR JSET UP REG 10 ADRS
600 004202 005037 001124 CLR $GDDAT JEXPECT ALL ZEROS
601 004206 012777 007777 175624 MOV #7777 ,aRLO JLOAD IT UP
602 004214 000005 RESt1T JCLR IT QUuT
603 004216 017737 175616 001126 MOV aRLO,$8DDAT JREAD IT
604 0042264 001401 - BEQ TST17 :;GO TO NEXT TEST IF CLEARED
282 004226 1064022 ERROR 22 JRESET FAILED TO CLR RELOCATE REG
607 IR RER AR RANAR AR AN AN A NI N AR AR P AN AARAN AN AR AN AN AR XA NN RN A RS
(3 J«TEST 17 TEST THAT RESET WILL CLEAR THE X DYNAMIC OFFSET REG
(%) IR R AR AR AR A AR RN R R R R AR AR AN AR AN RN AR AN AR AR N A RN AR RN A AR
(2) 004230 0000C4 TST17: SCOPE
(1) 004232 012737 000010 001166 MOV #10,8TIMES ;:D0 10 ITERATIONS
(2) 004240 012737 000017 001206 MOV #17.,$TESTN ;:SET TEST NUMBER [N APT MAIL BOX
608 004246 013737 002044 (01122 MOV XDOFF ,$BDADR sSET UP REG 14 ADRS
609 004256 005037 001124 CLR $GDDAT JEXPECT ALL ZEROS
610 004260 012777 007777 175556 MOV #7777 ,aXDOFF ;LOAD IT UP
611 004266 000005 RESET ;CLR IT OuTt
612 004270 017737 175550 001126 MOV aXDOF F ,$BDDAT JREAD T
613 004276 001401 BEQ TST20 ;G0 TO NEXT TEST IF CLEARED
2}2 004300 104021 ERROR 21 :RESET FAILED TO CLR X DYNAMIC OFSSET REG
616 AR R AR A AR AR A R AR NN RN AR AN R AN NN A RN AN AR RN A ARARAARRA AR RANS
(3) ;J*TEST 20 TEST THAT RESET WILL CLEAR THE Y DYNAMI( OFFSET REG
(3 IR A R AR AR AR R AR AR R AN ANAN N AN AN R A A ANANRANAANAR AR ARENNR
(2) 004302 000004 TS120: SCOPE
(1) 004304 012737 000010 001166 MOV #10,8TIMES ;:D0 10 ITERAT]IONS
(2) 004312 012737 000020 001206 MOV #20,$TESTN J;SET TEST NUMBER IN APT MAIL BOX
617 006320 013737 002046 001122 MOV YDOF f ,$BDADR JSET UP REG 16 ADRS
618 004326 005037 001124 CLR $GDDAT JEXPECT ALL ZEROS
619 004332 012777 007777 175506 MOV #7777 ,aYDOFF JLOAD IT UP
620 004340 000005 RESET ;CLR IT our
621 0064342 017737 175500 001126 MOV aYDOFF ,$8DDAT  ;READ [T
622 004350 001401 BEQ TST21 ;G0 TO NEXT TEST IF CLEARED
ggz 004352 104020 ERROR 20 JRESET FAILED TO CLR Y DYNAMIC OFF SET REG
625 JINNE AR AN R AN AR RAN AN AR RN AN RN A AN AN A AR AR ARARA AR AP RAARART AR NS
(%) JeTEST 1 TEST THAT RESET WILL CLEAR X & Y OFFSET POLARITY BITS

(3) ".'ttt*tttttttttttttttttttittttttiiiittttiil‘.ittttitti.ttiitititik
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CZVSAB.P11

(2)
(1)
(2)
626
627
628
629
630
637
632
633
634
635
636
637
(3)
(3)
(2)
(1)

004354
004356
004 364
004372
004400
0044604
004612
004420
0046422
004430
004436
004444
004446

004450
004452
004460
004466
004474
004500
004506
004510
004516
004520

004522
004524
004532
004540
004546
004552

004562
004570
004576
004600

000004
012737
012737
013737
005037
012777
012777
000005
017737
042737
023737
001401
104032

000004
012737
012737
013737
005037
012777
000005
017737
001401
104017

000004
012737
012737
013737
005037
012777
000005
017737
042737
001401
104032

000004
012737
012737
013737
012737
013777
017737
042737
023737
001401

S
0

000040
000021
002066
001124
020000
020000

175440
037777
001124

0000°0
000022
002060
001124
000377

175344

000100
000023
002062
001124
170000

175274
003777

000024
004634
002062
000037
001124
175214
177740
001124

T PART 1

001166
001206
001122

175432
175426

001126
001126
001126

001166
001206
001122

175352
001126

001166
001206
001122

175302

001126
001126

001206
001110
001122
001124
175220
001126
001126
001126

121
TST21:

MACY11 30G{1063)

C 3
17-SEP-79 08:43 PAGE 9-5

TEST THAT RESET WILL CLEAR X & Y QOFFSET POLARITY BITS

SCOPE
MOV
MOV
MOV
CLR
MOV
MOV
RESET
MOV
BIC
(MP
BEQ
ERROR

#50,8$TIMES ;:D0 40 ITERATIONS

#21,STESTN ;.SET TEST NUMBER IN APT MAIL 80X
IDOFF ,$8DADR ;SET UP REG 36 ADRS

$GDDAT JEXPECT ZERO

#20000,@3XDOFF  ;SET X POLARIYT BIT
#20000,aYDOFF JSET Y POLARITY BIT
;:CLR THEM
aZDOFF ,$BDDAT  ;READ REG 36
#37777 ,98DDAT  ;SAVE ONLY POLARITY BITS
$GDDAT ,$8DDAT  ;CORRE(CT?
TST22 ;oNEXT TEST IF SO
32 JRESET FAILED TO CLR OFFSET POLARIY BiTS

2323343223223 22 22222222 22020 a0 2 tdRRRRtRRdRRdRRRlilllddl

LRTEST 22

':t**tttttttitt*tttt*tﬁﬁitittﬁtttttﬁii*ttttﬁtttﬁt**ttttttttttttti

TST22:

SCOPE
MOV
MOV
MOV
CLR
MOV
RESET
MOV
BEQ
ERROR

TEST THAT RESET WILL CLEAR TERMINATE CHARACTER REG

#10,8TIMES ;:D0 10 ITERATIONS
#22,8TESTN ::SET TEST NUMBER [N APT MAIL 80X
TERMCH, $8DADR ;SET UP REG 30 ADRS
$GDDAT JEXPECT ALL ZEROS
#377,3TERMCH JLOAD IT UP
JCLR IT ourt
aTERMCH,$BDDAT :READ IT
TST23 ;:GO TO NEXT TEST IF CLEARED
17 JRESET FAILED TO CLR TERMINATE (HAR REG

E 3322333334832 22202 a0 223022 2822322282222 2 R RRR2R 22/

TRTEST 23

St 223222220202 2220d2 20222 R 2 20 202800020202 )RdRRRRR 2R ]|

15723

SCOPE
MOV
MOV
MOV
CLR
MOV
RESET
MOV
8IC
BEQ
ERROR

TEST THAT RESET CLEARS ALL MAINT BITS

#100,8TIMES ::D0 100 ITERATIONS
#23,8TESTN J2SET TEST NUMBER IN APT MAJL BOX
STKPT ,$8BDADR ;SET UP REG ADRS 32
$GDDAT JLOAD EXPECTED
#170000,.aSTKPT .LOAD REGISTER
JINITILIZE

aSTKPT ,$8DDAT  ;READ REG.

#3777 ,38DDAT ;MASK OUT OTHER BITS

TST26 ;;BR IF ALL CLEARED

32 JRESET FAILED TO CLEAR MAINT. BITS

';tt!ttt*t.ﬁtttttttti*ttQtﬁtittttt*ﬁtﬁt‘ti‘tl'ﬁttt!tt!tlttttttttt

SxTEST 24

R A AL ERRAdR RNl RRRRRRRRRR2R002RRARRRERRAAARARARARAREEAR D]

1ST24

1%:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
BIC
CMP
BEQ

TEST THAT THE STACK SELECTION BITS ARE READ/WRITEABLE

#2464 ,STESTN ;.SET TEST NUMBER IN APT MAIL BOX
#1$,SLPERR ;SET UP SCOPE LOOP ADRS

STKPT ,$BDADR ;SET UP REG ADRS 32

#37 ,SGDDAY JEXPECT ALL BITS INITIALLY

$GDDAT,@STKPT  :SEND PATTERN OUT
aSTKPT _$BDDAT  -READ IT BACK

#177740,$BDDAT :SAVE ONLY STACK SELECTION BITS
$GDDAT,$BDDAT  :CORRECT?

2% ;BR |F SO

SEQ 0028
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P11

004666
004670
004674

005026

005030
005032
005040
005046
005054
005062
005070
005076
005104
005112
005114
005116
005120
005124

005126
005130
005136
005144

104051
005337
100357

000004
012737
012737
013737
012737
012777
012777
017737
042737
023737
001401
104051
012737
012777

000095
017737
023737
001401
104057

000004
012737
012737
013737
012737
012777
013777
017737
023737
001402
104002
000403
006337
103361

000004
012737
012737
012737

ON TEST
10:10

001124

000040
000925
002062
000041
000037
000077
175112
177700
001124

000040
000037

175046
001124

000040
20002¢
002030
000002
010000
001124
174726
001124

001124

000040

00002/
005204

PART 1

001166
001206
001122
001124
175124
175116
001126
001126
001126

001124
175054

001126
001126

001166
00120¢
001122
001124
174772
174732
001126
001126

001166
001206
001110

D 3
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T24 TEST THAT THE STACK SELECTION BITS ARE READ/WRITEABLE
ERROR 51 ;STACK POINTER READ/WRITE ER
2%: DEL $GDDAT ;ADVANCE PATTERN
8PL 1% ;BR [F ALL PATTERNS NOT TESTED
T T e T L Y
J*TEST 25 TEST THAT 'TOP OF STACK' AND RESET CLEARS STACK SELECTION BITS

';tﬁtk*ittt'tttiﬁtttttttttittttttittitit*ttttttttt*itititttttt**t

TST25: SCOPE

MOV #60,8TIMES ;:D0 40 ITERATIONS

MOV #25,8TESTN J:SET TEST NUMBER [N APT MAIL BOX

MOV STKPT ,$8DADR ;SET UP REG ADRS 32

MOV #61,8GDDAT sLOAD EXPECTED

MOV #37.8STKPT JSET ALL BITS

MOV #77 ,8STKPT sCLR ALL BITS

MOV aSTKPT ,$8DDAT JREAD STACK SELECTION BITS

BIC #177700,8BDDAT ;SAVE SEL BITS ONLY

(MP $GDDAT,$BDDAT :CORRECT?

BEQ 1% ;BR IF SO

ERROR 51 :"TOP OF STACK' FAILED TO (LR BITS
1%: MOV #60,8$GDDAT ;LD EXPECTED

MOV #37,8STKPT JSET ALL BITS

RESET JRESET C!'RS THEM & SET 'TOP OF STA(CK'

MOV aSTKPT ,$BDDAT JREAD THEM

CMP $GDDAT , $BDDAT ;CORRECT?

REQ TST26 JoNEXT TEST IF SO

ERROR 51 JRESET FAJLED TO SET UP 'TOP OF STACK'

LSBTTL

.SBTTL THESE TESTS USE MAINT SWITCH #

.SBTTL
;;ttt***ttt*tt*iit*t**titt****tk**tttt*t*t**ittttt*tttttiﬁttttttt
;*xTEST 26 FLOAT A 1 ACROSS THE D.P.C.

2. 2.223222223438323032323232333032323333823823323238238303343822 2223088882 882H0;

TST26 SCOPE

MOV #60,89TIMES ..DO 40 ITERATINNS

MOV #26,8TESTN JoSET TEST NUMBER [N APT MAIL BOX

MOV CPC,$8DADR JSET UP REG ADRS 00

MOV #31T1,8GDDAT JLOAD EXPECTED

MOV #BIT12,8STKPT :SET MAINT SWITCH #1
1%: MOV $GDDAT ,aDP({ ;LOAD D.P.C.

MCV aDPC(,$BDDAT JREAD D.P.C. INTO $BDDAT

CMP $GDDAT ,$BDDAT ;COMPARE VALUE EXPECTED TO READ

BEQ 2% ;iBR [F SAME

ERROR 2 JFAILED TO LOAD DPC WITH A FLOATING 1

BR T1S127 I
2%: ASL $GDDAT ;CHANGE DATA EXPECTED

B8CC 1% ;BR IF NOT COMPLETED
;;tlttttttt*tttttttttttiQtitt*tttﬁttt!tttttt!i*ttttttltltttilittt
J*TEST 27 TEST THAT THE RELOCATE REG WILL CORRECTLY SET UP THE DFKC
::ttttttt*ttiQttlttﬁtt!"'Qtiittlltt'ﬂ‘t&ltttllﬁttttttttttlttttt‘
TST27: SCOPE

MOV #60,8$TIMES ::D0 40 ITERATIONS

MOV #27,8TESTN ;;SET TEST NUMBER [N APT MA]L BOX

MOV #1% SLPERR JSET UP SCOPE LOOP ADRS

SEQ 0079
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CZVSAB.P11

706
707
708
7C9
7210
N
712
713
714
715
716
7217
/18
719
720
721
(3)
(3)
(2)
N
(2)
722
723
7¢4
725
726
72
728
729
730
731
732
753
734
735
(3
(3)
(2)
(2)
736
737
738
739
7460
7461
742
743
744
765
746
747
748
(3
' 3)
/2)
(2)

005152
005160
005166
005172
005200
005204
005210
005216
005224
005226
005230
005236
005249
005242

005244
005246
005254
005262
005270
005276
005302
005310
005312
005320
005322

005324
005326
005334
005342
005250
005356

005372
005400
005406
005414
005416

005420
005427

012777
013737
005077
012737
012700
010077
017737
023737
001401
104022
062737
001402
005200
000760

000004
012737
012737
013737
012777
005037
012777
000005
017737
001401
104032

000004
012737
013737
012777
012737
013777
012737
017737
042737
023737
0014607
104003

000004
012737

010000
002030
174636
000100
000001
174630
174614
001124

000100

000100
000030
002030
016000
007124
177776

174512

000031
002032
020000
174000
002000
074000
1744634
103777
001124

000032

174702
001122

001124

001126
001726

001124

001166
001206
001122
1746564

174520
00126

001206
001122
174512
031076
176444
001124
001126
001126
001126

001206

MACY11 30G(1063)

E 3
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127 TEST THAT THE RELOCATE REG WILL CORRECTLY SET UP THE DPC

MOV #BIT12,aSTKPT
MOV DP(C,$BDADR
CLR aDP(
MOV #100, $GDDAT
MOV #1,R0

1%: MOV RO,aRLO
MOV aDP(C,$BDDAT
(MP $GDDAT , $BDDAT
BEGQ 2%
ERROR 22

2%: ADD #100,SGDDAT
BEQ TST30
INC RO
BR %

:SET MAINT SWITCH #1
JSET UP REG 00 ADRS
:CLEAR DP(C
JEXPECT 100 INITIALLY
;START WITH 1
;LOAD RELOQOCATE REG
;READ RELOCATE REG - SHOULD BE TIMES 64
;IS IT CORRECT?
;BR IF SO
;RELOCATE FAILED TO SET UP DPC CORRECTLY
JSET UP NEXT EXPECTED VALUE
;:G0 TO NEXT TEST IF ALL VALUES TESTED
JSET UP NEXT PATTERN
;GO TRY IT

r e AN AR A AN RN RN A AN AR AR AAAAARAANAAN RN AN AR AN AN AR d

TEST THAT RESET CLEARS THE D.P.C.

T RA AN AT AR AN A AN RN RAAAAARAANAAAAAAARNAAAARAA AR A AR AR NN

S+TEST 30

1ST30: SCOPE
MOV
MOV
MOV
MOV
(LR
MOV
RESET
MOV
BEQ
ERROR

LSBTTL
.SBTTL
LSBTTL

#100,$TIMES
#30,8TESTN
DPC,$BDADR
#MBIT12,aSTKPT
$GDDAT
#-2.,aDPC

aDPC,$BDDAT
1ST3?
32

THESE TESTS USE

;200 100 ITERATIONS
;:SET TEST NUMBER IN APT MAIL BOX
;SET UP REG ADRS 00
JSET MAINT SWITCH #1
JLOAD EXPECTED
;LOAD REGISTER
JINITILIZE
;READ D.P.C. REG.
;cBR IF ALL BITS CLEARED
JRESET FAJLED TO CLEAR THE D.P.C.

MAINT. SWIT(H ?

':tttt*tttttiiiitt*ttﬁtﬁ*'tt*tt.ttﬁﬁﬁtiii**tttitttttttitﬁttitt*ii

LGAD #17 INTO THE ‘MODE’' REGISTERS

RN R AR AR AN A AR AR AR AR R AR AANRARNRRARE AN RRARR R AR AR A AN ARk

LRTEST 31

TST31: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
81(
CMP
BEQ
ERROR

#31,8$TESTN

SRE GO, $BDADR
MIT1S, aSTKPT
#174000,BUFFER
DBUF , aDPC
#74000.,$GDDAT
aSREGO . $BDDAT
#103777 ,$BDDAT
$GDDAT, $8DDAT
;sr32

;.SET TEST NUMBER IN APT MA]L BOX
;SET UP REG ADRS 02

:SET MAINT SWIT(H #2
;LOAD MODE REGISTER=17
;LOAD DISPLAY PC.
;LOAD EXPECTED

JREAD DISPLAY STATUS REGISTER
JMASK TO BITS 14-11

: COMPARE EXPCT TO RCVD
;.BR IF EQUAL
;MODE BITS (14=11) FAILED TO SET

':t*tt‘ttttlttt‘tﬁi.ttﬁQ.‘ﬁ'*rtl..ttttt*t'liiltttt!tt'tt!tt'tttlﬁ

LOAD #10 INTO THE "MODE’' REGISTERS

e Al Ll SRRl AR iR RsRl RS iR RRRRRaRRRRRRRS SRR

LHTEST 32

TST32: SCOPE
MOV

#32,8TESIN

;:SET TEST NUMBER [N APT MAJL BOX

SEQ 0030
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749
750
751
752
753
754
755
756
757
758
759
760
(3)
(3)
(2)
(2
761
762
763
764
765
766
767
768
769
770
771
772
(3)
(3
(2)
(2)
773
774
775
776
777
778
779

005430
005436
005444
005452
005460
005466
005474
005502
005510
005512

005514
005516
005524
005532
005540
005546
005554
005562
005570
005576
005604
005606

005610
005612
005620
005626
005634
005642
005650
005656
005664
005672
005700
005702

005704
005706
005714
005722
005730
005734
005740
005744
005750
005754
005762

013737
012777
012737
013777
012737
017737
042737
023737
001401
104003

000004
012737
013737
012777
012737
013777
012737
017737
042737
023737
001401
104003

000004
012737
013737
012777
012737
013777
012737
017737
042737
023737
001401
104003

000004
012737
013737
012777
012700
012720
012720
012720
012720
013777
012737

29-MAY~-79 10:10

002032
020000
140000
002009
040000
174340
103777
001124

000033
002032
020000
160000
002000
060000
174244
103777
001124

000034
002032
020000
170000
002000
070000
174150
103777
001124

002000
031100

001122
1744616
031076
174350
001124
001126
001126
00112¢

001206
001122
176322
031076
174254
001124
001126
001126
001126

001206
001122
174226
031076
174160
001124
001126
001126
00112¢

001206
001122
174132

174046
001124

132

MACY11 30G(1063)
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LOAD #10 INTO THE "MODE'' REGISTERS

BEQ
ERROR

SREGO,$8DADR  :SET UP REG ADRS 02

»mIT13 asTko” “SET MAINT SWITCH #2
#.460000,BUFFER ;LOAD MODE REGISTER=10

DBUF ,aDPC *LOAD DISPLAY P.cC.

#40000, SGDDAT :LOAD EXPECTED

SSREGO  $8DDAT *READ DISPLAY STATUS REGISTER
#103777 ,$BDDAT ;MASK TO BITS 14=11

$GDDAT ,$BDDAT . COMPARE EXPCT TO RLVD
TST33 ;.BR IF EQUAL
3 ;MODE BIT 14 FAILED TO SET

S 2222322222222 2022 2R3 20 AR 2Rl idlRRRR AR R D)

SNTEST 33

‘;Q*tQttttttt'ittt.tttitt*"tttitti!it*t.'fiittittiii.ﬁ.ttttt'tit

15733

MOV
MOV
MOV
BIC
CMP
BEQ
ERROR

LOAD #14 INTO THE "MODE’' REGISTERS

#33,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX
SREGO,$8DADR  :SET UP REG ADRS 02

#MIT1S,aSTKPT SSET MAINT SWITCH #2
#160000,BUFFER  :LOAD MODE REGISTER=14

DBUF , aDPC *LOAD DISPLAY P.C.

#60000,8GDDAT  :LOAD EXPECTED g

aSREGO, $SBDDAT ;READ DISPLAY STATUS REGISTER
#103777 $BDDAT ;MASK TO BITS 14=11

$GDDAT , $8DDAT :COMPARE EXPCT TO RCVD
1ST34 ;.BR IF EQUAL
3 ;MODE BIT 13 FAILED TO SET

::ttt'.t"ittlttt.tt"ittt'*t!tttiﬁ**ttt'ii.'.ttttt.tftiiti*ttttt

;~TEST 34

SR 2233340823022 0 2 R0 2 RRRRRRR2RRARRRR R RRRRRRRRARSR DR

TST36:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIC
CMP
BEQ
ERROR

LOAD #16 INTO THE "MODE’'' REGISTERS

#34 STESTN ;:SET TEST NUMBER IN APT MAIL BOX
SREGO, $8DADR *SET UP REG ADRS 02
#IT13,3STKPT SSET MAINT SWITCH #2

#170000,BUFFER  ;LOAD MODE REGISTER=16

DBUF , aDPC :LOAD DISPLAY P.C.

#70000,8GDDAT  :LOAD EXPECTED

ASREGO . SBDDAT :READ DISPLAY STATUS PEGISTER
#103777 ,$8DDAT  ;MASK TO BITS 14=11

$GDDAT . $8DDAT :COMPARE EXPCT TO RCVD

TST3S ;:BR IF EQUAL

3 ‘MODE BIT 12 FAILED TO SET

AR AR RN AR AR AR AR AAARAAANARAAAAANANRAAARARAAAAARATA RN

“*TEST 35

R EALR RS RRRRRRRSRERRRRARRRARARRRRRERSRSRARRRRERRRRRARRRRERDSRAR

1ST35:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV

SIMPLE INCREMENT D.P.C. TEST

#35,8TESTN J2SET TEST NUMBER IN APT MAIL BOX
DP( ,$8DADR ;SET UP REG ADRS 00

#BIT13,aSTKPT :SET MAINT SWIT(H #2
#BUFFER,RO ;LOAD BUFFER POINTER

#164000, (RO)+  ;LOAD DISPLAY NOP

#164000, (RO) +

#164000, (RQ) +

#164000, (RO) +

DBUF ,aDP( ;START THE DISPLAY

#BUFFER+2,$GDDAT ;LOAD EXPECTED

S€a 0037
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(ZVSAB.

793
794
795
796
797
798
799
800
801
802

005770
005776

006242

006254

006256
006262
006264
006270

29-MAY~79

017737
023737
001402
104004
000451
005277
062737
017737
023737
001402
104004
000433

005277
062737
017737
023737
001402
104004
000415

005277
062737
017757
023737
001401
104004

000004
012737
012737
013737
012777
013702
012722
023702
001373
013777
012737
013702
024242
062737
017737
023737
001402
104004
000406

220237
001403
005277
000756

ON TES

10:10
74034
01124

174012
000002
174000
001124

173756
000002
173744
001124

17372¢
000002
173710
001124

000040
000036
002030
020000
002000
164000
002020

002000
031076
002020
000002

173570
001124

001124
173540

TE T PART 1

001126
001126

001124
001126
001126

001124
001126
001126

001124
001126
001726

001166
001206
001122
173674

173616
001124

001124
001126
001126

G 3
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135 SIMPLE INCREMENT D.P.C. TEST

MOV aDP(,$BDDAT ;READ THE DISPLAY P.(.
g?g ?gDDAT,SBDDAT ;TEST FOR INCREMENT

ERROR & :DISPLAY P.(C. FAJLED TO INCREMENT

BR TST36 02
1%: INC aDP( ;STEP THE DJSPLAY P.(C.

ADD #2 ,8GDDAT sUPDATE EXPECTED

MOV aDPC(C,$BDDAT sREAD THE DJISPLAY P_.C.

é?g ggboAT,SBDDAY JTEST FOR INCREMENT

ERROR 4 :DISPLAY P.(. FAILED TO INCREMENT
> BR TST36 52

INC aDP( ;SINGLE STEP THE DISPLAY

ADD #2,8GDDAT JUPDATE EXPECTED

MOV aDP( ,$BDDAT ;READ THE DISPLAY P.C(.

é?g %gDDAT.SBDDAT ;TEST FOR INCREMENT

ERROR & ;DISPLAY P.(. FAILED TO INCREMENT
- BR TST36 5

INC aDP( ;SINGLE STEP THE DISPLAY

ADD #2.3GDDAT JUPDATE EXPECTED

MOV aDP( ,$8DDAT JREAD THE DISPLAY P.C.

CMP $GDDAT , $BDDAT JTEST FOR INCREMENT

BEQ TST36 ;;BR IF EQUAL

ERROR 4 ;DISPLAY FP.(. FAJLED 7O INCREMENT
BA 2222022332222 228322323232232222323322322222222322232222232222%222222 8§
'TEST 36 EXPANDED D.P.(C. INCREMENT TEST
BEa 2:223 23X 2233322322223 2R3 22222 R X2 R 2R XS4 31
TST36 SCOPE

MOV #60,8TIMES ;D0 40 ]JTERATIONS

MOV #36,8TESTN :2SET TEST NUMBER [N APT MAIL BOX

MOV DP(C ,$8DADR ;SET UP REG ADRS 00

MOV #8I1T13, aSTKPT JSET MAINT SWITCH #2

MOV DBUF ,R2 ;SET UP POINTER
1%: MOV #164000, (R2)+ :MOVE DNOP INTO THE BUFFER

CMP SIZE .RC JFINISHED FILLING THE BUFFER?

BNE 1% sNO

MOV DBUF ,aDP( JYES, START THE DISPLAY

MOV #SUFFER,$GDDAT ;LOAD EXPECTED

MOV SIZE ,R2 JSETUP A COUNT

CMP -(R2) ,-(R2) ;DEC BY 2
2%: ADD 2 ,3GDDAT JUPDATE EXPECTED

MOV aDP(,$8DDAT JREAD DISPLAY P.C.

(MpP $GDDAT ,$BDDAT .DID IT INCREMENT BY 2?

BEQ 3% JYES

ERROR & ;DISPLAY PC FAILED TO INCREMENT

BR 18137 b
3%: (MP R2.,.$GDDAT ;FINISHED THE BUFFER

BEQ 1ST37 ;oBR TO NEXT TEST

INC aDP( :SINGLE STEP THE DISPLAY

BR 2% ;2 TRY AGAIN

SEQ 0032
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(ZVSAB.P11

842
(3)
(3)

006410
006412
006420
006426
006434
006440
006444
006452
006460

006474
006502
006510
006516
006524
006526
006530
006532

006534
006536
006544
006552

006564
006572

006610
006616

000004
012737
012777
012737
012737
012737
053737
012777
013737
017737
042737
023737
001401
104023
006237
103346

000004
012737
012777
012737
012700
010037
042737
012737
053737
012777
013737
017737
042737
023737
001401
104023
006200
103742

000004
012737
012737
012777
905037
012737
012777
01373;

00000
017737
001401

29-MAY-79 10:10

000037
020000
006324
002000
150000
001124
03107¢
002054
173474
174000
001124

001124

000040
020000
006440
175777
001124
174000
150000
001124
031076
002054
173346
170000
001124

000040
000041
020000
001124
153777
031076
0020654

173240

PART 1

001206
173552
001110
001124
031076
031076
173462
001122
001126
001126
001126

001206
173434
001110

001124
031076
031076
173334
001122
001126
001126
001126

001166
001206
173302

031076
173230
001122

001126

H 3
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137

TEST THAT THE NAME [NSTR (AN FLOAT A ONE THRU DPU NAME REG

A 3242232202202 XR2202RR22R2R222 2R2RR22R2ERRRRRRARtXARRRE R

TEST THAT THE NAME [NSTR CAN fLOAT A ONE THRU DPU NAME REG

e Al RRddRRRRRARRldlRRRRRiRdRlRRRARilRRRRRRRRRdR RN A2

;+TEST 37
TST37: SCOPE
MOV
MOV
MOV
MOV
1%: MOV
BIS
MOV
MOV
MOV
BIC
CMP
BEQ
ERROR
2%: ASR
BCC

#37 ,$TESTN
#B1713,aSTKPT
#1$, SLPERR
#2000, $GDDAT
#150000,BUF FER
$GDDAT ,BUFFER
#BUFFER, aDPC
DNAME , $8DADR
ADNAME , SBDDAT
#174000, $BDDAT
ggDDAT.SBDDAT

23
$GDDAT
1%

;:SET TEST NUMBER IN APT MAIL BOX
:SET MAINT SWITCH #2

;SET UP SCOPE LOOP ADRS

;SET UP MSB

JSET UP INSTR LOC

;SET NAME BIT AT INSTR LOC

;START

;SET UP REG ADRS 24

;READ NAME REG

;ONLY INTERESTED IN THE NAME BITS

;DID IT GET LOADED PROPERLY?

;BR IF 0K

;DPU NAME INSTR ER

;SHIFT °'ONE' BIT RIGHT

;BR IF MORE BIT POSITIONS

c R REN AN RARRANAARANRNRANE LT AP ARAARAARNRARAA AR AR AN AANANR AN AR A

TEST THAT THE NAME INSTR (AN FLOAT A ZERO THRU DPU NAME REG

T A RARARAAN AR AR AAAANRRAARA A AR AAANARARARR A AAARAANRARAAA AN AN AR A AR AW

TRTEST 40

TST40: SCOPE
MOV
MOV
MOV
MOV
1%: MOV
BIC
MOV
BIS
MOV
MOV
MOV
BIC
CMP
BEQ
ERROR
2%: ASR
BCS

#40,$TESTN
#81713,85TKPT
#1%,$LPERR
#175777 RO

RO, $GDDAT
2174000, $GDDAT
#150000.BUFFER
$GDDAT ,BUFFER
#BUFFER ,aDP(
DNAME , $8DALR
SDNAME , S8DDAT
#170000, SBDDAT
SGDDAT, SBDDAT
2%

23

RO

1%

;:SET TEST NUMBER IN APT MAIL BOX
JSET MAINT SWITCH #2

;SET UP SCOPE LOOP ADRS

;SET MSB TO A ZERO

JPUT PATTERN IN COMPARE LOC

;GET RID OF EXTRA BITS

JSET UP INSTR

;SET UP PATTERN AT INSTR LOC

;START

;SET UP REG ADRS 24

;READ NAME REG

;ONLY INTERESTED IN THE NAME BITS

;DID IT GET LOADED PROPERLY?

:BR IF OK

;DPU NAME INSTR ER

JSHIFT ZERO BIT RIGHT

;BR IF MORE BIT POSITIONS

. . L3 ARASE22RR2RRdRRRRRRARRRRERRRRlt2 R0 RRRRRRRRRRARRRRRRRNEEN

TEST THAT RESET WILL CLEAR DPU NAME

. 1222203322222 2223282832222 2320222303 02 222 RSN RN

;*TEST 41
TST41: SCOPE
MOV
MOV
MOV
CLR
MOV
MOV
MOV
RESET
MOV
BEQ

#40,8TIMES
#41,$TESTN
#B1T13,aSTKPT
$GDDAT

#153777 ,BUFFER
#BUFFER,aDP(
DNAME , $8DADR

aDNAME , $BDDAT
1ST42

;:D0 40 ITERATIONS

J:SET TEST NUMBER IN APT MAIL BOX
;SET MAINT SWIT(CH 2

JEXPECT ALL ZEROS

JSET UP NAME INSTR

;START

;SET UP REG ADRS 24

;CLR DPU NAME REG

;READ IT

:sNEXT TEST IF ALL CLEARED

SEQ 0033




(ZVSA-B VS60 INSTRUCTI
CIVSAHR,P17Y

885
886
887
(3)
(3)

006620

007012
007014
007022
007030
007036
007042
007050
007052
007060
007062

007064
007066
007074

29-MAY-79

104023

000004
012737
012737
013737
012737
012700
010077
017737
042737
023737
001401
104024
162700
162737
100355

000004
012737
013737
012737
012777
005077
017727
042737
02373/
001401
104024

000004
012737
012737
013737
005037
012777
000005
017737
001401
104024

000004
012737
012737

ON TE
10:1

ST
0:10

000042
006660
002054
030000
070000
173164
173164
147777
001124

010000
010000

000043
002054
030000
070000
173064
173064
147777
001124

000040
000044
002054
001124
070000

17277¢

000010
000045

PART 1

001206
001110
001122
001124

001126
001126
001126

001124

001206
001122
001124
173070

001126

001126
001126

001166
001206
001122
173000

001126

001166
001206

1 3
MACY11 30G(1063) 17<~SEP=79 08:43 PAGE 9-11
T41 TEST THAT RESET WILL CLFAR DPU NAME

ERROR 23 JRESET FAILED TO CLEAR DPU NAME

T RANS PR AT AR RN AN AN NN AAARN AN AANRAAANAARNRANARANNNANRARA AR RS

CATEST 42 TEST THAT THE SEARCH CCDE BITS CAN BE READ AT REG 24
;;tttti*ttt!itt*ttl.t*ttttttltttﬂ!**tl**ltttttttt*ttttttttttttttt
t§T42: SCOPE

MOy #62,$TESTN ::SET TEST NUMBER IN APT MAIL BOX

MGV #1%.SLPERR “SET UP SCOPE LOOP ADRS

MOV DNAME ,$8DADR  :SET UP REG 24 ADRS

MOV #30000,$GDDAT  :EXPECT BOTH BITS INITIALLY

MOV #70000,R0 ;SET UP RO WITH ENABLE
1$: MOV RO, SANAME :SEND SEARCH CODE

MOV aDNAME , $8DDAT  :READ IT BACK

BIC #147777,$BDDAT  -SAVE ONLY SEARCH CODE

CMP $GDDAT ,$BDDAT  -1S IT CORRECT?

BEQ 2% JBRIF 0K

ERROR 24 . SEARCH CODE READ/WRITE ER
2%: SuB #10000,R0 ;SET UP NEXT SEAR(CH (ODE

SUR #10C00,8GDDAT  ;SET UP NEXT SEARCH COCE

BPL 1 3 ;BR IF MORE CODES TO TEST

':**ttittttittt*tttitttt‘*tttttttttii**itiitﬁtﬁt*t*itttti*ttttttt

S*TEST 43 TEST THAT THE SEARCH CODE DOES NOT CHANGE WHEN ENA-0
::**ttttitttttt*tttttttttttt*ttttltﬁttt*titttitt*t*titttttﬁtttttt
75T43: SCOPE

MOV #43,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX

MOV DNAME ,$8DADR  :SET UP REG 24 ADRS

MOV #30000,$GNDAT  :EXPELT BOTH B'.'S

MOV #70000.BANAME  :LOAD UP SEARCH CODE

CLR SANAME STRY TO CLR SEARCH CCDE WITh FNA 0

MOV aDNAME . $8DDAT  :READ IT BACK

BIC #147777 . $8DDAT :SAVE ONLY SEARCH CODE

CMP $GDDAT.$8DDAT  -IS IT CORRECT?

BEQ TST44 ;- ADVANCE TO NEXT TEST [F OK

ERROR 24 ;SEARCH CODE CHANGE ENABLE ER
RN E AR AR AR AR A A RN AN AR AN AR R AR NN AR R AN AR R AN AR RN AN AR AR AN E R RN
J*TEST 44 TEST THAT REScT WIiLL CLEAR SEARCH (ODE

':tttttt'*t‘tt*ttt*ﬁ*kﬁltttttitt!iﬁﬁttttiﬁti‘t‘t"i.Qltti**titttt

TST44:  SCOPE

MOV #60,$TIMES ;D0 40 ITERATIONS

MOV #64 ,$TESTN ;:SET TEST NUMBER IN APT MA]L BOX

MOV DNAME , $BDADR ;SET UP REG 24 ADRS

CLR $GDDAT JEXPECT RESET STATE

MOV #70000, aANAME ;SET BOTH SEARCH CODE BRITS

RESET :CLR THEM

MOV aDNAME , $BDDAT ;READ REG

BEQ TST45 JINEXT TEST IF ALL CLEARED

ERROR 24 ;RFSET FAILED TO CLR SEARCH (ODE
IR A AR R R AR R AR AR SRR R AR R AR AN RN AN AR AR AN RS ARNNAANNNE R AR RN OR
J*TEST 45 TEST THAT THE NAME MAT(CH FLAG WILL SET ON &4 BIT COMPARES

:ttt!ttttttttittttttﬁt'*t**ltt!!!tﬁttt!!ﬁl‘t!i!tl'ltttt\‘ttlt!tl

TST45: SCOPE
MOV #10,8$TIMES ;:DO 10 ITERATIONS
MOV #45,$TESTN ¢.SET TEST NUMBER IN APT MAIL BOX

SEQ 0034




CcVSA-B VS60 INSTRUCTION TEST

(ZVSAB.P11

923
924
925
926
927
528
929
930
931
932
933
934
935
936
937
938
939

007102
007110
007116
007124
007132
007140
007146
007152
007160
007166
007172
007200
007206
007214
007216
007224
007226
007234
007236
007244
007252
007254
007262
007264
007270
007272
007300
007306

007310
007312
007320
007326
007334
007342
007350
007356
007364
007372
007376
007404
007412
007416
007424
007432
007440
007442
007450
007452
007460
007462
007470
007476

012777
012737
012737
012737
052737
013777
012700
042737
012737
050037
012777
013737
017737
100410
023737
001017
052737
104024
042737
023737
001404
052737
164024
162700
100330
162737
022737
00131

000004
012737
012737
012777
012737
012737
012737
052737
013777
012700
042737
012737
050037
012777
013737
017737
100410
023737
001017
052737
104024
042737
023737
001404

29-MAY-79 16:10

020000
000340
007152
033600
044000
001124
003600
144000
150000
031076
031076
002054
172642

001124
100000

100000
001124

100000
000200

000200
027600

000004
1200046
020000
00340
007376
023770
044000
001124
003770
144000
150000
031076
031076
002054
172416

001124
100000

100000
001124

PART 1

27
77
11
11
11

SO0

7275
7777
0111
0112
0112

OO ==

172702

0061124
031076

172630
001122
001726

001126
001124

001126
001126

001126

001166
001206
172526
177776
001110
001124
001124
172456

001124
031076

172404
001122
001126
001126
001124

001126
0011¢6

MACYTT 30G("063)

T45

1%:

2%:

3%:

4%

MOV
MOV
MOV
MOV
BIS
MOV
MOV
BIC
MOV
BIS
MOV
MOV
MOV
8M]
CMP
BNE
BIS
ERROR
BIC
CMP
BEQ
BIS
ERROR
SUB
BPL
suB
(MP
BNE

J 3
17-SEP-79 08:43 PAGE 9-1°2
TEST THAT THE NAME MAT(CH FL ~ WILL SET ON & BIT COMPARES

#81T13,aSTKPT
#340,PSW
#2% . 3LPERR
#33600, SGDDAT
#44000.SGDDAT
$GDDAT . BANAME
#3600 ,R0
#144000 . SGDDAT
#150000.BUFFER
RO,BUFFER
#8UFFER, aDPC
DNAME . SBDADR
§2~Ane.saooAr
$GDDAT . SBDDAT

3 1
glOOOOO,SGDDAT
#100000, $BDDAT
2gDDAT,$BDDAT
glOOOOO.SBDDAT
#200,R0

2%

#200,$GDDAT
:i?éOO,SGDDAT

JSET MAINT SWITCH #/2
:SET UP PRIORITY TO HIGHEST LEVEL
:SET UP SCOPE LOOP ADRS
;START WITH MAX VALUE
;SET THE SEARCH (CDE ENA BIT
;SET UP ASSOCIATIVE NAME REG
JSET UP RO WITH MAX VALUE
;CLR MATCH FLAG & SEARCH ENA BIT
;SET UP NAME INSTR
JSET UP NAME VALUE
;START
;SET UP REG ADRS 24
;READ NAME REC
:BR IF A MATCH OCCURRED
;SHOULD A MAT(CH HAVE OCCURRED?
:BR IF NOT
JINDICATE IT SHOULD BE SET
;NAME MATCH FLAG FAILED TO SET
;CLR OUT MAT(CH FLAG BIT
;MAKE SURE THERE IS A MATCH
;BR IF 0K
JRESTORE THE MATCH FLAG BIT
;NAME MAT(CH FLAG SET IN ER
;ADVANCE NAME VALUE
;BR IF MORE VALUES TO TEST
;ADVANCE VALUE FOR ASSO. NAME REG
JHAVE ALL VALUES BEEN TESTED?
;BR IF NOT

e 2 A2 22202 a2 R 22 RAREARcARRRRR R AR RR2aRRRRRRR SRR D

S*TEST 46

s RANRR A AR AR AR RAN AN RA RN R AT AAANRRAARANRARRARARAAARA AR AR AR NN

?5746:

1%:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
BIS
MOV
MOV
BIC
MOV
BIS
MOov
MOV
MOV
8M]
cMP
BNE
BIS
ERROR
BIC
CMP
BEQ

TEST THAT THE NAME MATCH FLAG WILI

#4, STIMES
#46,STESTN
#81T13,aSTKPT
#340,PSW

#2% _$LPERR
#23770,$GDDAT
#46%000 . $SGDDAT
$GDDAT . JANAMF
#3770 .RO
#144000, SGDDAT
#150000 . BUF FER
RO.BUFFER
#8UFFER, 3DPC
DNAME , SBDADR
aDNAME , SBDDAT

3$

ngDAT,$BDDAT
3100000,$GDDAT
#700000, $BDDAT

$GDDAT, $BDDAT
4 3

SET ON 8 BIT (OMPARES

;:D0 & ITERATIONS

::SET TEST NUMBER IN APT MAIL BOX
JSET MAINT SWITCH #2

:SET PRIORITY TO HIGEST LEVEL

;SET UP SCOPE LOOP ADRS

;START W]TH MAX VALUE

;SET SEARCH ENA BIT

;SET UP ASSOCIATIVE NAME REG

:SET UP RO WITH MAX VALUE

;CLR MAT(H FLAG & SEARCH ENA

;SET UP NAME INSTR

JSET UP NAME VALUE

;START

;SET UP REG ADRS 24

JREAD NAME REG

;BR IF A MATCH OCCURED

;SHOULD A MATCH HAVE OCCURED?

:BR IF NOT

JINDJCATE IT SHOULD BE SET

JNAME MAT(CH FLAG FAILED TO SET

;CLR OUT MATCH FLAG BIT

JMAKE SURE THERE IS A MAT(H

:BR [F 0K

SEQ 0035




CZVSA-B  VS60 INSTRUCTION TEST
CZVSAB.P11

974
975
976
977
978
979
980
981
982
(3)
(3)
(2)
(1)
(2)
983
984
985
986
987
988
989

(2)

— b ek b
OOOOO00O0O
2 —d h o D b
L ele JuNTo AV P oYV ]

007500
007506
007510
007514
007516
007524
007532

007534
007536
007544
007552
007560
007566
007574
007602
007610
007614
007622
007630
007634
007642
007650
007652
007660
007662
007670
007672
007700
007702
007710
007716
007720
007726
007730
007732
007734
007740
007746

007750
007752
007760
007766
007774
010002
010010
010014
010022
010030

052737
104024
162700
100330
162737
022737
0013

29-MAY-79 10:°0

100000
000010

000010
017770

000002
000047
020000
007614
010077
044000
001124
000077
144000
150000
031076
031076
002054

172176
001124
100000

100000
001124

100000

001124
007777

000040
000050

020000
057777
153777
001124
031076
002054

PART 1

001126

001166
001206
172302
001110
001124
001124
172240

001124
031076

172166
001122

001126
001126
001124

001126
001126

001126

001124

001166
001206
172066
172046
031076

172006
001122

K 3
MACY11 30G(1063) 17-SEP-79 0B:43 PAGE 9-13
TEST THAT THE NAME MATCH FLAG WILL SET ON 8 BIT (OMPARES

T46

4%:

BIS
ERROR
SuB
BPL
Sub
(MP
BNE

gZOOOOO.SBDDAT
#10,R0
2%

#10,$GDDAT
7}7?7o,scooAr

JRESTORE THE MAT(CH riAG BIT

;NAME MATCH FLAG SET IN ER
sADVANCE NAME VALUE

¢BR IF MORE VALUES TO TEST
;ADVANCE VALUE FOR ASSO. NAME REG
JHAVE ALL VALUES BEEN TESTED?

;BR IF NOT

';tttt*t**ttttt*ttt**ttttttittttttt*tttti**ttitt*ttt*tttﬁtttﬁtﬁt*

TwTEST 47

18747

1%:

2%:

3%:

(%:

SCOPE
MOV
MOV
MOV
MOV
MoV
BI1S
MOV
MOV
BIC
MOV
BIS
MOV
MOV
NOP
MOV
8M]
CMP
BNE
BIS
ERROR
BIC
CMP
BEQ
81S
ERROR
DEC
BPL
DEC
CMP
BNE

TEST THAT THE NAME MATCH FLAG WILL SET ON 11 BIT COMPARES

':tttﬁtttt**ttﬁttttﬁﬁ***tti'ﬁ*i**ttt*tﬁi**itt*tttﬁtﬁt*tttitttiiit

#2 STIMES

#47 ,$TESTN
#BIT13.aSTKPT
#2% , SLPERR
#10077 . SGDDAT
#44000, SGDDAT
$GDDAT . SANAME
¥77 R0
#144000, SGDDAT
#150000,BUFFER
RO,BUFFER
#BUFFER, aDPC
DNAME , S8DADR

ggNAHE,SBDDAT
$GDDAT, SBDDAT
4%

gZOOOOO.SGDDAT
4100000, $BDDAT
2gDDAT,$BDDAT
#100000, $BDDA
24

RO

2%

$GDDAT
:;777,$GDDAT

;:DC 2 ITERATIONS

JJSET TEST NUMBER IN APT MAJL BOX
:SET MAINT SWITCH #2

;SET UP SCOPE LOOP ADRS

:START WITH 77 - WORK ONLY LOWER ORDER BITS

;SET SEARCH ENA BIT

JSET UP ASSOCIATIVE NAME REG

JSET UP RO WITH 77

;CLR MATCH FLAG & SEARCH ENA

JSET UP NAME INSTR

JSET UP NAME VALUE

JSTART

;SET UP REG ADRS 24

JALLOW TIME FOR NPR

;READ NAME REG

:BR IF A MAT(CH OCCURED

;SHOULD A MATCH HAVE OCCURED?

;BR IF NOT

;INDICATE IT SHOULD BE SET

JNAME MATCH FLAG FAILED TO SET

:CLR OUT MATCH FLAG BIT

.MAKE SURE THERE ]S A MAT(H

JBR IF OK

,RESTORE THE MATCH FLAG BIT

:NAME MAT(CH FLAG SET IN ER

;ADVANCE NAME VALUE

;BR IF MORE VALUES TO TEST

;ADVANCE VALUE FOR ASSO. NAME REG

JHAVE ALL VALUES BEEN TESTED?

:BR IfF NOT

A A AR S22 Edd R RS RRRRRRRd R R0t it R RRRRtRRRtRRRRASAZT)

S*TEST S0

15750:

SCOPE
MOV
MOV
MOV
MOV
MOV
CLR
MOV
MOV
RESET

TEST THAT RESET WILL CLEAR THE NAME MAT(CH FLAG

':tttttttttttttﬁtttiittt*tittttttttliittiittttttttl!ttitttttt'tit

#40,8TIMES
#50,8TESTN
#BIT13,3STKPT
257777 SANAME
#153777 .BUFFER
$GDDAT
#BUFFER, aDPC
DNAME , $8DADR

;.D0 40 ITERATIONS

;2SET TEST NUMBER IN APT MAIL BOX
;SET MAINT SWITCH 2

;SET ANAME FOR 11 BIT (COMPARE ON 3777
;SET UP NAME INSTR

JEXPECT ALL ZEROS

;START

JSET UP REG ADRS 24

;CLR DPU NAME REG (MAT(H)

SEQ 0036




(ZVSA-B VSO0 INSTRUCTION TEST
(ZVSAB.P11

1020
1021
1022
1023
1024

(3)

(3)

(2)

(2)
1025
1026
1027
1028
1029
1030
1031
1032
1033
1034
1035
1036
1037
1038

(3

(3)

(2)

(1)

(2)
1039
1040
1041
1042
1043
1044
1045
1046
1047
1048
1049
1050
1051
1052
1053
1054
1055
1054
1057
1058
1059

1061
1062
1063

1065
1066

010032
010040
010042

010044
010046
010054
010062
010070
010076
010104
010112
010120
010126
010134
010142
010750
010152

010154
010156
010164
010172
010200
010206
010214
010220
010224
010232
010240
010246
010254
010262
010266
010274
010302
010306
010314
010322
010326
010334
010336
010340
010342
010344
010352
010354
010356
010360
010362

017737
001401
104023

000004
012737
012777
012737
013737
012777
012777
012737
012777
012737
017737
023737
001401
104024

000004
012737
012737
012777
012737
012737
013701
042701
012761
012761
012737
052737
013777
012700
042737
012737
050037
012777
013737
005037
017737
100010
4047
000416
022626
017737
100401
104047
005300
100342
005337

29-MAY-79 10:10

172016

000051

001124

000002
000052
020000
000340
010266
001252
160000
010342
000340
010077
044000
001124
0060077
044000
150000
031076
031076
002054
177776
171522

171504

001124

PART 1

001126

001206
172000
177776
001122
171744
171736
031076
171702
001124
001126
001126

001166
001206
171662
177776
001110

000014
000016
001124
001124
171566

001124
031076

171514
001122

001126

001126

MACY11 30G(1063)

750

MOV
BEQ
ERROR

——

L 3
17-SEP~79 (08:43 PAGE 9-14
TEST THAT RESET WILL €' EAR THE NAME MAT(H FLAG

ADNAME , SBDDAT
TST51
23

JREAD IT
JJNEXT TEST IF ALL CLEARED
JRESET FAILED TO (CLEAR NAME MAT(H

R 2223222222233 2232232332322322223223 2223202223322 882232322322RaZRdsh2Rl,

S*TEST 51

2122321333322 22223222222R28 2 RRRR00dfRRtRsRRRiRsRRRARRRRRRRdal Al

TSTS1:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
CMP
BEQ
ERROR

TEST THAT THE

ASSOCIATIVF NAME REG DOES NOT CHANGE WITH ENA-O

#51,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
#8IT13,aSTKPT SSET MAINT SWITCH #2
#340,PSW :DON'T ALLOW INTERRUPT

DNAME , SBDADR :SET UP REG 24 ADRS

#57777 . 3ANAME  :SET UP FOR 11 BIT CMP ON VALUE #3777
#50000 SANAME  :NOW TRY WRITING O WITH ENA DISABLED
#153777 BUFFER -SET UP NAME INSTR WITH VALUE #3777
#8UF FER . aDPC .START

#113777.$GDDAT ;EXPECT NAME MATCH ON 11 BIT CMP VALUE #3777
ADNAME . $BDDAT  :GET DPU NAME REG CONTENTS
$GODAT.SBDDAT  :IS THERE A MATCH?

TST52 *ADVANCE TO NEXT TEST IF SO

24 “ASSOCIATIVE NAME CHANMGE ENABLE ER

e 2223232223232 823222223222302 22322330 d2222i0RRti0RRtRRRRRRRlal RSl

S«TEST 52

1ST52:

1%:

2%:

3%:

4%:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
BIC
MOV
MOV
MOV
BIS
MOV
MOV
BIC
MOV
BIS
MOV
MOV
CLR
MOV
BPL
ERROR
BR
(MP
MOV
BM]
ERROR
DEC
BPL
DEC

TEST THAT AN INTERRUPT WILL OCCUR ON 11 BIT NAME MAT(CH COMPARES

':ﬁtt*ttﬁ*tttt*t*t*ﬁtttt*ttt**ttttt*tttt***tttt**ttttﬁttttt**t*tt

#2,$TIMES ::DO 2 ITERATIONS

#52.8$TESTN ::SET TEST NUMBER IN APT MAIL BOX
#B1713,aSTKPT ;SET MAINT SWITCH #2
#340,PSW ;SET PSW TQ 7

#2$,SLPERR ;SET UP SCOPE LOOP ADRS

SVECT1,R1 :GET VECTOR ADRS

#160000,R1 : CLEAR PSW BITS *x B ne
#38,14(R1) ;SET UP NAME INT SER ADRS
#340,16(R1) SET UP PSW TO 7 ON INT
#10077.$GDDAT  -START WITH MAX VALUE
#66000,8GDDAT  ;SET SEACH CHANGE & NAME CHANGE ENABLES
$GDDAT,BANAME  :SET UP ASSOCIATIVE NAME REG

#77 R0 ;SET UP RO WITH MAX VALUE
#464000,8GDDAT  :CLR ENA BITS

#150000 ,BUFFER ;SET UP NAME INSTR

RO,BUFFER :SET UP NAME VALUE

#BUFFER, aDPC :START

DNAME , $8DADR :SET UP REG ADRS 24

PSW ALLOW INT TO OCCUR

aDNAME . $SBDDAT  -READ THE NAME REG

48 :BR IF NO MATCH

47 :NAME MATCH FAILED TO INTERRUPT
5% ;GO LOOK FOR LOOP ON TEST SwWITCH
(R6)+, (R6) + ;FIX STK SINCE NO RTI

aDNAME ,$BDDAT  ;READ NAME REG

4 :BR IF MATCH FLAG SET

47 :NAME MATCH INTERRUPTED BUT NO FLAG
RO :ADVANCE NAME VALUE IN RO

2% ;BR IF MORE VALUES TO TEST

$GDDAT ADVANCE VALUE FOR ASSO. NAME REG

SEQ 0037
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1067
1068
1069
1070
107

(3)

(3)

(2)

(2)
1072
1073
1074
1075
1076
1077
1078
1079
1080
1081

23
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C10366
010374
010376

010402
010404
010412
010420
010426
0104 34
010442
010450
010456
010464
010472
010474

010476
010500
010506
010514
010522
010530
010536
010544
010552
010560
010566
010570

010572
010574
010602
010610
010616
010624
010632
010640
010646
010654
010662
010670
010676
010700

022737
001324
004737

000004
012737
012777
012777
012737
013777
013737
017737
042737
023737
001401
104005

000004
012737
012777
012777
012737
013777
013737
017737
042737
023737
001401
104005

000004
012737
012777
012777
013777
012777
012737
013777
013737
017737
042737
023737
001401
104005

29-MAY-79 10:10

007777
024454

000053
020000
100005
000001
002000
002032
171356
177774
001124

000054
020000
100006
000002
002000
002032
171262
177774
001124

001124

PART 1

001124

001206
171442
171352
001124
171366
001122
001126
001126
001126

001206
171346
171256
001124
171272
001122
001126
001126
001126

OOOOIO A2

M 3
MACY11 30G(106%) 17-SEP=79 0B:43 PAGE 9-15

752 TEST THAT AN INTERRUPT WILL OCCUR ON 11 BIT NAME MAT.H (OMPARES
(MP #7777 ,8GDDAT ;SEE IF ALL VALUES HAVE BEEN TESTED
BNE 1% ;BR IF NOT
5¢%: JSR PC,RSTVEC JRESTORE NAME MAT(H VECTOR WITH HALT
IR RN AR R R AN R R AR RN AN R AN AR N AR AN R R AN R T AN R AR R AN A RN AN R RN
s«TEST 53 LOAD #1 INTO LINE TYPE REGISTERS

'.'**t**titﬁtitt*tﬁ*iltttititttitttittt*ttItitttttttttttttt***ttit

t$753: SCOPE
MOV #53,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
MOV #1713, 3STKPT “SET MAINT SWITCH #2
MOV #100005,aDBUF  ;LINE TYPE ENABLE =1 LINE TYPE -1
MOV #1,$GDDAT -LOAD EXPECTED
MOV DBUF , aDPC :LOAD DISPLAY P.cC.
MOV SREGO,$8DADR  -SET UP REG ADRS 02
MOV aSREGO, SBDDAT :READ DISPLAY STATUS REGISTER
BIC #177774 $BDDAT ;MASK TO BITS 1-0
CMP $GDLAT ., $8DDAT :COMPARE EXPCT TO RCVD
BEQ TST54 ;:BR IF EQUAL

ERROR 5 JLINE BIT O FAILED TO SET
RN R AR AR NA R AR AR R A AN AR AR RN AR R R AR NN R AR AR R R AR RN R RN AR R ARk R
JTEST 54 LOAD #2 INTO LINE TYPE REGISTERS
IR AR RN R R R RN AR AN R AR AN R RRNNARRARRRARRANRNRRNRRRRAARN AR RN
TST54: SCOPE

MOV #54 ,STESTN ;:SET TEST NUMBER IN APT MAIL BOX

MOV #BIT13,aSTKPT :SET MAINT SWIT(H #2

MOV #100006, aDBUF JLINE TYPE ENABLE =1 LINE TYPE -2
MOV #2,3GDVAT .LOAD EXPECTED

MOV DBUF ,aDP( .LOAD DISPLAY P.C.

MOV SREGO, $BDADR 2SET UP REG ADRS 02

MOV dSREGO, $BDDAT sREAD DISPLAY STATUS REGISTER
BIC #177774 ,$BDDAT ;MASK TO BITS 1-0

cMP $GDDAT, $BDDAT :COMPARE EXP(CT TO RCVD

BEQ TST55 ;:BR IF EQUAL

ERROR 5 JLINE BIT 1 FAILED TO SET
R R
;*TEST 55 CHECK LINE TYPE ENABLE GATE
R e N e Ty
TST55: SCOPE

MOV #55,8TESTN ;oSET TEST NUMBER [N APT MAIL BOX

MOV #81713,aSTKPT SSET MAINT SWITCH #2
MOV #100007.3DBUF  :LINE TYPE ENABLE =1 LINE TYPE -3

MOV DBUF ,aDP( ;LOAD DISPLAY P.C.
MOV #100000, aDBUF
MOV #3,8GDDAT sLOAD EXPECTED

MOV DBUF . aDPC

MOV SREGD,$BDADR  ;SET UP REG ADRS 02

MOV aSREGO, $SBDDAT :READ DISPLAY STATUS REGISTER

BIC #177774 ,$8DDAT  :MASK TO BITS 1-0

CMP $GDDAT, $BDDAT :COMPARE EXPCT TO RCVD

BEQ TSTS56 ::BR IF EQUAL

ERROR 5 “UINE TYPE ENABLE FAILED TO INWIBIT
*CHANGING OF LINETYPE VALUE

SEQ 0038
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010702
010704
010712
010720
010726
010732
010740
010746
010754
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010774
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000004
012737
012777
012777
005037
013777
013737
017737
042737
023737
001401
104027

000004
012737
012777
012737
012737
013777
013737
017737
042737
023737
001407
104027

000004
012737
012777
012777
013777
012737
012777
013777
013737
017737
042737
023737
001407
10402/

000004
012737

ST
0

000056
020000
100020
001124
002000
002032
171060
177767
001124

000057
020000
100030
000010
002000
002032
170764
177767
001124

000060
020000
100030
002000

000061

PART 1

OO0~ =20
OOO0OO~N ~NNO
—d ) —d =D —b h b
— ek —d b O O =)
OOV N NSO
ooorrUO PO

001206
171050
031076
001124
170774
001122
001126
001126
001126

001206
170754
170664
170706
001124
170642
170664
001122
001126
001126
001126

001206

N 3
MACY11 30G(1063) 17-SEP=79 08:43 PAGE 9~16
LOAD #0 INTO BLINK REGISTFRS

e 22233420023 2 ddfRRRRR R iRl tl Rt RRRilRdRRRRRRl RS RS

SxTEST 56

SR 223l idt Attt ddsiRAtiiisdRRIERERRAdSSRER R RRRRRRERAD

T56

1$TS6:

SCOPE
MOV
MOV
10}
CLR

ERROR

LOAD #0 INTO BLINK REGISIERS

#56,8TESTN ;oSET TES™ NUMBER IN APT MAIL BOX
#81T713,aSTKPT ;SET MAINT SWITCH #2
#100020.aDBUF  ;BLINK ENABLE =1 BLINK =0

$GDDAT ;LOAD EXPECTED

D3UF ,a8DPC( ;JLOAD DISPLAY P.C.

SREGO,$BDADR  :SET UP REG ADRS 02
aSREGO, SBDDAT SREAD DISPLAY STATUS REGISTER
#177767 . $8DDAT :MASK TO BIT 3

$GDDAT ,SBDDAT :COMPARE EXPCT TO RCVD
1ST57 ;.BR IF EQUAL
27 ;BLINK BIT FAILED TO RESET

et iii2i2 a2 dR 222 2d2 2R Rt 2t 202t 2 2ddfRRaRERD )]

LeTEST 57

A 2224432222822 R220RRRR2 22 2222 22020030 RERRRRRdZREA

TST57:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIC
CMP
8EQ
ERROR

LOAD #1 INTO BLINK REGISTERS

#57 ,8TESTN ;;SET TEST NUMSER IN APT MAJL BOX
#81713,aSTKPT JSET MAINT SWITCH #2
#100030 ,BUFFER ;BLINK ENABLE =1 BLINK =1
#10,$GDDAT -LOAD EXPECTED

DBUF ,aDP( ;LOAD DISPLAY P.(C.

SREGO,$BDADR  :SET UP REG ADRS 02
aSREGO, $BDDAT “READ DISPLAY STATUS REGISTER
2177767 ,$BDDAT  :MASK TO BIT 3

$GDDAT, $8DDAT ;. COMPARE EXPCT TO RCVD
TST60 ;.BR IF EQUAL
27 JBLINK BIT FAILED TO SET

2222 AS2 SRR3R Rt RdRRERRARSASSRAREAREERRRARRAREDE

LTEST 60

FrRARARNRAAANAARRRA AR AARARAARNRAARNAARAAAANRAAANARNRAANRNAARAN AR AR AL

15160:

SCOPE
MOV
MOV
Mov
MoV
MOV
MOV
MOV
MOV
MOV
8I(
(MP
BEQ
ERROR

CHECK BLINK ENABLE GATE

#60,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
#817T13,3STKPT SSET MAINT SWITCH #2
#100030.aDBUF  :LOAD BLINK ON

DRUF , abP(

#1T15,$GDDAT  ;LOAD EXPECTED

#100000,3DBUF  -BLJNK ENABLE =0 BLINK =0

DBUF ,aDP( *LOAD DISPLAY P.C.

SREGO,$8DADR  -SET UP REG ADRS 02

aSREGD , SBDDAT CREAD DISPLAY STATUS REGISTER
#177767.$8DDAT :MASK TO BIT 3

$GDDAT ,$BDDAT ;COMPARE EXPCT TO RCVD
3761 ;:BR IF EQUAL
27’ ;BLINK ENABLE FAILED TO INMIBIY

s CHANGING OF THE BLINK BIT

';tttttttttttttttittttﬁttt'ttittittﬁtttttlttttﬁtttttﬁtt*ttttttitt

LeTEST 61

S i 2222220222202 2R3 dCRRRRRRZRRRRRRRRRR AR

15161

~~n
L RS

MOV

TEST FOR FALSE L.P. STATUS FLAG (L.P. = NOT ENABLED)

#61,8TESTN ;sSET TEST NUMBER [N APT MAIL BOX

SEG 0039
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S
SAB.P11 29-MAY-79 10:10 161 TEST FOR FALSE L.P. STATUS FLAG (L.P. = NOT ENABLED)> SEQ 0040
151 011210 012777 020000 170644 MOV #81713, aSTKPT SSET MAINT SWITCH #2

152 011216 012737 100100 001124 MOV #100100,$GDDAT ;LP ENABLE =1 LP=0

153 011224 013777 001124 170546 MOV $GDDAT , 3DBUF ;LOAD BUFFER

15¢ 011232 013777 002000 170870 MOV DBUF ,aDP( ;LOAD DISPLAY P.C.

155 0112640 013737 002032 001122 MOV SREG0,$8DADR  -SET UP REG ADRS 02

156 011246 017737 170560 001126 MOV aSREGO, SBDDAT :READ STATUS

157 011254 032737 000200 001126 BIT #200,$8DDAT :

158 011262 001401 BEQ TST62 ::BR IF EQUAL

]28 011264 104034 ERROR 34 ;LIGHT PEN FLAG SET IN ERROR

]61 '-;tﬁtttttttttttﬁtt*t*tttttttt*ttttttttttt*ittttﬁﬁttt*ttittttt*ttt
&) ;«TEST 62 TEST FOR FALSE L.P. STATUS FLAG (L.P. = ENABLED)

(3) " ;ttwttttttttttttttt*ttlﬁttiﬁtttttttttttttt*ttttittttttﬁtttttt*tt
(2) 011266 000004 1$162: SCOPE

(2) 0112720 012737 000062 001206 MOV N62,$TESTN JJSET TEST NUMBER IN APT MAIL BOX
162 011276 012777 020000 170556 MOV #B]T13,3STKPT SSET MAINT SWITCH #2

163 011304 012737 100140 001124 MOV #100140,$GDDAT ;LP ENABLE =1 LP=1

164 011312 013777 001124 170460 MOV $GDPAT , 3DBUF :LOAD BUFFER

165 011320 013777 002000 170502 MOV DBUF , aDPC :LOAD DISPLAY P.C.

166 011326 (13737 002032 001122 MOV SIEGO,$BDADR  -SET UP REG ADRS 02

167 011334 017737 170472 001126 MOV a3REGO, SBDDAT :READ STATUS

168 011342 032737 000200 001126 BIT #200, SBDDAT

169 011350 001401 BEQ 157653 ;;BR IF EQUAL

};? 011352 104034 ERROR 34 ;LIGHT PEN FLAG SET IN ERROR

172 IR AN AR AR AR R AR AN N A AR AR R R R A AR RN RN AR RARR R RN AR A RN AR AR NNS
(3) J*TEST 63 LOAD #4 INTO INT LEVEL REG;STER

(3) " "ttt*tt*ttttt*tttt*tt*tttttttttt*t*tttttttt*tttttt*ttttiﬁttttt' *
(2) 011554 000004 TST63: SCOPE

(2) 011556 012737 000063 001206 MOV #63,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
173 011364 012777 (020000 170470 MOV #MIT13,8STKPT :SET MAINT SWITCH #2

174 011372 012777 103000 170400 MOV #103000,30BUF  ; INTENSITY LEVEL ENABLE =1 LEVEL =4
175 011400 012737 002000 001124 MOV #2000, $GODAT :LOAD EXPECTED

176 011406 013777 002000 170414 MOV DBUF ,aDP( :LOAD DISPLAY P.C.

177 011414 013737 002032 001122 MOV SREGO,$8DADR  :SET UP REG ADRS 02

178 011422 017737 170404 001126 MOV aSREGO, SBDDAT :READ DISPLAY STATUS REGISTER
176 011430 042737 174377 001126 BIC #1764377 SBODAT ;MASK TO BITS 8-10

180 011436 023737/ 001124 001126 CMP $GDDAT , $BDDAT ;COMPARE EXPCT TO RCVD

181 071444 001401 BEQ TST64 JiBR IF EQUAL

1%% 011446 104006 ERROR 6 SINTENSITY LEVEL BIT 10 FAILED

184 .-"ttttt*ttttttttitt**ttttttttttttttttttttitttttttttttittttttttttt

(3) TRTEST 64 LOAD #2 INTO INT LEVEL REGISTER

(3) ""tttttt*tttttttittttttliitt*ttttttttttttittttttttttttttttttttttﬁ

(2) 011450 000004 TST64: SCOPE

(2) 011452 012737 000064 001206 MOV #64,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX
185 011460 012777 020000 170374 MOV MIT13,a8STKPT :SET MAINT SWITCH 42

186 011466 012777 102600 170304 MOV 41026400 aDBUF  : INTENSITY LEVEL ENABLE =1 LEVEL =2
187 011474 012737 001000 001124 MOV #1000, SGDODAT ;LOAD EXPECTED

188 011502 013777 002000 170320 MOV DBUF , aDPC :LOAD DISPLAY P.C.

189 011510 013737 002032 001122 MOV SREGD,$8DADR  :SET UP REG ADRS 02

190 011516 017737 170310 001126 MOV BSREGO $BDDAT JREAD DISPLAY STATUS REGISTER
191 011524 042737 174377 001126 BIC #174377,$8DDAT ;MASK TO BITS 8-10

192 011532 023737 001124 001126 CMP $GDDAT, $BDDAT :COMPARE EXPCT TO RCVD

193 01150 0014601 BEQ TST6S ;.BR IF EQUAL

194 011542 104006 ERROR 6 “INTENSITY LEVEL BIT 9 FAILED
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011544
011546
011554
011562
011570
011576
011604
011612
011620
011626
011634
011636

000004
012737
012777
012777
012737
013777
013737
017737
042737
023737
001401
104006

000004
012737
012777
012777
012777
013777
005277
012737
013737
017737
042737
023737
001401
104006

000004
012737
012777
012777
005037
013777
013737
017737
042737
023737
001401
104030

001124

000066
020000
103200
100000
002000
170124
002400
002032
170106
174377
001124

000067
020000
170040
001124
002000
002032
170014
177757
001124

001206
170300
170210
001124
170224
001122
001126
01126
001126

001206
170204
170114
170110
170130

001124
001122
001126
001126
001126

001206
170076
170C06

170024
001122
001126
001126
001126

T64

C &
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LOAD #2 INTO INT LEVEL REGISTER

S A2 220 RRRR20RRdRRRRRSRRRRdRRRRRaR R RERRRRRRRRAARSAD

TeTEST 65 LOAD #1 INTO INT LEVEL REGISTER

T AR A RN AN AR AR ARARAR AR AARARAAAAAANR AN RRAN NN RAAAAAAN AR AN RN

TST6S:

SCOPE

MOV #65.$TESTN ;:SET TEST NUMBER IN APT MAIL 80X
MOV #B1713,aSTKPT SSET MAINT SWITCH #2

MOV #102200.30BUF  ; INTENSITY LEVEL ENABLE =1 LEVEL
MOV #4600, $GDDAT :LOAD EXPECTED

MOV DALE ., aDPC :LOAD DISPLAY P.cC.

MOV SREGO, $BDADR  :SET UP REG ADRS 02

MOV aSREGO, $BODAT
BIC #174377,$8DDAT :MASK TO BITS 8-10

cMP $GDDAT, $BDDAT :COMPARE EXPCT TO RCVD

BEQ TST66 ;:BR IF EQUAL

ERROR 6 JINTENSITY LEVEL BIT 8 FAILED
R AR AR R R R AN R RN A RN R RN A R R RN RRR AR AR RN AR RARNRRRRA RN RN R AR
;*TEST 66 CHECK INTENSITY LEVEL ENABLE GATE

;:tttt**itiﬁtRﬁit**ttttitttﬁtitttitittti*t*t*itttttitt*ttttttittt

TST66:

SCOPE

MOV #66,8$TESTN ::SET TEST NUMBER IN APT MAIL BOX
MOV #81713,aSTKPT ©SET MAINT SWITCH #2

MOV #103200,30BUF  ;LOAD LEVEL

MOV #100000.3DBUF1 - INTENSITY LEVEL ENABLE =0 LEVEL
MOV DBUF , 3DPC “LOAD DISPLAY P.C.

INC aDP( “SINGLE STEP THE DISPLAY

MOV #2400, $GDDAT ;LOAD EXPECTED

MOV SREGO.$8DADR  :SET UP REG ADRS 02

MOV aSREG(, $SBDDAT
BIC #174377,$8DDAT  :MASK TO BITS 8-10

CMP $GDDAT, $8DDAT :COMPARE EXPCT TO RCVD

BEQ 1ST67 ::BR IF EQUAL
ERROR 6 :INTENSITY LEVEL ENABLE FAILED TO
:INTENSITY LEVEL CHANGE
:'l!ttttt*t*tiltﬁttttt*.‘t'*iﬁ*t*tt‘*ﬁtﬁtﬁtt'tt‘tti*!ﬁ*'.t‘titttt
STEST 67 LOAD #0 INTO ITALIC REGISTER
;;i'ttttttttttttttttt*ttttttttﬁ!tttttttiﬁttttttitt*i*ttitttttttt*
TST67: SCOPE

MOV #67,$TESTN ©:SET TEST NUMBER IN APT MAIL 80X
MOV #8]17T13.asTkeT “SET MAINT SWITCH #2

MOV #170040,aDBUF  ;ITALICS ENABLE=1 ITALICS-0

CLR $GDDAT *LOAD EXPECTED

MOV DBUF , aDPC *LOAD DISPLAY P.C.

MOV SREGO,$8DADR  :SET UP REG ADRS 02

MOV aSREGO, SBDDAT
BIC #177757,$8DDAT :MASK TO BIT 4

CMP $GDDAT, $BDDAT :COMPARE EXPCT TO RCVD
BEQ 1ST70 ::BR IF EQUAL

ERROR 30 “ITALICS BIT FAILED TO RESET

S A ASASAd AR R RSt RdRRR SRRttt RtRRRRRRRRRRtRARR ]

TRTEST 70 LOAD #1 INTO ITALIC REGISTER

=1

;READ DISPLAY STATUS REGISTER

=0

sREAD DISPLAY STATUS REGISTER

INHIBIT

;READ DISPLAY STATUS REGISTER

SEQ 0041




(ZVSA-B  vS6C INSTRUCTION Tg

(ZVSAB. 29~-MAY-79 10:

(3)

(2)

(2)
1238
1239
1240
1241
1242
1243
1244
1245
1246
1247
1248
1249
1250

(3)

(3)

(2)

(e)
1251
1252
1253
1254
1255
1256
1257
1258
1259
1260
1261
1262
1263
1264
1265

(3)

(3)

(2)

(2)
1266
1267
1268
1269
1270
1271
1272
1273
1274
1275
1276
1277
1278
1279
1280
1281

(3)

P11

012040
012042

012242
012244
012252
012260
012266
012274
012302
012310
012316
012320
012322
012330
012336
012342
012350
012352

J00004
012737
012777
012777
012737
013777
013737
017737
042737
023737
001407
104030

000004
012737
012777
0127277
012777
013777
012737
005277
013737
017737
042737
023737
001401
104030

000004
012737
013737
012777
012737
013777
012737
017737
100401
104037
012737
012777
005037
017737
100001
104040

S
0

000070
020000
170060
000020
002000
002032
167720
177757
001124

000071
020000
170060
170000
002000
000020
167622
002032
167612
177757
001124

000072
002032
020000
172000
002000
100000
167516

160000
031076
001124
167464

T PART 1

001206
170004
167714
001124
167730
001122
001126
001126
001126

001206
167710
167620
167614
167634
001124

001122
001126
001126
001126

001206
001122
167574
031076
167526
001124
001126

031076
167472

001126

D 4
MACY11 30G(1063) 17-SEP-79 08:43 PAGE 9-19
170 LOAD #7 INTO IVALIC REGISTER

2228322222002 22000202disR 2t R R iR R il dRRARRER2

TST70: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIC
cMp
BEQ
ERROR

#70,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
#8]713,3STKPT SSET MAINT SWITCH #2
#170060,3DBUF  ;ITALICS ENABLE=1 ITALICS=1

#8174, SGODAT  :L0AD EXPECTED

DBUF , aDPC *LOAD DISPLAY P.C.

SREGO,$BDADR  -SET UP REG ADRS 02

aSREGO, $8DDAT :READ DISPLAY STATUS REGISTER
#177757 ,$BDDAT :MASK TO BIT 4

$GDDAT , $BDDAT :COMPARE EXP(CT TO R(VD
1ST71 ;3R IF EQUAL
30 JITALICS BIT FAJLED TO SET

‘;ttttttttttttltttt*tt**t't‘ﬁﬁ**“!t*l*iﬁtttttﬁitﬁtﬁttttt.tttttii

LeTEST 71

CHECK ITALIC ENABLE GATE

':ttltti'tttttttlt*ttttiﬁt'tﬁﬁtt*tt'ttttﬁ*!.t.ttttﬁﬁtttttttﬁttﬁit

TST71: SCOPE
MOV
MOV
MoV
MOV
MOV
MOV
INC
MoV
MOV
8I1C
CMP
BEQ
ERROR

#71,8$TESTN ;;SET TEST NUMBER IN APT MAJL BOX
#1713, QSTKPT oSET MAINT SWITCH #2
#170060,aDBUF  ;LOAD ENABLE

#170000,aDBUFT ;ITALICS ENABLE=0 ITALICS=0

DBUF .abDP(

M1 T4,$GDDAT ;LOAD EXPECTED

aDPC *SINGLE STEP THE DISPLAY
SREGO,$8DADR  :SET UP REG ADRS 02

ASREGO, SBDDAT -READ DISPLAY STATUS REGISTER
#177757 $8DDAT  :MASK TO BITS &

$GDCAT, SBDDAT :COMPARE EXPCT TO RCVD

TIST72 ;:BR IF EQUAL

30 “ITALICS ENABLE FAILED TO INMIBIT

sCLEARING OF ITALICS BIT

T A AN A AN AR AAA AR RN A AR CARAARAARNRAARNAANAARAA AN RRAANAS AN AR A AS

LaTEST 72

TEST INTERNAL STOP FLAG CAN SET AND RESET

°;ttt*iltttttt*tttﬁttkttttlttttﬁt**tl*ﬁ*t‘t**t"ﬁ*'ﬁttttttttti*it

TST72: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BMI
ERROR

1%: MOV
MOV
CLR
MOV
8PL
ERROR

#72.$TESTN ::SET TEST NUMBER IN APT MAIL BOY
SREGO,$BDADR  :SET UP REG ADRS 02

#1715, asTKPT SSET MAINT SWITCH #2
#172000,BUFFER ;''STOP'* BIT =1

DBUF , aDP( *LOAD DISPLAY P.C.

#B1T15, $GDDAT :LOAD EXPECTED

aSREGO . $BDDAT ‘READ DISPLAY STATUS REGISTER
13 :;BR IF SET

37 SI'INTERNAL-STOP'' BIT FAILED TO SET

#1600C0,BUFFER ;LOAD 'NOP'’
#BUFFER ,aDPC ;START DISPLAY

$GDDAT :CLEAR EXPECTED

aSREGO,$SBDDAT :READ DISPLAY STATUS REGISTER
1ST173 ;;BR _IF CLEARED

40 : 'INTERNAL=-STOP'' BIT FAILED TO RESET

A RSS2l Rl R0RRRRAR2RdRRRR SRR ARSRRRRARE R

TEST THAT RESET WILL CLEAR STOP, MODE, INTENSITY, ITALICS, BLINK & LINE

TeTEST 73

SEQ 0042
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012354
012356
012364
012372
012400
012406
012414
012422
012430
012434
012442
012446
012454
012456
0124064
012472
012474

012476
012500
012506
012514
012522
012530
012534
012540
012544
012552
012560
012566
012574
012600
012602
012604
012606
012614
012616
012620
012622
012630
012632
012634
012636
012640
012646
012650
012652
012654
012662
012664
012666

29-MAY-79 10:

000004
012737
012737
012777
012737
012737
012777
012737
005277
012737
005277
013737
000005
017737
023737
001401
104032

ST
0

000010
000073
020000
102637
170060
031076
002000
167374
172000
167362
002032

167350
001124

000100
000340
002032
172000
001252
160000
012620
000340
020040
173400
031076
177776

167220

167204

001124

173000

024454

PART 1

001166
001206
1674662
031076
031100
167406
00112¢

031102
001122

001126
001126

001166
177776
001122
001124

000002
167302
031076
167234

001126

001126

001126

03107¢

MACY11 30G(1063)
TEST THAT RESET wWlLL CLEAR STCP, MODE, INTENSITY, ITALICS, BLINK & LINE

173

E 4
17-SEP-79 08:43 PAGE 9-20

2282223222222 22ddRRd Al 2Rt didRiR 220 dRiiRRRRR R

TST73:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
MoV
INC
MOV
RESET
MOV
(MP
BEQ
ERROR

#10,$TIMES
#73.$TESTN
#BIT12, aSTKPT
#102637 ,BUFFER

#170060,BUF FER+2

#BUF FER,aDP(
#2000,$GDDAT
aDP(

#172000,BUFFER+4

aDP(
SREGO, $BDADR

@SRFGO, $BDDAT
$GDDAT , $8DDAT
TST74

32

;:D0 10 ITERAT]ONS
:2SET TEST NUMBER IN APT MAIL BOX
:SET UP MAINT Sw 2
;SET UP (CHAR

:SET UP ITALICS INSTR
:START
JEXPECT INTENSITY ONLY
:PICK UP ITALICS INSTR

;SET UP STOP INSTR

:PICK UP STOP INSTR
;SET UP REG ADRS 02
;CLR REG 02
JREAD REG

SEQ 0043

JALL BUT THE MSB OF INTENSITY SHOULD HAVE BEEN CLEARED

JNEXT TEST IF OK
JRESET FAILED TO SET UP REG 02

':**titlﬁﬁt‘*ttttt‘ﬁﬁﬁtttt'tlﬁttl‘itl‘il*lttttttttt.tﬁ.*ﬁittttlttt

LSTEST 74

15174 :

1%:

2%:

3%:

L%

5%:

SCOPE
MOV
MOV
MOV
MOV
MOV
BIC
MOV
MOV
MOV
MOV
MOV
CLR
cMP
TST
BEQ
MOV
ERROR
BR
(MP
MOV
TST
BNE
ERROR
BR
CMP
BEQ
ERROR
BR
MOV
CLR
BR
JSR

TEST THAT INTERNAL STOP WILL CAUSE AN INTERRUPT

'"tt*“.'tt‘*l’tll‘l’tl’.tittttttﬁlﬁ!‘.Il’"t't!!ﬁt‘t‘t*t.ﬁ'tttiﬁt‘!t'tt

#100,8TIMES
#340,PSW
SREGO, $BDADR
#172000,8GDDAT
$VECT1,RO
#160000,R0
#2%, (RO
#340G,2(R0O)
#20040,aSTKPT
#173400 ,BUFFER
#BUFFER,aDPC
PSW

(SP), (SP)

RO

5%

aSREGO, $BDDAT

5%
(SP)+,(SP)+
aSREGO, $BDDAT
RO

3%

33

3%

S$GDDAT, $3DDAT
4%

33
p)

s
#173000,BUFFER
RO
[} ]

PC,RSTVEC

::D0 100 ITERATIONS

JHIGHEST PRIORTY

;SET UP REG ADRS 02

JEXPECT STOP, MODE AND INTENSITY LEVEL ONLY
;GET INTR ADRS

; CLEAR PSW BITS

;SET UP RETURN ADRS
JHIGHEST PRIORTY ON INTR
;SET MAINT Sw 2

:ENABLE STOP INTR + STOP
;START

JALLOW INTR

JFUMBLE

(EXPECT INTR?

:BR IF NOT

;READ STATUS

:INTERNAL STOP FAILED TO INTR

;LOOK FOR LOOP ON TEST Sw

JFIX STACK SINCE NO RT]

JREAD REG 02

JEXPECT INIR?

;BR IF SO

JINTERNAL STOP INTR'ED WHEN NOT ENABLED
;GO LOOK FOR LOOP ON TEST Sw

;STATUS CORRECT?

;BR IF SO

;STOP FLAG NOT SET ON INTR

;GO LOOK FOR LOOP ON TEST Sw

:SET UP NOW WITH INTR NOT ENABLED
;INDICATE NO INTR

:REPEAT TEST

;GO RESTORE VECTORS

ar 8 xw
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012072
012674
012702
012710
012716
012722
012730
012736
012744
012752
012760
012762

012764
012766
012774
013002
013010
013016
013024
013032
013040
013046
013054
013056
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000004
012737
012777
012777
005037
013777
013737
017737
042737
023737
001401
104031

000004
012737
012777
012777
012737
013777
013737
017737
042737
02373’
001407
104031

000004
012737
013737
012777
012737
012777
012737
005277
005037
017737
042737
023737
00160
104031

ION TE
9 10:1

ST
0

000075
020000
170002
001124
002000
002042
167100
177677
001124

000076
02000¢
170003
000100
002000
002042
167004
177677
001124

000077
002042
020000
170002
031076
170001
166676
001124
166700
177677
001124

PART 1

001206
167152
167062

167100
001122
001126
001126
001126

001206
167060
166770
001124
167004
001122
001126
001126
001126

00120¢€
001122
166756
031076
166710
031100

001126
001126
001126

F 4
MACY11 30G(1063) 17-SEP=-79 08:4% PAGE 9-21
T75 LOAD #0 INTO MeNU REGISTER

e 3231233832222 00200dd2 002322 R R iRt il RRRRRRR Rl N

C«TEST 75

LOAD #0 INTO MENU REGISTER

222432002202 2RRARRRRissdRRtt R RtRtRRitdRRRRRlRRlRddl ]

1ST75: SCOPE
MOV
MOV
MOV
CLR
MOV
MOV
MOV
BIC
CMP
BEQ
ERROR

#75,8TESTN ;:SET TEST NUMBER IN APT MA]L BOX
#1713, aSTKPT SSET MAINT SWITCH #2
#170002,3DBUF  :MENU ENABLE=1 MENU=0

$GDDAT -LOAD EXPECTED

DBUF , aDP( *LOAD DISPLAY P.C.

SREG1,$8DADR  ;SET UP REG ADRS12

ASREGT,$BDDAT “READ DISP STATUS REGISTER
#177677 $BDDAT ;MASK TO'BIT 2

$GDDAT , $BDDAT :COMPARE EXPCT TO RCVD
TST76 ::BR IF EQUAL

3] "MENU BIT FAILED TO RESET

;tttttttttittt*t*iiﬁﬁiiti*tiiitttititttitittiIt*ititttttttt*titt

LSTEST 76

LOAD #1 INTO MENU REGISTER

e il 202000082223 dRR0RRRRsRRdRRRARRRARSRRRRRAR2RAdRRRASRRASRREN S

T1ST76: SCOPE
MOV
MOV
MOV
MOV
MOv
MOV
MOV
BIC
CMP
BEQ
ERROR

#76 ,8TESTN ;;SET TEST NUMBER IN APT MAIL BOX
MIT13,aSTKPT ;SET MAINT SWITCH #2
#170003, aDBUF JMENU ENABLE=T MENU-T
#8176,8GDDAT JLOAD EXPECTED

DBUF ,aDP( ;LOAD DISPLAY P.C.

SREG1,$8BDADR ;SET UP REG ADRS 12

aSREG1,$8BDDAT ;READ DISPLAY STATUS REGISTER
#177677 ,$8DDAT ;MASK TO BIT 2

$GDDAT ,$BDDAT :COMPARE EXPCT TO RCVD
TST77 ;:BR IF EQUAL

3 JMENU BIT FAILED TO SET

R AL AEASASA RS RRRlESRRRRRRRiRsaRRRdlRRRllRtR iR A)]

LaEST 77

CHECK MENU ENABLE GATE

A AL RAREAR SRRl RARRRlR RSttt RRRillsR il iRttt ddaRslilsll Rl

TST77: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
INC
(LR
MOV
B8IC
(MP
BEQ
ERROR

#77.$TESTN ;:SET TEST NUMBER [N APT MAIL BOX
SREG1,$8DADR  :SET UP REG ADRS 12
#1715, aSTKPT SSET MAINT SWITCH #2

#170002.BUFFER ;MENU ENABLE = 1 MENU = 0
#BUF FER,aDPC ;START DISPLAY

#170001 ,BUFFER+? JMENU ENABLE=0 MENU=T

aDP( ; RESUME

$GDDAT :LOAD EXPECTED

aSREG1, $8DDAT :READ DISPLAY STATUS REGISTER
#177677.$8DDAT :MASK TO BIT 2

$SGDDAT , $8DDA” :COMPARE EXPCT TO RCVD

TST100 ;:BR IF EQUAL

31 *MENU ENABLE FAILED TO INMIBIT

;RESETTING OF MENU BIT

oA Al i id iSRS RRRRAARRRARRSR22dRRRRRRRRRRRRRRRAAR2RRDRA R

T*TEST 100

TEST THAT LOAD STATUS ( INSTR CAN SET THE VECTOR SCALE

::ttIQ.tt.Q!ttttt'ti‘itttttttltQ!‘tﬁt*tt.!Qﬁti“tt'ltl.t‘ttitt.t‘

SEQ 0044
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(2)

(2)
1372
1373
1374
1375
1376
1377
1378
1379
1380
1381
1382
1383
1384
1385
1386
1387

(3)

(3)

(2)

(2)
1388
1389
1390
1391
1392
1393
1394
1395
1396
1397
1398
1399
1400
1401

(3)

(3)

(2)

(2)
1402
1403
1404
1405
1406
1407
1408
1409
1410
1411
1412
1413
1414
1415
1416
1417

013164
013166
013174
013202
013210
013216
013224
013232
013240
013246
013254
013262
013270
013272
013274
013300

013302
013304
013312
013320
013326
013334
013342
013350
013354
013362
013370
013376
013404
013406

013410
013412
313420
013426
013434
013442
013450
013456
013464
013472
013500
013506
013510
013512
013514
013522
013524
013532

000004
012737
012777
012737
012737
012737
053737
012777
013737
017737
042737
023737
001401
104025
005337
100346

000004
012737
012777
012737
012737
012777
012737
005277
013737
017737
042737
023737
001401
104025

000004
012737
012777
012737
012737
012737
012777
013737
017737
042737
023737
001402
001411
104026
162737
100404
162737
000746

000100
020000
013216
000017
154020
001124
031076
002042
166570
177760
001124

001124

0001
020000
154037
000017
031076
154000
166454
02047

66454
177760
001124

000102
020000
013450
154340
001400
031076
002042
166352
176377
001124

000400
000040

PART 1

001206
166660
001110
001124
031076
031076
166570
001122
001126
001126
001126

001206
166542
031076
001124
166466
031100

001122
001126
001126
001126

001206
166434
001110
031076
001124
166352
001122
001126
001126
001126

001124
031076

G 4
MACY11 3CG(1063) 17="pP=79 (8:43
TEST THAT LOAD STATUS (

7100
TSTi00: SCOPE
MOV
MOV
MOV
MOV
1%: MOV
BIS
MOV
MOV
MOV
BIC
(MP
BEQ
ERROR
DEC
B8PL

2%:

PAGE 9=2c
INSTR CAN SET THE VECTOR SCALE

#100,$TESTN
#a1T13 asTkpT
#18,SLPERR

#17 ,$GDDAT
#154020 ,BUFFER
$GDDAT ,BUFFER
#BUFFER ,aDP(
SREG1,SBDADR
aSREG1, SBODAT
2177760, $8DDAT
$GDDAT, $8DDAT
2$
25
$GDDAT
1%

;:SET TEST NUMBER [N APT MAIL BOX
;SET MAINT SWITCH #?2

;SET UP SCOPE LOOP ADRS

:START WITH ALL ONES

:SET UP INSTR AT BUFFER

JSET UP VECTOR SCALE AT INSTR LOC

;START

;SET UP REG ADRS 12

;READ VECTOR SCALE

JONLY INTERESTED IN VETTOR SCALE

:ARE THEY CORRECT?

;BR IF 0K

;VECTOR SCALE INSTR ER

;ADVANCE PATTERN

JBR |F NOT DONE

'."tt.'ttﬁ'iﬁtit.ﬁi.ttttt".‘.ttﬁ..ttittltttti.ttttit.ttt.ttttiti‘

TeTEST 107

TEST THAT THE VECTOR SCALE DOES NOT (HANGE

WHIN (HANGE ENA O

e Al iidi Al RRRRdsRRRRRRRRRRtRRRARRRRRRRRRRRRRRRRRRA R

TST101: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
MOV
BIC
cMP
BEQ
ERROR

#1071 ,$TESTN
#1713, 3STKPT
#154037 ,BUFFER
#17,8GDDAT
#BUFFER ,aDP(

#156000,BUFFER+2

aDP(
SREG1,$BDADR
ASREG?,$BDDAT
#177760,$BDDAT
$GDDAT ,$BDDAT
TST102

25

;2SET TEST NUMBER IN APT MAIL B0X
:SET MAINT SWITCH #2
LIOT UP INSTR AT BUFFER-VECTOR SCALE ENA SET
JSET UP VECTOR SCALE EXPECTED
JSTART
;SET UP INSTR AT BUFFER-NO VECTOR SCALE ENA
s RE SUME
;SET UP REG ADRS 12
JREAD VECTOR SCALE
SAVE VECTOR SCALE ONLY
;DOES IT STILL EQ 17
. cADVANCE TO NEXT TEST IF Ok
;VECTOR SCALE CHANGE ENABLE INSTR ER

e ii2idf 22022 RRRRRRRARRRRRRRRARRRRRRRRARRARERRADN

TEST THAT LOAD STATUS C INSTR CAN SET THE (HARA(CTER SCALE

s i iRl SRR ARl RARRRRRRRRRRRRRRARARSRERA

“*TEST 102

TST102: SCOPE
MOV
OV
MOV
MOV
MOV
1%: MOV
MOV
MOV
BI(C
CMP
BEQ
BEQ
ERROR
SUB
BMI]
SUB
BR

2%:

#102, S TESTN
MIT12,857vPT
#1881 PERR
#154340,BUFFER
#1400,8GDDAT
#BUFFER, aDP(
SREG?T, $SB8DADR
3SREGT, $8DDAY
2176377, $8DDAT
$GDDAT, $8DDAT

2$

T1ST103

26
#600,8GDDAT
1ST103
:gO.BUFFER

;:SET TEST NUMBER [N APT MAIL BOX
JSET MAINT SWITCH #2

JSET UP SCOPE LOOP ADRS

;SET UP INSRT AT BUFFER

:START WITH ALL ONES

;START

;SET UP REG ADRS 12

;READ CHAR SCALE

;SAVE (HAR SCALE ONLY

;IS 1T CORRECT?

;BR [F OK

;oADVANCE TO NEXT TEST IF Ok

;CHARACTER SCALE INSTR ER

;ADVANCE PATTERN

; cADVANCE TO NEXT TEST [f DONE

:ADVANCE PATTERN AT INSTR LOC

;DO NEXT (HAR SC(CALE

SEQ 0045
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1618
1419

(%)

(3

(2)

(27
1420
1421
1422
1423
1424
1425
1426
1427
1428
1429
16430
143
1432
1433

(3

(3)

(2)

(2)
1434
1435
1436
1437
1438
1439
1440
1441
1442
1443
1444
1445
1446
1447
1448
1449
1450

(3)

(%)

(2)

(2)
1451
1452
1453
1454
1455
1456
1457
1458
1459
1460
1461

013534
013536
013544
013552
073560
013566
013574
013602
013606
013614
013622
013630
013636
013640

013642
013644
013652
013660
013666
013674
013702
013710
013716
013724
013732
013740
013742
013744
013752
013754
013762

013764
013766
013774
014002
014010
014016
014024
014032
014036
014044
014052
014060
014066

000004
012737
012777
012737
012737
012777
012737
005277
013737
017737
042737
023737
001401
104026

000004
012737
012777
012737
012737
012737
012777
013737
017737
042737
02373/
001401
104026
162737
100404
162737
000747

000004
012737
012777
012737
012737
012777
012737
005277
013737
017737
042737
023737
001401

29-MAY-79 10:

000103
020000
154340
001400
031076
154000
166222
002042
166222
176377
001124

000104
020000
013702
155400
002000
031076
002042
166120
175777
001124

002000
000400

000105
020000
155400
002000
031076
154000
165772
002042
165772
175777
001124

PART 1

001206
166310
031076
001124
166234
031100

001122
001126
001126
01126

001206
166202
001110
031076
001124
166120
001122
001126
001126
001126

001124
031076

001206
166060
031076
001124
166004
031100

001122
001126
001126
001126

H 4
MACY11 30G(1063) 17-SEP=79 (B8:43 PAGE 9-23
7102 TEST THAT LOAD STATUS C INSTR CAN SET THE (HARACTER SCALE

S ii3123432423222202 0 202022 2 0dR2 2022 2RdRRRRRARRRER 2]

T*TEST 103

TEST THAT THE (HAR SCALE DOES NOT (HANGE WHEN (HANGE ENA-0O

e 2232320323200 22322282 ARl R R20R Rt RRRRRRRARRRRRRRRD RS

TST103: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
MOV
BIC
(MP
BEQ
ERROR

#103,$TESTN ;oSET TEST NUMBER IN APT MAIL BOX
#MBIT13,38STKPT ;SET MAINT SWITCH #2
#154340,BUFFER SET UP INSTR AT BUFFER-(HAR SCALE ENA SET
#1400,$GDDAT JSET UP (CHAR SCALE EXPECTED

#BUFFER ,aDPC ;START
JSET UP INSTR AT BUFFER-NO (HAR SCALE ENA

#154000,BUFFER+?
aDP(C :RESUME

SREG1, SBDADR *SET UP REG ADRS 12

aSREG] ,$BDDAT  :READ CHAR SCALE

#176377 ,$BUDAT  :SAVE CHAR SCALE ONIL Y

$GDDAT.$BDDAT  -IS IT CORRECT?

TST104 +;GO TO NEXT TEST IF NO CHANGE

26 “CHARACTER SCALE CHANGE ENABLE INSTR ER

';ttttttttttttiitttttttttitt*i**itttti*itttititt‘iiii.ttt.iiiittt

SATEST 106

TEST THAT LOAD STATUS C INSTR CAN SET THE CHARA(CTER ROTATE

';ﬁttttt*tttﬁttitt*t*ttttttttitiit*tiﬁi*ttttt'ﬁt'itt*tttﬁﬁtttt*tt

TST104: SCOPE
MOV
MOV
MOV
MOV
MOV

1¢: MOV
MOV
MOV
BIC
CMP
BEQ
ERROR

2%: SuR
BM]
SUB
BR

#104,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX
MRIT13,aSTKPT JSET MAINT SWITCH #2
#1%,SLPERR ;SET UP SCOPE LOOP ADRS

#155400.BUFFER  -SET UP INSTR AT BUFFER
#2000, $GDDAT “EXPECT CHAR ROTATE BIT
#BUFFER ,aDPC *START

SREG1, $8DADR :SET UP REG ADRS 12
aSREG],$8DDAT  ;READ CHAR ROTATE BIT
#175777 ,$8DDAT  :SAVE CHAR ROTATE BIT ONLY
$GCDAT.$8DDAT IS IT CORRECT?

prd 3 :BR IF 0K

26 *CHARACTER ROTATE INSTR ER

#2000, SGDDAT *ADVANCE PATTERN

157105 - :ADVANCE TO NEXT TEST IF Ok
#400,BUFFER :ADVANCE PATTERN AT INSTR LOC

1% *NOW WRITE A ZERO INTO CHAR ROTATE

S 2222222222202 R 2RARZRRRRR222 R0 R RdRRRRRRRR2R ]

TSTEST 105

TEST THAT THE CHARACTER ROTATE DOES NOT CHANGE WHEN CHANGE ENA=0

SE AL 0202222 00222 2 22t 2Rt 80 22222 R0RRERRDRZ

TST105: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
MOV
81C
(MP
BEQ

#105,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
#81T13,8STKPT SSET MAINT SWITCH #2

#155400 ,BUFFER  :SET UP INSTR AT BUFFER CHAR ROTATE ENA SET
#2000, $GDDAT “EXPECT CHAR ROTATE BI7

#BUFFER, aDPC *START

#154000,BUF FER+2

aDPC : RE SUME
SREG1,$8DADR *SET UP REG ADRS 12
aSREG] ,$BDDAT  :READ CHAR ROTATE B]7
#175777 ,$8DDAT  :SAVE CHAR ROTATE B!7
$GDDAT.$BDDAT  -IS IT SET?

1ST106 * ADVANCE TO NEXT IF Ok

SEQ 0046

JSET UP INSTR AT BUFFER-«#[THOUT (HAR ROTATE ENA
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1462
1463
1464
1465

(3)

(3)

(2)

(1)

\2)
1466
1467
1468
669
1470
1471
1472
1473
1474
1475
1476
1477
1478
147G
1480
1481

(3

(3

(2)

(2)
1482
1483
1684
1485
1486
1487
1488
1489
1490
1491
1492
1493
16494
1495
1496
1497

(3)

(3)

(2)

(2)
1498
1499
1500
1501
1502
1503
1504

014070

014072
014074
0146102
014110
014716
0146124
0146132
0146140
014146
014152
014160
014162
014170
0146176
0146200

014207
014204
014272
014220
014226
014234
014240
014246
014254
014262
014270
014276
014300
014302
014306
014314

014316
014320
014326
014334
014347
014350
014356
014364
014370

106026

000004
012737
012737
012777
012737
012737
012777
012737
005277
013737
000005
017737
023737
001401
104032

000004
012737
012737
012777
012737
005037
012777
013737
017737
042737
023737
001401
104007
005237
062737
103351

00004
12737
13737
012777
012777
013777
012737
005277
005037

(ole o]

29-MAY-79 10:10

000040
000106
020000
155733
170003
031076
000404
165656
002042

165654
001124

000107
014240
020000
174100
001124
031076
002034
165554
001777
001124

031076
002000

000110
002034
020000
174100
002000
174077
165440
001124

PART 1

001166
001206
165744
031076
031100
165670
001124

001122

001126
001126

001206
001110
165634
031076

165562
001122
001126
001126
001126

001124

001206
001122
165520
165430
165452
031100
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1105 TEST THAT THE (HARACTER ROTATE DOES NOT (HANGE WHEN (HANGE ENA-0

ERROR 26 :CHARACTER ROTATE C(CHANGE ENABLE INSTR ER
,'"ﬁﬁ't‘ﬂ'iﬁﬁﬁ‘ﬁ*'t..Q'ﬁ"‘***.'ﬁ."“*it.li."tﬁ'*tﬁ*"ttt'tttl‘"
;+TEST 106 TEST THAT RESET WILL CLEAR ROTATE, (HAR SCALE, MENU & VECTOR SCALE
".‘"ﬁ"ttiﬁﬁl.IQ"Qﬁ'l'.*lﬁ“t'..ﬁl‘Qﬁ*tt***ll‘ﬁi.tiﬁ'.l‘ittﬁ‘t'tlQ"
TST106: SCOPE

MOV #40,8$TIMES ::DO 40 ]ITERATIONS

MOV #106,8$TESTN J2SET TEST NUMBER [N APT MAIL BOX

MOV #31T13,8STKPT  “SET MAINT SW 2

MOV #15573%, BUFFER :SET UP 'LOAD STATUS C' INSTR
MOV #170003,BUFFER+2" ;SET UP MENU INSTR

MOV #BUFFER.BDPC  ;START

MOV #404 ,8GDDAT JEXPECT MSB OF VECTOR SCALE ONLY
INC aDP( ;PICK UP MENU INSTR

MOV SREGT,$BDADR ;SET UP REG ADRS 12

RESET ;CLR REG 12

MOV aSREG1,$BDDAT  ;READ STATUS REG 1

(Mp $GDDAT ,$BDDAT ;IS IT CORRE(T?

BEQ 1ST107 S oNEXT TEST IF OK

ERROR 32 JRESET FAILED TO SET UP REG 12

; GRAPHPLOT INCREMENT REGISTER TESTS

A RARNRAARAARANRAAAARA A AR AN TR AANRRAAARRRARNARAANRANAARAR AR AR AN AT NN

:*TEST 107 LOAD 0-77 INTO GRAPHPLOT INCREMENT REGISTER
""t‘t**ttitﬁtt*ttttttﬁﬁtttttttﬂtttttiﬁttﬁtttttﬁtﬁtl‘ttillttttttttﬁi
T57T107: SCOPE
MOV #107 ,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX
MOV #18,SLPERR ;SET UP SCOPE LOOP ADRS

MOV #1713,aSTKPT JSET MAINT Sw 2
MOV #176100,BUFFER ;LOAD GRAPHPLOT INSTR

(LR $GDDAT ;LD EXPECTED
1%: MOV #BUFFER,aDP( ;START
MOV XPQS , $SBDADR ;SET UP REG ADRS 04

MOV aXPQOS , $8DDAT JREAD GRAPHPLOT
BI( #1777 ,38DDAT ;SAVE ONLY GRAPHPLOT
(MP $GDDAT ,$BDDAlT  ,CORREC(CT?

BEG 28 :BR IF SO

ERROR 7 :GRAPHPLOT FAILED "0 LOAD CORRECTLY
28: INC  BUFFER :ADVANCE GRAPHPLOT AT INSTR

ADD  #2000,$GDDAT  :ADVANCE EXPECTED

BCC 1% :BR IF NOT COMBS TESTED
G NERERAARA N ARAARARARARARRARARNAARARNRAAARNANRARRANNRAARRAANAAR RN AT ARAR
SRTEST 110 CHECK THE GRAPHPLOT INCREMENT ENABLE REGISTER
.'.'.'l‘**l’itl‘t!ﬁt‘tttl'l‘ﬁ."l".!‘tlﬁ.ﬁ'*"‘lﬁt!.t‘ﬁ‘tt".t..tt"'t'ilt
T§T110: SCOPE

MOV #110,STESTN  ;;SET TEST NUMBER IN APT MAIL BOX

MOV XPOS , SBDADR *SET UP REG ADRS 04

MOV #1713, aSTKPT SSET MAINT SWITCH #2

MOV #176100,3DBUF  ;LOAD GRAPHPLOT COUNTER WiTH 0
MOV DBUF ,aDP( *START DISPLAY

MOV #176077 ,BUFFER+2 :LOAD GRAPHPLOT NG ENABLE
INC abP( : RE SUME

CLR $GDDAT *LOAD EXPECTED

SEQ 0047
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CZVSAB.P11 29-MAY-79 10:10 T110  CHECK THE GRAPHPLOT INCREMENT ENABLE REGISTER SEQ 0048
1505 014374 017737 165434 001126 MOV axPOS, $BDDAT ;READ INCREMENT REGISTER
1506 014402 042737 001777 001126 BIC #1777 $BDDAT  :MASK TO BITS 15-10
1507 0144710 023737 001124 001126 CMP $GDDAT ,$BDDAT ;COMPARE EXPCT TO RCVD
1508 014416 001401 BEQ TST111 ;:BR IF EQUAL
1509 074420 1040CG7 ERROR / :GRAPHPLOT REGISTER CHANGED WITHOUT
1219 : THE ENABLE BEING SET
1§12 ;;ttttttttttitttt**tt'tttttt*tttttttttttﬁtttttt*ttttittittttt*int
&) ;«TEST 111 TEST THAT RESET WILL CLEAR GRAPHPLOT INCREMENT
(3) ;;t*t*t*tttttit*t*t*ttttttittttittitttttttttttttttttttttttttitttt
(2) 014422 000004 TST111: SCOPE
(1) 014424 012737 000040 001166 MOV #40,$TIMES ::DO 40 ITERAT]ONS
(2) 014432 012737 000111 001206 MOV £111,$TESTN SSSET TEST NUMBER IN APT MAIL 30X
1513 014440 013737 002034 001122 MOV XPOS . $8DADR “SET UP REG ADRS 04
1514 014446 012777 020000 165406 MOV #BITI3.3STKPT  :SET MAINT SW 2
1615 014454 012737 1724177 031076 MOV #1764177 BUFFER -SET UP GRAPHPLOT INCREMENT [NSTR
1516 014462 012777 031076 165340 MOV #BUFFER . aDPC *START
1517 014470 005037 001124 CLR $GDDAT *EXPECT ZERD
1518 014474 000005 RESET *CLR REG 04
1519 014476 017737 165332 001126 MOV axPOS,$8DDAT  -READ REG 04
1520 014504 001401 BEQ TST112 JINEXT TEST IF ZERO
}gsg 014506 104032 ERROR 32 JRESET FAILED TO CLR GRAPHPLOT INC
1523 ;;tttttttttttttttt*tttttttt**ttttitttttttt*tttttttttt*titttt*tttt
(3 J«TEST 112 TEST THAT LOAD STATUS B INSTR CAN SET THE COLOR LEVEL
(3) ;;ttttt*ttttﬁttttt*tttttttttt**ttﬁttittttttttﬁﬁttttttttttttttttt*
(2) 014510 000004 TST112: SCOPE
(2). 014512 012737 000112 001206 MOV #112,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
1524 014520 012777 020000 165334 MOV #31T13,8STKPT SSET MAINT SWITCH 42
1525 014526 012737 014550 001110 MOV #1%,SLPERR ;SET UP SCOPE LOOP ADRS
1526 014534 012737 175600 031076 MOV #175600,BUFFER  :SET UP INSTR AT BUFFER
1527 014542 012737 000014 001124 MOV #14,$GDDAT *EXPECT ALL ONES AT START
1528 014550 012777 031076 165252 1%: MOV #BUFFER,aDPC  :START
1529 014556 013737 002052 001122 MOV CONS, $8DADR “SET UP REG ADRS 22
1530 014564 017737 165262 001126 MOV aCONS,$BDDAT  :READ COLCR LEVEL
1531 014572 042737 177763 001126 BIC #177763,$80DAT  -ONLY INTERESTED IN THE COLOR LEVEL
1532 014600 023737 001124 001126 CMP $GDDAT.$BDDAT IS IT CORRECT?
1533 014606 001401 BEQ 2$ *BR IF OK
1534 014610 104035 ERROR 35 :COLOR LEVEL INSTR ER
1535 014612 162737 000004 001124 2%: SUB #4 ,$GDDAT *ADVANCE PATTERN
1536 0146620 100404 BMI TST113 ::ADVANCE TO NEXT TEST IF ALL PATTERNS TESTED
1537 014622 162737 000200 031076 SUB #200,BUFFER ;SET UP NEXT PATTERN AT INSTR LOC
;ggg 014630 000747 BR 1$ “TRY NEXT PATTERN
1540 ;:tltttttttlﬁttttttttttttttt*tttttitttttttttttttt*ttttttttt*ttttt
(%) ;«TEST 113 TEST THAT THE COLOR LEVEL DOES NOT (CHANGE WHEN CHANGE ENA-O
(3) ;;ttﬁtttttttttttt*tttttttttttttttttttttttttttﬁttttttittttttttittt
(2) 014632 000004 TST113: SCOPE
(2) 014634 012737 000113 001206 MOV #113,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
1541 014642 012777 020000 165212 MOV #1T13,aSTKPT SSET MAINT SWITCH #2
1542 014650 012737 175600 031076 MOV #175600,BUFFER  ;SET UP INSTR AT BUFFER-COLOR LEVEL ENA SET
1543 014656 012737 000014 001124 MOV 214, SGDDAT SSET UP COLOR LEVEL EXPECTED
1544 014664 012777 031076 165136 MOV #BUFFER ., aDPC ‘START
1545 014672 012737 1764000 031100 MOV #174000.BUFFER+2 sSET UP INSTR AT BUSFER-NO COLOR LEVEL FNA
1546 014700 005277 165124 INC aDP( : RE SUME

1547 014704 013737 002052 001122 MOV CONS,$BDADR ;SET UP REG ADRS 2¢
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CZVSAB.

1550

SNV UVTVINNAND RN (NN UYWL

NNV A o~ ~ VAN
%Om\lo«mvvvvbwm—-

P11

014712
014720
014726
014734
014736

014740
014742
014750
014756
014764
014772
015000
015006
015014
015022
015030
015036
075040
015042
015050
015052
015060

216

OOOOCOOOOO
o e Sour Glasr ur Qi Qs Ghin Shaurd
ALV, LU, LU, LV, AV, AV, IV, |

017737
042737
023737
001401
104035

C00004
012737
012777
012737
012737
012737
012777
013737
017737
042737
023737
001401
104036
162737
100404
042737
000747

000004
012737
012777
012737
012737
012777
012737
005277
013737
005777
100403
005037
104036

000004
012737
012777
013737
012737
012737
012777
013737
017737

165134
177763
0V1124

000114
020000
015000
100000
164300
031076
002052
165032
077777
001124

100000
000100

000115
020600
100000
164300
031076
164000
164674
002052
164704

001126

000116
020000
015216
001000
164700
031076
002052
164614

001126
001126
001126

001206
165104
001110
001124
031076
165022
001122
001126
0011¢6
001126

001124
031076

001206
164762
001124
031076
164706
031100

001122

001206
164666
001110
001124
031076
164604
001122
001126
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T113 TEST THAT THE COLOR LEVEL DOES NOT C(4ANGE WHEN CHANGE ENA=0

MOV JCONS , $8DDAT ;READ COLOR LEEL
8IC #177763,8BDDAT  ;ONLY INTERESTED IN THE COLOR LEVEL
(MP $GDDAT ,$BDDAT ;IS IT CORRECT?

BEQ TST114 : ADVANCE TO NEXT 1EST IF OK

ERROR 35 :COLOR LEVEL CHANGE ENABLE INSTR ER
;;ttttittttﬁtitttttﬁittti*t*tttﬁﬁﬁtttﬁttti*ﬁﬁtt*‘*tttttttt**tttt*
SNTEST 114 TEST THAT NOP INSTR CAN SET & RESET INTENSITY ENABLED-CONSOLt O
;:ttttttttﬁﬁtﬁt**i*tﬁtiﬁ‘ﬁﬁ*lﬁtﬁttﬁt*t**tﬁﬁt‘ﬁﬁ***t*tt*ﬁti**t*tit
TST114: SCOF_

MOV #114 ,STESTN ;;SET TEST NUMBER IN APT MAIL BOX

MOV #81T13,@STKPT ;SET MAINT SWITCH #2

MOV #1$,SLPERR :SET UP SCOPE LOOP ADRS
MOV #100000,$GDDAT  -EXPECT 1T TO BE SET INITIALLY
MOV #164300.BUFFER :SET UP INSTR LOC
1$: MOV #BUFFER, aDPC .START
MOV CONS ., $8DADR *SET UP REG ADRS 22
MOV aCONS,$8DDAT  :READ CONSOLE O INT ENA REG
BIC #77777 ,$8DDAT  :SAVE ONLY INTENSITY ENABLE BIT
CMP $GDDAT.$BDDAT  :IS IT CORRECT?
BEQ 28 :BR IF SO

ERROR 36 ;CONSOLE O INTENSITY ENABLE INSTR ER
2%: SUB #100000,8GDDAT ;GO TO RESET STATE

BM] TST115 ;.60 TO NEXT TEST IF BOTH STATES TESTED

BIC #100,BUFFER ;CLR INT ENABLED BIT AT INSTR LOC

BR 1% ;GO TRY RESET STATE

iR ii St isdd il sttt iliali i iR R REl2 S]]

S*TEST 115 TEST THAT CONSOLE O INTENSITY ENABLED DOES NOT RESET WHEN ENA=0

AR AN N AR R AR R R AR AN NN NN R AR AR RNV R AR NN AN R R R AR RA AN AR NN AR R AR
TST115: SCOPE

MOV #115,$TESTN ;.SET TEST NUMBER IN APT MAIL BOX

MOV #B]T13,aSTKPT JSET MAINT SWIT(H #2

MOV #100000, $GDDAT ;EXPECT INTENSITY TO BE SET

MOV #164300,BUFFER ;SET UP INSTR

MOV #BUFFER,aDP( ;START

MOV #16400C ,BUFFER+?2 JSET UP INSTR WITh ENA=Q

INC aDP( JADVANCE TO NEXT INSTR

MOV CONS , $BDADR ;SET UP REG ADRS 22

TST aCONS ;IS INTENSITY STILL SET?

BMI TST116 ;.ADVANCE TO NEXT TEST IF STILL SET

CLR $8DDAT ;INDICATE IT WAS CLEARED

ERROR 36 ;CONSOLE O INTENSITY CHANGE ENABLE INSTR ER
R T R Y
JoTEST 116 TEST THAT NOP INSTR CAN SET B RESET INTENSITY ENABLED-CONSOLFE 1

':tit*tittttltt*ttttttttt't*tttiitittttQitt**tttttt'ﬁttttttttt'ﬁt

7ST176: SCOPE
MOV #116,$TESTN ;:SET TEST NUMBER IN APT MAJL BOX
MOV ¥81T13,3STKPT “SET MAINT SWITCH #2
MOV 18, $LPERR :SET UP SCOPE LOOP ADRS
MOV #1000, $GDDAT  EXPECT IT 10 BE SET INITIALLY
MOV #164700,BUFFER  :SET UP INSTR LOCATION
18 MOV #BUFFER.aDPC  -START
MOV CONS , $8DADR SSET UP REG ADRS 22
MOV aCONS . $8DDAT “READ CONSOLE 1 INT ENA REG

SEQ 0049
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1592
1593
1594
1595
1596
1597
1598
1599
1600
1601
(3)
(3)
(2)
(2)
1602
1603
1604
1605
1606
1607
1608
1609
1610
1611
1612
1613
1614
(3)
(3)
(2>
(2)
1615
1616
1617
1618
1619
1620
1621
1622
1623
1624
1625
1626
1627
1628
1629
1630
1631
(3)
(3)
(2)
(2)
1632
1633
1634
1635

015240
015246
015254
015256
015260
C15266
015270
015276

015300
015302
015310
015316
015324
015332
015340
015346
015352
015360
015366
015370
015374

015376
015400
015406
015414
015422
015430
015436
015444
015452
015460
015466
015474
015476
015500
015506
015510
015516

015520
015522
015530
015536
015544
015552

042737
023737
00140
104036
162737
100404
042737
000747

000004
01737
012777
012737
012737
012777
012737
005277
013737
032777
001003
005037
104036

000004
012737
012777
012737
012737
012737
012777
013737
017737
042737
023737
001401
104042
162737
100404
042737
000747

000004
012737
012777
012737
012737
012777
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176777
001124

001000
000100

000117
020000
001000
164700
031076
164400
164456
002052
001000

001126

000120
020000
015436
004000
164060
031076
002052
164374
173777
001124

004000
000020

000121
020000
004000
164060
031076

PART 1

001126
001126

001124
031076

001206
164544
001124
031076
164470
031100

001122
1646464

001206
164446
001110
001124
031076
164364
001122
001126
001126
001126

001124
031076

001206
164224
001124
031076
164250
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T116 TEST THAT NOP INSTR (AN SET € RESET INTENSITY ENABLED-CCNSOLE 1

81C
(MP
BEQ
ERROR

2%: SuB
8MI
BIC
BR

#176777 ,$B3DAT ;SAVF ONLV INT ENA
SgDDAT *8DDAT ;IS IT CORRECT?

l :BR IF 0K

36 *CONSOLE 1 INTENSITY ENABLE INSTR ER
#10C0,$GDDAT  -GO TO RESET STATE

TSTI17 *-GO TO NEXT TEST IF BOTH STATES TESTED
#100,BUF FER SCLR INT ENABLED BIT AT INSTR LOC

1% :GO TRY RESET STATE

2422233208203 2dd 8022l it iRl R 002220t RR2dd2S !

SxTEST 117

T-ST THAT CONSOLE 1 INTENSITY ENABLED DOES NOT RESET WHEN ENA=0

At Adl iRt 2dd RSttt R o 20 RRRR2Rd S

TST117: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
817
BNE
(LR
ERROR

¥117,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
#1713, aSTKPT SSET MAINT SWITCH #2
#1000,$GDDAT  ;EXPECT INTENSITY TO BE SET
#166700.BUFFER :SET UP INSTR

#BUFFER.SDPC  :START

#164400,BUFFER+? JSET UP INSTR WITH ENA=0

aDPC sADVANCE TO NEXT INSTR

CONS, $BDADR ;SET UP REG ADRS 22

#1000, aCONS oIS INTENSITY STILL SET?

TST120 ;;ADVANCE TO NEXT TEST IF STILL SET

$8DDAT sINDICATE IT WAS CLEARED

36 ;CONSOLE 1 INTENSITY CHANGE ENABLE INSTR ER

AR AANAAAARANANARARNAAAAAARN R AN RASIAARARRARARAAARNRAARARANAARARAARRA R A AR

T*TEST 120

TEST THAT NOP INSTR CAN SET & RESET L.P. INTR ENABLED-CONSOLE O

et s i iR dd RS0 R2dRd Rt iRt RRRRRRRRER SRR RRRREA R

TST120: SCOPE
MOV
MOV
MOV
MOV
MOV

1%: MOV

2%: SuB

#120,$TESTN 2sSET TEST NUMBER IN APT MAIL BOX
#81T13,aSTKPT ;SET MAINT SWITCH #2
#18,SLPERR sSET UP SCOPE LOOP ADRS '

#4000,8GDDAT  EXPECT IT TO BE SET INITIALLY
#166060.BUFFER :SET UP INSTR LOC

#BUFFER . aDPC *START

CONS, $8DADR :SET UP REG ADRS 22

aCONS,$BDDAT  -READ CONSOLE O LP INTR ENABLED REG
¥173777 .$BDDAT :SAVE ONLY LP INTR ENABLED BIT
3gDDA1.SBDDAT *IS IT CORRECT?

;BR IF 0K
&2 ;CONSOLE O L.P. INTR ENABLE INSTR ER
#4000,$GDDAT ;GO TO RESET STATE
TST121 ;;ADVANCE TO NEXT TEST IF BOTH STATES TESTED
#20,BUFFER ;CLR THE ENABLED BIT AT INSTR LOC
1% ;GO TRY RESET STATE

LA A AR AT AN A A AN AN AR R A A AAR A AR RN AR AR AR AAAAN AN AR AN RN RN

TRTEST 121

TEST THAT CONSOLE O L.P. INTR ENABLED DOES NOT RESET WHEN ENA=Q

St 2e 2l dssl ittt iastitiddsd Rl iRRERRtR3RRRRRRRR2RARRA

TST121: SCOPE
MOV
. MOV
MOV
MOV
MOV

#121,$TESIN ;.SET TEST NUMBER IN APT MA]L BOX
#81713,aSTKPT JSET MAINT SWITCH #2

#4000, $GDDAT JEXPECT L.P. INTR ENABLED TO BE SET
#1664060,BUFFER ;SET UP INSTR LOC

#8UF FER ,aDPC ;START

SEQ 0050
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—_ e — b
RERCSRGARRE
NN s NN

) d b
SHEL
OV

1651

—_
oOn
Vi
WM

1654
1655
1656
1657
1658
1659
1660
1661

(3)

(3)

(2)

(2)
1662
1663

1665
1666
1667

1669
1670
1671
1672
1673
1674

(3)

(3)

(2)

(2)
1675
1676
1677
1678
1679

015560
015566
015572
015600
015606
015610
015614

015616
015620
015626
015634
015642
015650

015736

015740
015742
015750
015756
015764
015772
016000
016006
016012
016020
016026
016030
016034

016036
016040
016046
016054
016062
016070
016076

012737
005277
013737
032777
0010C3
005037
104042

000004
012737
012777
012737
012737
012737
012777
013737
017737
042737
023737
001407
104042
162737
100404
042737
000747
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164000
164236
002052
004000

001126

000122
020000
015656
000040
164460
0%1076
002052
164154
177737
001124

000040
000020

000123
020000
000040
164460
031076
164400
164016
002052
000040

001126

000124
020000
016076

031076
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031100

001122
164244

001206
164226
001110
001124
031076
164144
001122
001126
001120
001126

001124
031076

001206
164104
001124
031076
164030
031100

001122
164024

001206
164006
001110
001124
031076
163724
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T121  TEST THAT CONSOLE O L.P.

INTR ENABLED DOES NOT RESET WHEN ENA-O SEQ 0051

MOV #164000,BUFFER+? :SET UP INSTR WITH ENA=0

INC aDPC :ADVANCE TO NEXT INSTR

MOV CONS , $BDADR *SET UP REG ADRS 22

8IT #4000, 3CONS “1S L.P. INTR ENABLED STILL SET?

BNE TST122 " ADVANCE TO NEXT TEST IF STILL SET

CLR $8DDAT “INDICATE IT WAS CLEARED

ERROR 42 CONSOLE O L.P. CHANGE INTR ENABLE INSTR ER
;:tttt**ttttttttttttttti'ttﬁt*tttttﬁttﬁﬁﬁtt*itﬁﬁt*'t*iiititt*t*it
LeTEST 122 TEST THAT NOP INSTR CAN SET & RESET L.P. INTR ENABLED~CONSOLE 1
:;titﬁ*ttittﬁtttt*tttt*tﬁtﬁﬁiﬁt*tttﬁ&tt*ttt**Qt**tﬁt**ﬁtttﬁﬁﬁt**t
tST122: SCOPE

MOV #122,8TESTN ::SET TEST NUMBER IN APT MAIL 80X

MOV #81T13,aSTKPT SSET MAINT SWITCH #2

MOV #1$,SLPERR ;SET UP SCOPE LOOP ADRS

MOV #40.$GDDAT SEXPECT IT TO BE SET INITIALLY

MOV #1646460,BUFFER  :SET UP INSTR LOC
1$: MOV #BUFFER.GDPC  :START

MOV CONS, SBDADR SSET UP REG ADRS 22

MOV aCONS,$BDDAT  :READ CONSOLE 1 LP INTR ENABLED REG
8IC #177757.$8DCAT :SAVE ONLY LP INTR ENABLED BIT

CMP $GDDAT,$BDDAT IS IT CORRECT?

BEQ 2% ;BR IF OK
ERROR 4/ JCONSOLE 1 L.P. INTR ENABLE INSTR ER
’%: SUB #40,SGDDAT ;G0 TO RESET STATE
BM] TST123 ;;ADVANCE TO NEXT TEST IF BOTH STATES TESTED
BIC #20 ,BUFFER ;CLR THE ENABLED BIT AT INSTR LOC
B8R 1% ;GO TRY RESET STATE
IR AR AR N R AR R R RR R AR N AN NN RN AN AR RN R R ARANARANAN AR R
s«TEST 123 TEST THAT CONSOLE 1 L.P. INTR ENABLED DOES NOT RESET WHEN ENA=0

IR AR NARRAN AR KRN N AR VR AN R A AR RN R AR R RN R R ARRANARRANN R AN RN RNR AN
1ST123: SCOPE
MOV #123,8TESTN ;.SET TEST NUMBER IN APT MAIL BOX
MOV #BI1T13,aSTKPT JSET MAINT SWIT(H #2
MOV #60,SGDDAT JEXPECT L.P. INTR ENABLED TO BE SET
MOV #164460,BUFFER ;SET UP INSTR LOC
MOV #BUFER,aDP( ;START

MOV #166600,BUFFER+2 JSET UP INSTR WITH ENA=Q

INC aDPC ;ADVANCE TO NEXT INSTR

MOV CONS, $8DADR ;SET UP REG ADRS 22

BIT #40,aCONS ;1S L.P. INTR ENABLED STILL SET?

BNE TST124 . .ADVANCE TO NEXT TEST IF STILL SET

CLR $BDDAT ;INDICATE IT WAS CLEARED

ERROR 42 ;CONSOLE 1 L.P. CHANGE INTR ENABLE INSTR ER

';ttttit*tt'!lttttttttttttttttttittttittttttit*t*ttt'ttitt*tttt"

STEST 126 TEST THAT NOP INSTR CAN SET & RESET L.P. SWITCH INTR ENABLED-CONSOLE O
;;ttttttttitttttittttttttttit*iliitttiitiitiillititttiittttittiﬁt
T$7124: SCOPE
MOV #124 ,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
MOV #81T13,aSTKPT SET MAINT SWITCH #2
MOV #13, SLPERR ;SET_UP SCOPE LOOP ADRS
MOV #2000,8GDDAT  :EXPECT LP SW INTR ENABLED BI'
MOV #164014 ,BUFFER :SET UP INSTR
18: MOV #BUFFER.QDPC  :START
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020000
060020
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001110
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001126
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1124 TEST THAT NOP INSTR CAN SET & RESET L.P. SWITCH INTR ENABLED-CONSOLE 0 SEQ 0052

MOV CONS, SBDADR :SET UP REG ADRS 22

MOV 3CONS  $8DDAT  -READ L.P. SWITCH INTR ENABLED REG

BIC #175777 . $8DDAT -SAVE ONLY L.P. SWiTCH INTR ENABLED BIT
CMP $GDDAT,$BDDAT IS IT CORRECT?

BEQ 2% ;BR IF OK
ERROR 43 ;CONSOLE O L P. SW INTR ENABLE INSTR ER
2%: SUB #2000, SGDDAT ;GO TO RESE) STATE
BM] 157125 ::ADVANCE TO NEXT TEST IF BOTH STATES TESTED
BIC #4 ,BUFFER ;CLR THE ENABLED BIT AT INSTR LOC
BR 1% ;GO TRY RESET STATE
P L L L L L L Lt lddeadaieiaiobainoioiotaidainiuidaiadaioialohainfolofole
;*TEST 125 TEST THAT L.P. SWITCH INTR ENABLED DOES NOT RESET WHEN ENA=0

"tttttt‘t*!ttltttit*tﬁittt*itttttﬁtttt‘tttttttt'*tttt*tittttt*tt

78§T125: SCOPE
MOV #125,8TESTN ::SET TEST NUMBER 1N APT MAIL BOX

MOV #81713,aSTKPT ;SET MAINT SWITCH #2

MOV #2000,$GDDAT ;EXPECT L.P. SWITCH INTR ENABLED TO BE SET

MOV #164014 ,BUFFER SET UP INSTR LOC

MOV #BUFFER ,aDP( ;START

MOV #154000 ,BUFFER+2 :SET UP INSTR WITH ENA=0

INC aDP( ;ADVANCE 7O NEXT INSTR

MOV CONS, $BDADR ;SET UP REG ADRS 22

BIT #2000, 3CONS ;IS L.P. SWI CH INTR ENABLED STILL SET?

BNE TST126 ;:ADVANCE TO NEXT TEST IF STILL SET

CLR $8DDAT ;INDICATE 1T WAS CLEARED

ERPOR 43 :CONSULE O L.P. SW CHANGE INTR ENABLE INSTR ER
:;t'ltt*tt*ﬁtﬂtﬁtit.ﬁt*iﬁttt.t‘i.ti..tﬁtittt*tititttﬁttttttitttlt
JeTEST 126 TEST THAT NOP INSTR CAN SET & RESET L.P. SWITCH INTR ENABLED-CONSOLE 1

"ttt*tttiittiﬁtttlltttlt'tt..t!ﬁtttt*itttti*tt.ﬁtt.tltttttttt.tt

TST126: SCOPE
MOV #126,$TESTN ::SET TEST NUMBER IN APT MAIL BOX

MOV #BIT13,aSTKPT sSET MAINT SWITCH #2
MOV #1$,SLPERR ;SET UP SCOPE LOOP ADRS
MOV #20,$GDDAT SEXPECT L.P. SWITCH INTR ENABLED BIT
MOV #16446164 ,BUFFER SET UP INSTR
1%: MOV #8UFFER,aDP( s START

MOV CONS , SBDADR ‘SET UP REG ADRS 22

MOV 3CONS $BDDAT  -READ L.P. SWITCH INTR ENASLED REG

BIC #177757 SBDDAT :SAVE ONLY L.P. SWITCH INTR ENABLED BIT
CMP $GDDAT,$BDDAT  :1S IT CORRECT?

BEQ 2 ‘BR IF OK

ERROR 43 "CONSOLE 1 L.P. SW INTR ENABLE INSTR ER
2% : SUB #20,$GDDAT "GO TO RESET STATE
BM] 1STi27 “ADVANCE TO NEXT TEST IF BOTH STATES TESTED
BIC #4 BUFFER “CLR THE ENABLED BIT AT INSTR LOC
B8R 1% "GO TRY RESET STATE
;;ttt*ttlﬁttttﬁl'tiittttt'titttltttt*tﬁtﬁﬁttﬁt*tﬁ'ii'l'tltt't'ttt
TeTEST 127 TEST THAT L.P. SWITCH INTR ENABLED DOES NOT RESET WHEN ENA=Q

AR AR A AR AN R RN AR R AR ANANN AR AR R R TR R R RS
TST127: SCOPE

MOV #127 ,$TESTIN ;:SET TEST NUMBER [N APT MA]L BOX

MOV #3]T13,aSTKPT :SET MAINT SWITCH #¢

MOV #20,$GDDAT SEXPECT L.P. SW INTR ENABLED TO BE SET
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012777
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005277
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000005
017737
023737
001401
104032

000004
012737
012777
012777
012737
013777
013737
005277
013737
017737
023737
001401
104010

000004
012737
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164414
031076
164400
163356
002052
000020

001126

000040
000130
002052
020000
164274
031076
164774
163252
175600
163240
100000

163246
001124

000131
020000
160000
025252
002000
001126
163136
002030
163124
001124

000132
020000
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031076
163370
031100

001122
163264

001166
001206
001122
163332
031076
163264
031100

031102
001124

001126
001126

001206
163224
163134
001124
163150
031100

001122
001126
001126

001206
163124

MA

MOV
MOV
MOV
INC
MOV
BIT
BNE
CLR
ERROR

CY11 30G(1063)
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B 5
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#166416 ,BUFFER ;SET UP INSTR LOC
#BUFFER ,aDPC ; START

#164400 ,BUFFER+? ;SET UP INSTR LOC WITH ENA=0

aDP( JADVANCE TO NEXT INSTR

CONS ,$8BDADR ;SET UP REG ADRS 22

#20,aCONS ;IS L.P. SW INTR ENABLED STILL SET?

TST130 :;ADVANCE TO NEXT TEST IF STILL SET

$SBDDAT JINDICATE [T WAS CLEARED

43 ;CONSOLE 1 L.P. SW CHANGE [NTR ENABLE INSTR ER

T AR A AR AARARARANAAAAANRARA AN RAAAARNARAA P A AN A AN AANANAANAAAARA NN AR S

TaTEST 130

TEST THAT RESET WILL CLEAR L.P. INTR ENABLES & (OLOR

e it iiiiad il idsdRdstadilldt ittt isds ittt sl et lsdd)

TST130: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
INC
MOV
RESET
MOV
CMP
BEQ
ERROR

#.0,STIMES ::D0 40 ITERATIONS

#130,8$TESTN ;sSET TEST NUMBER IN APT MAIL BOX

CONS ,$BDADR ;SET UP REG ADRS 272

#MIT13,3STKPT ;SET MAINT SW 2

#164274 ,BUFFER :SET UP INSTR FOR CONSOLE O L.P. INTR ENAB

#BUFFER,aDPC ;START

#164774 ,BUFFER+?2 ;CONS 1 L.P. INTR ENA

aDP( JRESUME

#175600,BUFFER+4 ;COLOR LEVEL

aDP( s RE SUME

MIT15,8GDDAT  EXPECT INTENSITY ENABLE CONSOLE O ONLY
;CLR FLAGS

aCONS, $SBDDAT :READ FLAGS

$GDDAT ,$BDDAT ;IS REG 22 CORRE(T?

TST131 JoNEXT TEST IF SO

32 JRESET FAILED TO SET UP REG 22

;'tttﬁ*t*ttttﬁttttt*ttitiQtti**ttttttﬁtﬁtﬁ*ttlﬁttﬁtttttt*tttttttt

CATEST 131

JUMP TEST TO LOC. 25252

e Attt il dtSR SRt ddRtRRARRRRdRRRtRREitsRRRRRRRRRRRRRRESDERE D]

TST131: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
MOV
CMP
BEQ
ERROR

#131,8TESTN ;;SET TEST NUMBER IN APT MAIL 80X
#81T13,aSTKPT ;SET MAINT SWITCH #2
#160000, IDBUF JMOVE DJUMP INTO THE BUFFER
#25252,8GDDAT  ;MOVE 25252 INTO THE NEXT LOC.

DBUF , IDPC ;START THE DISPLAY

$GDDAT ,BUFFER+2 ;LD ADRS

aDP( JSINGLE STEP THE DISPLAY
DPC,$BDADR ;SET UP REG ADRS 00

aDP( ,$BDDAT ;READ THE DISPLAY P.C.
$GDDAT, $BDDAT ;. COMPARE EXP(CT TO RrVD
TST132 . :BR IF EQUAL

10 ;DJUMP FAILED TO LOAD THE NEW

;DISPLAY P.C. PROPERLY

R A ESSAAARRRRERsssdRARRRRRRRRtRdRiRRisaRiRRRldllRRlRRiRRRlnl R

TRTEST 132

JUMP TEST TO LOC. 12524

e ittt 2022022200222 222222222 R R0 RARRRRARRARRRRRE]

TST132: SCOPE
MOV
MOV

#132,8$TESTN ;;SET TEST NUMBER [N APT MA]L BOX
#B1713 QSTKPT ;SET MAINT SWITCH #2

SEQ 0053
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017014
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017066
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017106
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017126
017134
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017146
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017176
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012777
012737
013777
013737
005277
013737
017737
023737
001401
104010

000004
012737
012737
013737
012777
012737
012777
013737
005277
013737
017737
023737
001401
104010

162737
103351

000004
012737
012737
012777
012700
000423
012737
050037
012777
013737
017737
023737
001401
104011
006200
103410
010037
006337
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160000
012524
002000
001124
163036
002030
163024
001124

000020
000133
026576
020000
160000
031076
001124
162730
002030
162716
001124

000002

000134
017170
020000
010400

161000
031076
031076
002030
162606
001124
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T132 JUMP TEST TO LOC. 12524

MOV #160000,aDBUF JMOVE DJUMP INTO THE BUFFER
MOV #12524 ,$GDDAT JMOVE 12524 INTO THE NEXT LOC.

MOV DBUF ,aDP( .START THE DISPLAY

MOV $GDDAT ,BUFFFR+2 ;LD ADRS

INC aDP( ;SINGLE STEP THE DISPLAY
MOV DPC,$BDADR ;SET UP REG ADRS 00

MOV aDP(,$BDDAT
(MP $GDDAT , $BDDAT

;JREAD THE DISPLAY P.C.
. COMPARE EXPCT TO RCVD

BEQ TST133 ::BR IF EQUAL
ERROR 0 “DJUMP FAILED TO LOAD THE NEW
*DISPLAY P.(C. PROPERLY

;;tt*ttttttttt*itt*itttttt*i*tit.tiiitt*tittttittttiitttiﬁt*ttttﬁ
C#TEST 133 JUMP TO EACH EXISTING LOCATION IN LOWER BANK
::t**t*tttttﬁti****ttﬁtﬁtittt*tttttﬁ*i*ttittﬁttttttttttttttt**ttt
757T133: SCOPE

MOV #20,STIMES ;:D0 20 ITERATIONS

MOV #1385, $TESTN SSSET TEST NUMBER IN APT MAIL BOX

MOV $LSTAD,$GDDAT  ;LOAD JUMP DESTINATION
MOV #BI1T13,aSTKPT SET MAINT SWITCH #2
MOV #160000,BUFFER .LOAD 'DISPLAY JUMP'' INST

1%: MOV #BUFFER,aDPC ;START DISPLAY

MOV $GDDAT ,BUFFER+2 :SET UP ADRS

INC aDPC ;SINGLE STEP THE DISPLAY

MOV DPC,$BDADR ;SET UP REG ARS 0C

MOV aDPC ,$BDDAT JREAD DESTINATION D.P.C.

cMP $GDDAT ,$BDDAT ;TEST IF EXPECTED

BEQ 2% ;:BR IF SAME

ERROR 10 ;JUMP TO LOCATION ‘N'° FAILED

;N=ADDRESS IN $GDDAT

’%: SUB #2,$GDDAT JADJUST EXPECTED ADDRESS

B(CC 1% ;BR IF MORE LOCATIONS TO TEST
;:tttttt*ttﬁtttt*tttttttttttl*ittttti*t*titttttt*ttttttttt*tttttt
JATEST 134 TEST *JUMP RELATIVE' INSTR (BIT 8=0) AT LOC 'BUFFER’
;;tttttttttttttt*ttttttttttttttttttttttttittttitttttttttttttttttt
TST134: SCOPE

MOV #1346 ,8TESTN ;;SET TEST NUMBER IN APT MAIL BOX

MOV #1% ,8LPERR ;SET UP SCOPE LOOP ADRS

MOV #8IT13,aSTKPT ;SET MAINT SWITCH #2

MOV #400,R0 ;SET UP MSB FIRST

BR 2% :GO CALCULATE ADRS
1%: MOV #161000,BUFFER ;SET UP JUMP RELATIVE INSTR

BIS RO.BUFFER ;SET UP RELATIVE ADRS PATTERN

MOV #BUFFER ,aDPC :START

MOV DP( ,$8DADR ;SET UP REG ADRS 00

MOV aDPC ,$BDDAT :READ NEW DPC ADRS

(MP $GDDAT, $BDDAT ;DOES IT EQUAL THE CALCULATED ADRS?

BEQ 2% ;BR IF OK

ERROR 11 JJUMP RELATIVE POSITIVE FAILED
2%: ASR RO JSHIFT RIGHT TO NEXT BIT

BCS TST135 . sADVANCE TO NEXT TEST IF DONE

MOV RO,S$GDDAT :SET UP OFFSET VALUE

ASL $GDDAT JMAKE INTO WORD OFFSET

ADD MBUFFER+2,$GDDAT ;ADD IN ADRS OF INSTR PLUS ¢

BR 1% ;TRY THIS RELATIVE ADRS

SEQ 0054

€ VERIFY NEW DPC AD
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C(ZVSAB.P11 29-MAY-79 10:10 T134 TEST 'JUMP RELATIVE' INSTR (BIT 8=0) AT LOC 'BUFFER' & VERIFY NEW DPC ADR SEQ 0055
1814
1815 N A A RN R AR AR R AN R RN R AN RN RN A RN N RN R RN AR R RN A TR RN RN
(3) ;«TEST 135 TEST 'JUMP RELATIVE' INSTR (BIT 8=1) AT LOC 'BUFFER' & VERIFY NEW DP(
3 e T T L e T T R e
(2) 017262 Q00004 TST135: SCOPE
(2) 017264 012737 000135 001206 MOV #135,8TESTN ;o SET TEST NUMBER IN APT MAIL BOX
1816 017272 012737 017314 001110 MOV #13,SLPERR ;SET UP SCOPE LOOP ADRS
1817 017300 G12777 020000 162554 MOV #B1T13,aSTKPT JSET MAINT SWIT(H #2
1818 017306 012700 000400 MOV #400,R0 ;SET UP MSB FIRST
1819 017312 000423 BR 2% ;GO CALCULATE ADRS
1820 017314 012737 161400 031076 1%: MOV #1616400,BUFFER ,;SET UP JUMP RELATIVE INSTR
1821 017322 050037 031076 B81S RO,BUFFER JSET UP RELATIVE ADRS PATTERN
1822 017326 012777 031076 162474 MOV #8UFFER,aDPC ;START
1823 017334 013737 002030 001122 MOV DPC,$8BDADR ;SET UP REG ADRS 00
1824 017342 017737 162462 001126 MOV aDP(, $BDDAT JREAD NEW DPC ADRS
1825 017350 023737 00112¢ 001126 CMp $GDDAT ,$BDDAT  ;DOES 17 EQUAL THE CALCULATED VAL UE?
1826 017356 001401 BEQ 2% ;BR IF 0K
1827 017360 104011 ERROR 11 ;JUMP RELATIVE NEGATIVE FAILED
1828 017362 006200 °%: ASR RO JSHIFT RIGHT TO NEXT BIT
1829 017364 103413 B(S TST136 ;JADVANCE TO NEXT TEST IF DONE
1830 017366 012737 031100 001124 MOV #BUFFER+2,$GDDAT oSET UP CURRENT ADRS
1831 0173764 010001 MOV RO,R1 ;GET RELATIVE ADRS VALUE
1832 017376 005401 NEG R1 ;MAKE NEG
1833 017400 006301 ASL R1 2CORRECT FOR WORD OFFSET
1834 017402 042701 177000 BI( #177000,R1 ;GET RID OF MSBS
1835 017406 160137 001124 SuB R1,$GDDAT ;SUB OFFSET FROM DPC VALUE
]g;g 017412 000740 BR 1% :TRY NEXT RELATIVE ADRS
l
1838 T e L L L T R L T R 2
(3 J*TEST 136 TEST THAT JUMP ABS INSTR WILL SETUP DPC WITH A FLOATING ONE
(3 IR A AR AR R R R AR R AR RN AR AR R AN R AR R AR N R R AN AR R R R RN R R AN RN R ARk R AR
(2) 017414 000004 TST136: SCOPE
2) 017416 012737 000136 001206 MOV #136,STESTN ;oSET TEST NUMBER IN APT MAIL BOX
1839 0174264 012777 020000 162430 MOV #8I1T13,aSTKPT ;SET MAINT SWITCH #2
1840 017432 012737 160000 031076 MOV #160000,BUFFER ;SET UP JUMP ABS INSTRUCTION AT 'BUFFER'
1841 017440 005037 001124 CLR SGDDAT JEXPECT ZEROS FIRST TIME
1842 017444 012737 000001 031100 MOV #1,BUFFER+?2 ;SET UP ABS ADRS TO #1
1843 017452 012777 031076 162350 18: MOV #BUFFER,aDPC JSTART
1844 017460 012737 017452 001110 MOV #1%,SLPERR ;SET UP SCOPE LOOP ADRS
1845 (17466 005277 162336 INC aDP( JPICK UP ABS ADRS *x B wx
1846 01747 013737 002030 001122 MOV DPC,$8DADR ;SET UP REG ADRS 00 *e B wx
1847 017500 000240 NOP ;ALLOW TIME FOR 2ND NPR
1848 017502 017737 162322 001126 MOV aDPC, $8DDAT ;GET ADRS JUMPED TO
1849 017510 023737 001124 001126 (MP $GDDAT ,$8DDAT ;1S IT CORRE(CT?
1850 017516 001401 BEQ 2% JBR IF OK
1851 017520 104010 ERROR 10 . JUMP ABSOLUTE FAILED (FLOAT A 1 ADDRESS)
1852 017522 006337 031100 2%: ASL BUFFER+Z ;ADVANCE ONE BIT LEFT
1853 017526 103404 BCS TST137 ;.ADVANCE TO NEXT TEST IF ALL BITS TESTED
1854 017530 013737 031100 001124 MOV BUFFER+2,$GDDAT ;SET UP EXPECTED ADRS
}ggg 017536 000745 B8R 1% ;TRY NEXT BIT
1857 RN N R AR R KRR AR AR AR R RN R AR AR AR AN RN AR R AR AR RRRRAN R R R RN RN RN
(3) J*TEST 137 TEST THAT JUMP ABS INSTR WILL SETUP DPC WITH A FLOATING ZERO
(%) IR A RN R R RN R R R AR R RN R R RN R R AR A RN R R RN N R AR R RN RN R R R NS
(2) 017540 000004 TST137: SCOPE

(2) 017542 012737 000137 001206 MOV #137,8TESTN ;.SET TEST NUMBER [N APT MAIL BOX
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017550
017556
017564
017572
017600
017606
017614
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017644
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017666
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017702
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017722
017730
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017772
020000
020004
020006
020014
020022
020026
020034
020042
020050
020056
020060
020062
020064
020066
020072
020076

012737
C12777
012737
012737
012777
013737
005277
013737
017737
023737
001401
104010
006337
103004
062737
000746

000004
01737
012777
012737
005037
012737
012777
013737
032777
001003
005037
104012

062737
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017600
020000
160000
177774
031076
001124
162210
002030
162176
001124

001124
000002

000140
020000
162000
031100
001000
C31076
002062
001000

001126

000141
020000
020006
000400

000040
163000
031076
031076
002030
161762
001124

001124
00i124
031100
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001124

001206
162160
031076

001124
162100
001122
162116

001206
162070
001110

162046
031076

161774
001122
001126
001126

001124

E S
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TEST THAT JUMP ABS INSTR WILL SETUP DPC WITH A FLOATING ZERC SEQ 0056

MOV #1$,$LPERR ;SET UP SCOPE LCOP ADRS

MOV #B1713,aSTKPT SSET MAINT SWITCH #2

MOV #160000.BUFFER ;SET UP JUMP ABS INSTR AT 'BUFFER"

MOV #177774.$GDDAT :SET LSB TO ZERO
1%: MOV #BUFFER.IDPC - START

MOV $GDDAT .BUFFER+2 -SET UP ADRS

INC aDP( ‘PICK UP ABS ADRS

MOV DPC ., SBDADR “SET UP REG ADRS 00

MOV abPC , $BDDAT *GET ADRS JUMPED TO

CMP $GDDAT,SHDDAT IS IT CORRECT?

8EQ 13 ‘BR IF OK

ERROR 10 S JUMP ASSOLUTE FAILED (TO A FLOATING ZERO)
% ASL $GDDAT SSHIFT ZERO BIT LEFT

BC( TST140 “>ADVANCE TO NEXT TEST IF ALL BITS TESTED

ADD #2,$GDDAT *REPLACE LSB

BR 1% STRY NEXT BIT
;;ttttttttt*tttti*ttltitttttcttttttitttt*tttittttttit*ttttittt*tt
“eTEST 140 TEST THAT THE 'JSR ABSOLUTE' INSTR WILL SET 'JSR® BIT IN REG 32
:;tt*ttttttttttitttttttﬁiitttttttltttlitttitit.'iitttt*ttittiiitt
15$7T140: SCOPE

MOV £160,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX

MOV #1T13,85TKPT “SET MAINT SWITCH #2

MOV #162000,BUFFER ;SET UP JSR ABS INSTR

CLR BUFFER+2 :CLR ABS ADRS LOC

MOV #B1T9,$GDDAT  ;EXPECT JSR BIT

MOV #SUFFER,aDPC  -START C

MOV STKPT,$8DADR  :SET UP REG ARS 32 .-

BIT #BIT9.aSTKPT 1S JSR BIT SET?

BNE TST141 *ADVANCE TO NEXT TEST IF 0K

CLR $BDDAT *SHOW THAT IT WAS ZERO

ERROR 12 SCALL ERROR ROUTINE USING MSG 23
;;*tttt*tttﬁtti***tttiﬁtti*t*t*tttttt*ttttttttttttttttttt*ih*tttt'
CRTEST 141 TEST *JSR ReLATIVE' INSTR (BIT 8=0) AT LOC 'BUFFER® & VERIFY NEW DPC ADR
;:t*tttttt'tttﬁtit*tttttttttttitttﬁttﬁttttttﬁtﬁﬁitttliﬁtttﬁt*tt.t
7ST141: SCOPE

MOY #141,$TESTN ;:SET TEST NUMBER IN APT MAL BOX

MOV #B1T13,3STKPT SSET MAINT SWITCH #2

MOV #1%, SLPERR ,SET UP SCOPE LOCP ADRS

MOV #400,R0 *SET P MSB FIRST

BR 2$ :GO CALCULATE ADRS
1$: BIS #,0,aSTKPT *RESET STK PIR

MOV #163000,BUFFER  :SET UP JSR RELATIVE INSTR

BIS RO,BUFFER :SET UP RELATIVE ADRS PATTERN

MOV #BUFFER aDPC  :START

MOV DPC, $8CADR “SET UP REG ADRS 00

MOV aDP( , 3BDDAT "READ NEW DPC ADRS

CMP $GDCAT,$BDDAT  -DOES IT EQUAL THE CALCULATED ADRS?

BEQ 2$ :BR IF OK

ERROR 13 *JSR RELATIVE "POSITIVE'' FAILED
2%: ASR RO “SHIFT RIGHT TO NEXT BIT

BCS TST142 *>ADVANCE TO NEXT TEST IF DONE

MOV RO, $GDDAT “SET UP OFFSET VALUE

AS| $GODAT *MAKE INTO WORD OFFSET )

ADD #8UF EER+2,$GDDAT :ADD IN ADRS OF INSTR PLUS 2
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1906
1907
1908
(3)
(3)

1950
1951

(3

020104

020106
02C110
020116
020124
020132
020136
020140
020146
020154
020160
020166
020174
020202
020210
020212
020214
020216
020220
020226
020230
020232
020234
020240
020244

020246
020250
020256
020264
020272
020276
020304
020312
020320
020326
020332
020340
020346
020354
020356
020360
020364
020366
020374

29-MAY-79
000740

000004
012737
012777
012737
012700
000426
052777
012737
050037
012777
013737
017737
023737
001401
1046013
006200
103413
012737
010001
005401
006301
042701
160137
000735

000004
012737
012777
012737
005037
012737
052777
012777
0 2737
0us277
013737
017737
023737
001401
104012
006337
103404
013737
000743

ON TES
10:10

000142
020000
020140
000400

000040
163400
031076
031076
002030
161630
001124

031100

177000
001124

000143
020000
162000
001124
000001
000040
031076
020304
161476
002030
161464
001124

031100
031100

T PART 1

001206
161736
001110

161714
031076

161642
001122
001126
001126

0011264

001206
161576
031076

031100
161550
161510
001110

001122

001126
001126

001124

a—
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1141 TEST 'JSR RELATIVE' INSTR (BIT 8=0) AT LOC 'BUFFER' & VERIFY NEW DPC ADRS SEQ 0057

8R 1% :TRY THIS RELATIVE ADRS
::tttti*tttﬁt'tﬁttﬁt*t.t"tttﬁit‘titttt"t"tlttﬁﬁttttttttlttttit
CaTEST 142 TEST *JSR RELATIVE® INSTR (BIT 8=1) AT LOC 'BUFFER' & VERIFY NEW DPC ADR
;;t!!'ttttttttttItttlttt't't.tttttttttttt*ﬁt'tﬁ'itt'tttttttttittt
T$7142: SCOPE

MOV #1.,2,8TESTN :;SET TEST NUMBER IN APT MAIL BOX

MOV MIT13,3STKPT “SET MAINT SWITCH #2

MOV #1$, SLPERR SSET UP SCOPE LOOP ADRS

MOV #400,R0 “SET UP MSB FIRST

BR 2 ©GO CALCULATE ADRS
1$: BIS #40,aSTKPT *RESET STK PTR

MOV #1656400,BUFFER :SET UP JSR RELATIVE INSTR

BIS RO,BUFFER SSET UP RELATIVE ADRS PATTERN

MOV #BUFFER, aDF( “START

MOV DP(, $8DADR SSET UP REG ADRS 00

MOV aDPC,$3DDA™ *READ NEW DPC ADRS

CMP $GDDAT.$BDDAT  -DOES IT EQUAL THE CALCULATED VALUE?

BEQ 2$ *BR IF 0K

ERROR 13 “JSR RELATIVE NEGATIVE TO ADDRESS FAILED
2%: ASR RO “SHIFT RIGHT TO NEXT BIT

BCS TST143 *ADVANCE TO NEXT TEST IF DONE

MOV #BUFFER+2,$GDDAT ;SET UP CURRENT ADRS

MOV RO.R1 :GET RELATIVE ADRS VALUE

NEG R1 *MAKE NEG

ASL R1 *CORRECT FOR WORD OFFSET

BIC #177000.R1 :GET RID OF MSBS

SUB R1,$GDDAT “SUB OFFSET FROM DPC VALUE

BR 1% STRY NEXT RELATIVE ADRS
;:*tttttt*ttttti*tttiti*tt‘ttiﬁtttt*ttttk*tﬁtt**ﬁﬁﬁtt*ttttttttttt
CwTEST 143 TEST THAT 'JSR ABS' INSTR WILL SET UP DPC WITH A FLOATING ONE
;:tt*ttttttltt‘tttltttt*ittt*‘*ﬁtit'i!ittitt'**ttittttﬁi*tt'ttttﬁ
T$T143: SCOPE

MOV #143,$TESTN ::SET TEST NUMBER IN APT MAIL 80X

MOV #81T13,3STKPT “SET MAINT SWITCH #2

MOV #162000,BUFFER :SET UP JSR ABSOLUTE INSTR AT 'BUFFER’

CLR $GDDAT *EXPECT ZEROS FIRST TIME

MOV #1 _BUFFER+2 SSET UP ABS ADRS TO 1
1%: BIS #40,3STKPT *RESET STK PTR

MOV #8UF FER , aDPC :START

MOV #1%,SLPERR “SET UP SCOPE LOOP ADRS

INC aDP( *ADVANCE TO ABS ADRS

MOV DPC . $BDADR :SET UP REG ADRS 00

MOV aDP(C ., $8DDAT :GET ADRS JUMPED TO

CMP $GDDAT,$8DDAT  :IS IT CORRECT?

BEQ 23 :BR IF OK

ERROR 12 *JSR ABSOLUTE FAILED (TO A FLOATING ONE)
2% : ASL BUFFER+2 ;ADVANCE ONE BIT LEFT

BCS TST144 ;;ADVANCE TO NEXT TEST IF ALL BITS TESTED

MOV BUFFER+2,$GDDAT :SET (' EXPECTED ADRS

BR 1$ :TRY NEXT BIT

';..tlitﬁt'QIitQ!t'tttttt'tttttttﬁt‘ttﬁtttiiti't'ttttt"tttt!t"*

TRTEST 144 TEST THAT JSR ABS INSTR WILL SET UP DPC WITH A FLOATING ZERC

;:tttt'tit'tlﬁlttiti'ttttiltttitﬁﬁiﬁttittttttttttttttiittttlttttt
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(2)
(2)
1952
1953
1954
1955
1956
1957
1958
1959
1960
1961
1962
1963
1964
1965
1966
1967
1968
1969
1970
(3)
(3)
(2)
2)
1971
1972
1973
1974
1975
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
(3)
(3)
(2)
(2)
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

020376
020400
020406
020414
020422
0204 30
020436
020444
020452
020460
020464
020472
020500
020506
020510
020512
020516
020520
020526

020530
020532
020540
020546
020554
020560
020564
020570
020576
020604
020610
020614
020622
020630
020632

020634
020636
020644
020652
020660
020664
020670
020674
020702
020710
020714
020720
020726
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000004
012737
012777
012737
012737
012737
052777
012777
013737
005277
013737
017737
023737
001401
104012
006337
103004
062737
000743

000004
012737
013737
012777
012700
012720
012720
013777
012737
005277
004737
017737
023737
001401
104014

000004
012737
013737
012777
012700
012720
012720
012777
012737
005277
004737
017737
023737

10:10

000144
020000
020436
162000
177774
000040
031076
001124
161344
002030
161332
001124

001124
000002

000145
002034
120000
031076
122000
001252
002000
001252
161220
024514
161214
001124

000146
002034
020000
031076
122000
0C05¢5
031076
000525
161114
024514
161110
001124

PART 1

001206
161446
001110
031076
001124
161416
161356
031100

001122
001126
001126

001124

001206
001122
161306

161232
001124

001126
001126

001206
001122
161202

MACY11 30G(1063,
TEST THAT JSR ABS INSTR

T144

TST144: SCOPE
MOV
MOV
MOV
MOV
MOV

1%: BIS
MOV
MOV
INC
MOV
MOV
(MP
BtQ
ERROR

2% ASL
BCC
ADD
BR

G 5
17-SEP~79 08:43 PAGE 9-35

#144 $TESTN
#8] 113 RSTKPT
#1$,$LPERR
2162000, BUF FER
#177774 . $SGDDAT
#60,3STKPT
#SUFFER, aDPC

$GDDAT ,BUFFER+?2

aDP(
OP(C,$BDADR
aDP(,$8DDAT
$GDDAT, $BDDAT
2%

12

$GDDAT

TST145
#2,8GDDAT

1%

WILL SET UP DP(C WITH A FLOATING ZERO

;;SET TEST NUMBER IN APT MAIL BOX
JSET MAINT SWITCH #2
:SET UP SCOPE LOOP ADRS
JSET UP JSR ABSOLUTE AT 'BUFFER'
JSET LSB TO ZERO
JRESET STK PIR
;START
sSET UP ADRS
;ADVANCE TO ABS ADRS
;SET UP REG ADRS 00
;GET ADRS JUMPED T0
JIS IT CORRECT?
;BR IF 0K
;JSR ABSOLUTE FAILED (TO A FLOATING ZERO)
JSHIFT ZERO BIT LEFT
;sADVANCE TO NEXT TEST IF ALL BITS TESTED
:REPLACE LSB
;TRY NEXT BIT

-"' 222420 RRRR Rl s R Rl s

STEST 145

TEST THAT GRAPHPOLT X CAN LOAD X POSITION REGISTER WITH #1252

i AZAAERRARRRRARE Rl Rttt RRRRRRA)RRRRRRRRRd D]

TST145: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
JSR
MOV
(MP
BtQ
ERROR

#1465 ,8TESTN
XPOS , $BDADR
#MIT13,aSTKPT
#UFFER RO
#122000, (RO) +
#1252, (RO)+
DBUF ,aDP(
#1252,8GDDAT
aDP(

PC,DLAY
aXPOS, $BDDAT
$GDDAT , $BDDAT
{57146

4

;.SET TEST NUMBER IN APT MAIL BOX
;SET UP REG ADRS 04
;SET MAINT SWITCH #2
:LOAD BUFFER POINTER
sLOW INTERSITY = SET GRAPH PLOT X MODE
sSET X POSITION
;LOAD DISPLAY P.C.
LOAD EXPECTED
;SINGLE STEP THE DISPLAY
;STALL
sREAD X POSITION
. COMPARE EXPCT TO RCVD
;:BR IF EQUAL
X POSITION REGISTER FAILED TO LOAD
;PROPERLY USING GRAPH PLOT X MODE

R R A AR RASRRRRRRRRtRdRlRRltltRiRARRRRARdRseRRRRRRRRREDNS

TRTEST 146

TEST THAT GRAPHPLOT X CAN LOAD X POSITION REGISTER WITH #5025

E ALl RSS20t Rd RSS2 RRRRRRRRRRARSRRE S

TST14€: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
JSR
MOV
(Mp

#146.$TESTN
XPOS , $8DADR
#81713,3STKPT
#8UFFER, RO
#122000. (RO) +
#525, (RO)+
#BUFFER . aDPC
#525,$GDDAT
aDP(

PC,DLAY
axPOS , $8DDAT
$GDDAT, $8DDAT

.. SET TEST NUMBER IN APT MAIL BOX
;SET UP REG ADRS 04

;SET MAINT SWITCH #2
;LOAD BUFFER POINTER
;LOW INTENSITY = SET GRAPH PLOT X MODE
;SET X POSITION

;STAR DISPLAY

;LOAD EXPECTED
sJSINGLE STEP THE DISPLAY
;STALL
;READ X POSITION

;COMPARE EXPCT TC RCVD

_u—-a’—

SEQ 0058
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2027
2028

2031
2032
2033
2034
2035
(3}
(3)
(2)
(2)
2036
2037

2039
2040
2041

020734
020736

020740
020742
020750
020756
020764
020770
020774
021000
021006
021014
021020
021024
021032
021040
021042

021044
021046
021054
021062
021070
021074
021100
021104
021112
021120
021124
021130
021136
021144
021146

021150
021152
021160
021166
021174
021200
021204
021210

001401
104014

000004
012737
013737
012777
012700
012720
012720
013777
012737
005277
004737
017737
023737
001401
104015

000004
012737
013737
012777
012700
012720
012720
013777
012737
005277
004737
017737
023737
0014
104015

000004
012737
013737
012777
012700
012720
012720
012720

[ON
9 1

TEST
1

0:10

000147
002036
020000
031076
126000
001252
002000
001252
161010
024514
161006
001124

000150
002036
020000
031076
126000
000525
002000
000525
160704
024514
160702
001124

000151
002034
020000
031076
122000
001234
126000

PAR™ 1

001206
00112¢
161076

161022
001124

001206
001122
160772

160716
001124

001126
001126

001206
001122
160666

H 5
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T146

BEQ
ERROR

TST147
14

TEST THAT GRAPHPLOT X (AN LOAD X POSITION REGISTER WITH #525

;.BR If EQUAL
;X POSITION REGISTER FAILED TO LOAD
:PROPERLY USING GRAPH PLCOT X MODE

R 2222322323233 22233322228222222 8222322332222 d02 8RR 20dddRdRld]

TEST THAT GRAPHPLOT Y CAN LOAD Y POSITION REGISTER WITH #1252

R Z2Z223 3223222222222 22200 02 R R RRRRRRRRRRRRRRAl

LaTEST 147

TST147: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
JSR
MOV
CMP
BEQ
ERROR

#147,8TESTN
YPOS , $8DADR
#MRIT13,aSTKPT
#BUFFER,RO
#126000, (RO) +
#1252,(R0O)+
DBUF ,aDP(
#1252 ,8GDDAT
aDP(

PC,DLAY
aYPOS,$8BDDAT
$GDDAT ,$BDDAT
¥§T150

;;SET TEST NUMBER IN APT MAIL BOX
;SET UP REG ADRS 06

JSET MAINT SWITCH #2
;LOAD BUFFER POINTER
;LOW INTENSITY - SET GRAPHPLOT Y
JSET Y POSITION
;LOAD THE DISPLAY P.C.
JLOAD EXPECTED
:SINGLE STEP THE DISPLAY
;STALL
;READ Y POSITION

;COMPARE EXPCT TO RCVD
;;BR IF EQUAL
;Y POSITION REGISTER FAJLED TO LOAD
;PROPERLY USING GRAPHPLOT Y MODE

A 2222223 E2 R332 222222222220 2222d202i2R0 R RARRRRiRRRRRRRRl SRRl

TEST THAT GRAPHPLOT Y CAN LOAD Y POSITION REGISTER WIiTH #525

S 2220232822222 8RRl RS0ttt Rt Rl Ll S

CXTEST 150

TST150: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
JSR
MOV
(MP
BEQ
ERROR

#150,8TESTN
YPOS , $BDADR
#MIT13,aSTKPT
#BUFFER.RO
#126000, (RO) +
#525.,(RO) +
DBUF ,aDP(
#525,9GDDAT
oDP(

PC.DLAY
aYPOS,$8DDAT
$GDDAT ,$BDDAT
§27151

2:SET TEST NUMBER IN APT MAIL BOX
;SET UP REG ADRS 06
;SET MAINT SWITCH #2
;LOAD BUFFER POINTER
LOW INTENSITY - SET GRAPHPLOT Y MODE
JSET Y POSITION
;LOAD THE DISPLAY P.C.
;LD EXPECTED
;SINGLE STEP THE DISPLAY
;STALL
JREAD Y POSITION
. COMPARE EXPCT TO RCVD
;J:BR IF EQUAL
;Y POSITION REGISTER FAILED TO LNAD
JPROPERLY USING GRAPHPLO™ Y MQODE

R L2222 2222222222222 R0 RRRRERRRRRRRRRRRRRAR RS

TEST FOR PROPER SELECTION OF X AND Y REGISTERS

S 2222232333238 2288222830824 f2 2tRRRRRRRRRRdRRRARRERERRRRRSAN)

S*TEST 151

TST151: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV

#151,$TESTN
XPOS , $BDADR
#BIT13,aSTKPT
#BUFFER,RQ
#122000, (RO) +
#1234, (RO)+
#126000, (RO) +

;2SET TEST NUMBER [N APT MAjL BOX
;SET UP REG ADRS 04

;SET MAINT SWITCH #2
;LOAD BUFFER POINTER
JLOW INTENSITY = SET GRAPHPLCT X MODE
JSET X POSITION
;SET GRAPHPLOT Y MQODF

SEQ 0059




(ZVSA=B  vS60 INSTRUCTION TEST
CZVSAB.P11 0

2042
2043
2044
2045
2046
2047
2048
2049
2050
2051
2052
2053

(1)
2054
2055
2056
2057

2083
2085

2087

021214
021220
021226
021234
021240
021264
021252
021260
021262
021264

021266
021266
021272
021300
021304
021312
021316
021324
021332
021334

021336
021340
021346
021354
021362
021370
021376
021404
021412
021416
021424
021430

021434
021436
021442
021450
021452

021454
021462
021470
021472

021474
021476
021504
021512

012720
013777
012737
005277
004737
017737
023737
001402
104014
000424

005277
013737
005277
012737
004737
017737
023737
001401
104015

000004
012737
012737
013737
012727
012777
012777
012737
005277
012737
005277
004737

000005
005037
017737
001401
104032

013737
017737
001401
104032

000004
12737
J12777
012737

29-MAY-79 10:1

001432
002000
001234
160570
024514
160564
001124

160536
002036
160524
001432
024514
160514
001124

000040
000152
002034
114000
020000
03107¢
001777
160412
001777
160400
024514

001124
160366

002036
160350

000153
020000
100000

PART 1

160602
001124

001122
001124

001126
001126

001166
001206
001122
031076
160464
160424
031100

031102

001126

001122

001126

001206
160350
001124

MACYTT 30G(1063)

MOV
MOV
MOV
INC
JSR
MOV
{MP
BEQ
ERROR
BR

1%:
INC
MOV
INC
MOV
JSR
MOV
CMP
BEQ
ERROR

I 5
17-SeP=79 08:43 PAGE 9-37
T151 TEST FOR PROPER SELECTION OF X AND Y REGISTERS

#1432,(R0O)+
DBUF ,aDP(
#1234 ,8GDDAT
aDP(

PC,DLAY
aXP0S,$8DDAT
$GDDAT , $8DDAT
1%

14

TST152

abDP(
YPOS , $8DADR
aDP(

#1432 ,8GDDAT
PC,DLAY

aYPOS ,$8DDAT
$GDDAT, $8DDAT
{gTTSZ

sSET Y POSITION
sLOAD THE DISPLAY P.C.
;LD EXPECTED
soINGLE STEP THE DISPLAY
sSTALL
;READ X POSITION
;COMPARE EXP(CT TO RCVD

;GRAPHPLOT X MODE FAILED TO SELECT

:SINGLE STEP THE DISPLAY
;SET UP REG ADRS 06
;SINGLE STEP THE DISPLAY
;LOAD EXPECTED
;STALL
;READ Y POSITION
:COMPARE EXP(CT TO RCVD
;:BR IF EQUAL
;Y POSITION REGISTER FAILED TO LOAD
;PROPERLY USING GRAPHPLOT Y MODE

';ttltlt*ttltttt‘!l'lt‘ﬂtti'tttt.ﬁ‘*‘t*tt‘iﬁ"***.ttﬁt'.ﬁt*‘t."‘

TEST THAT RESET CLEARS X AND Y POSITION REG.

e s 2232322080282 22222322222 2232 200222 2 RRR R R 2]

STEST 152

TST152: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
INC
MOV
INC
JSR

RESET
CLR
MOV
BEQ
ERROR

1%: MOV
MOV
BEQ
ERROR

#40,8TIMES
#4152 ,$TESTN
XPQS , $BDADR

#114000 ,BUFFER

#81713,aSTKPT
#BUFFER ,aDP(

#1777 ,BUFFER+2

aDP(

#1777 ,BUFFER+4

aDP(
PC.DLAY

$GDDAT
aXPOS, $8DDAT
1%

32

YPOS , $8DADR
aYPOS, $BDDAT
TST15%

32

::D0 40 ITERATIONS
;2SET TEST NUMBER IN APT MAIL BOX
;SET UP REG ADRS 04
sLOAD 'POINT'' INST.

;SET MAINT SWITCH #2
;START DISPLAY
1X=1777
:SINGLE STEP THE DISPLAY
;Y=1777
:SINGLE STEP THE DISPLAY
JSTALL

SINITILIZE

;CLEAR EXPECTED

;READ X POSITION

;.BR IF CLEARED

JRESET FAILED TO CLEAR X POS. REGISTER

;SET UP REG ADRS 06

JREAD Y POSITION

;:8R IF CLARED

JRESET FAILED TO CLEAR Y POS. REGISTER

M A2 RSRARRRRRRSRRER ARttt RARRRRdtRRRRRRRRRARERRE A

TEST THA1 DISPLAY BUSY WILL SET & THEN CLR ON INTERNAL STOP

MR A RSS2 RREAR2RRRRRRERRRRdRRRRR0dRRRRRRRRRRRRRRRRtRRRRRRRR R D]

T*TEST 153

TST153! S.OPE
MOV
MOV
MOV

#153,$TESIN
#B1T13,aSTKPT

#100000,$GDDAT

;.SET TEST NUMBER IN APT MAIL BOX
JSET MAINT Sw ¢
JEXPECT DISPLAY BUSY INITIALLY

SEQ 0060
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CZVSA-B VS60 INSTRUCTION TEST PART 1 MACY
(ZVSAB.P11 29-MAY-79 10:10 1153 TEST THAT DISPLAY BUSY WILL SET & THEN CLR ON INTERNAL STOP SEQ 0061
2088 021520 012737 164000 031076 MOV #1664000,BUSFER :SET UP A NOP INSTR
2089 021526 012737 172000 031100 MOV #172000,BUF FER+2 SSET UP LD STATUS A INSTR WITH STOP
2090 021534 012777 031076 160266 MOV #RUFFER.GDPC  :START
2091 021542 013737 002042 001122 MOV SREG],$8DADR  :SET UP REG ADRS 12
2092 021550 005777 160266 TST aSREG] :SEE THAT DIiSPLAY BUSY IS SET
2093 021554 100403 BM] 1% ‘BR IF SO
2096 021556 005037 003126 CLR $RDDAT “INDICATE DISPLAY BUSY NOT SET
2095 021562 104044 ERROR 44 ;DiISPI AY BUSY NOT SET
2096 021564 005277 160240 1%: INC aDP( ;ADVANCE TO STOP INSTR
2097 021570 005037 001124 CLR $GDDAT *EXPECTE ZERO
2098 021574 005777 160242 TST aSREG] :SEE THAT DISPLAY BUSY HAS (LEARED
2099 021600 100004 BPL TST154 ::G0 TO NEXT TEST IF OK
2100 021602 012737 100000 001126 MOV #100000,$8DDAT :INDICATE DISPLAY BUSY WAS STILL SET
S}g; 021610 104044 ERROR 44 :DISPLAY BUSY FAILED TO CLR ON STOP INSTR
2103
2104 IR AR A AR A AR AR AR A AR R AN AN RN RAN AN NP ANAARAANRARRANRARNAA RN
(3 ;[EST 154 TEST THAT RESET WILL CLEAR DISPLAY BUSY
(3) ""itttttttt*tttttt*tttttttﬁtlttttttﬁtt'tttttttttttttttttttttt!ttt
(2) 021612 000004 7§T154: SCOPE
(1) 021616 012737 000040 001166 MOV #40,8TIMES ::DO 40 ITERATIONS
(2) 021622 012737 000154 001206 MoV #154 ,8TESTN J:SET TEST NUMBER IN APT MAJL BOX
2105 021630 013737 002042 001122 MOV SREGT,$8DADR  :SET UP REG ADRS 12
2106 021636 012777 020000 160216 MOV #8IT13 aSTKPT  :SET MAINT SW 2
2107 021644 012737 164000 031076 MOV #164000,BUFFER :SET UP NOP INSTR
2108 021652 012777 031076 160150 MOV #BUFFER.ADPC  :START
2109 021660 012737 000404 001124 MOV #4604 ,3GDDAT CEXPECT ONLY CHAR & VECTOR SCALE BITS
2110 021666 000005 RESET *CLR BUSY
2111 021670 017737 160146 001126 MOV aSREG1,$8DDAT  :READ REG 12
2112 021676 023737 001124 001126 CMP $GDDAT ,$8DDAT ;IS IT CORRECT?
2113 021704 001601 BEQ TST15S DINEXT TEST IF 0K
g}}g 021706 104044 ERROR 44 SRESET FAILED TO CLR DISPLAY BUSY
2116 ""tit"ttttttttttttttttttttttttttitttttttttt*ttttttttttt*iittttiti
3 ;«TEST 15 TEST THAT EXTERNAL STOP WILL SET & RESET WITH DISPLAY OFF
(3) .'"ttttt:ttttttttt**tttttt‘ttttt*tttttttttttttttttttttﬁttttttﬁtttit
(2) 02171C 000004 7ST1~5: SCOPE
(1) 021712 012737 000040 001166 MOV #40,8TIMES ::DO 40 ITERATIONS
(2) 021720 012737 000155 001206 MOV #15§,STESTN ;:SET TEST NUMBER IN APT MAIL BOX
2117 021726 012777 020000 160126 MOV #MIT13,aSTKPT ;SET MAINT SWITCH #2
2118 021734 032737 000340 177776 MOV #340,PSW SET PRIORITY TO HIGEST LEVEL
2119 021742 000005 RESET *MAKE SURE DISPLAY IS OFF
2120 021744 013737 002042 001122 MOV SREG?,$BDADR :SET UP REG 12 ADRS
2121 021752 012737 000200 001124 MOV #200,$GDDAT "EXPECT EXTERNAL STOP TO BE SET
2122 021760 013777 001124 160054 MOV $GDDAT,@SREG!  -SET EXTERNAL STOP
2123 021766 105777 160050 TSTR  @SREGT “SEE IF BIT SET
2124 021772 100403 BM] 1% ‘BR IF IT DID SET
2125 021774 005037 001126 CLR $BDDAT ;INDICATE IT WAS NOT SET
2126 022000 104045 ERROR 45 "EXTERNAL STOP FAILED TO SFT
2127 022002 012777 031076 160020 1%: MOV #BUFFER,ADPC  -CLR EXTERNAL STOP BIT
2108 022010 105777 160026 TSTB  @SREGT ‘CHECK THAT IT WAS CLEARED
2129 022014 100006 8PL 1ST156 “:BR TO NEXT TEST IF OK
2130 022016 005037 001124 CLR $GDDAT “EXPECTED ZERO
2131 022022 012737 000200 001126 MOV #200, $BDDA [ “INDICATE THAT IT DID NOT CLR
2132 022030 104045 ERROR 45 JEXTERNAL STOP FAILED TO CLR ON START
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(ZVSA-B  VvS60 INSTRUCTION TES
(ZVSAB,.P11 29-MAY-79 10:10 T156 TEST THAT EXTERNAL STOP WILL SET & RESET WiTH DISPLAY BUSY SEQ 0062
2134 AR AR R AR A AR AR AR AN AR AN AR AR A NANA AR NN RN NNARANER AN A AR RRRN RN
(3) ;*TEST 156 TEST THAT EXTERNAL STOP WILL SET & RESET WITH DISPLAY BUSY
(3) IR AR AR AR AR R AR AR AR AN RN N RN A AR RN AR AN AR A AR NCA R AR RN RN RN AN AN
(2) 022032 Q00004 TST156: SCOPE
(2) 022034 012737 000156 001206 MOV #156 ,$TESTN ;oSET TEST NUMBER IN APT MAIL BOX
2135 022042 012777 020000 160012 MOV #BI1T13,aSTKPT ;SET _MAINT SWITCH #2
2136 022050 012737 000340 177776 MOV #340,PSW ;SET PSW TO 7
2137 022056 012737 000200 001124 MOV #200,$GDDAT SJEXPECT EXTERNAL STOP TO BE SET INITIALLY
2138 022064 012737 164000 031076 MOV #164000.BUFFER :SET UP A NOP INSTR
2139 022072 012777 031076 157730 MOV #8UFFER ,aDPC ;START
2140 022100 012737 164000 031100 MOV #164000,BUFFER+2 JSET UP ANOTHER NOP
2141 022106 013777 001124 157726 MOV $GDDAT ,@SREG! . ISSUE A SOFTWARE STOP
2142 022114 005277 157710 INC aDP( ;THIS RESUME SHOULD ALLOW EXTERNAL STOP TO SET
2143 022120 013737 002042 001122 MOV SREG1,$BDADR ;SET UP REG ADRS 12
2144 022126 -032777 000200 157706 BIT #200,3SREG1 JSEE IF 1T SET
2145 022134 001004 BNE 1% ;BR IF SO
2146 022136 005037 001126 (LR $8DDAT JINDICATE IT DID NOT SET
2147 022142 104045 ERROR 45 JEXTERNAL STOP FAILED TC SET WHEN DISPLAY BUSY
2148 022144 000415 BR TST157 ;.60 LOOK FOR LOOP ON TEST SW
2149 0221646 012777 031076 157654 1%: MOV #BUFFER,aDP( JSTART = THIS SHOULD CLR EXT STOP
2150 022154 032777 000200 157660 BIT #200,aSREG! ;CHECK THAT IT DID CLEAR
2151 022162 001406 BEQ 151157 ;:G0 TO NEXT TEST IF EXTERNAL STOP CLEARED
2152 022164 005037 001124 (.R $GDDAT JEXPECTED ZERO
2153 022170 (12737 000200 001126 MOV #200,$8DDAT JINDICATE [T DID NOT (LR
g}gg 022176 104045 ERROR 45 JEXTERNAL STCP FAILED TO CLR ON START
2156 R RN R AR R R R R AR AR AR R R AR AR R AN R R AN AR R A AR A RN AR RN R AR AR R RNR AR RN
(3) ;«TEST 157 TEST THAT KESET WILL CLEAR EXTERNAL STOP
(3) IR A A R R A RN A AN AR AR R AR R AR R R AR R A A AR AR R AR A NN R AR A NRN RN RN RS
(2) 022200 000004 TST157: SCOPE
(1) 022202 012737 000010 001166 MOV #10,8$TIMES ;.D0 10 ITERATJIONS
(2) 022270 012737 000157 001206 MOV #157 $TESTN ;2SET TEST NUMBER IN APT MAIL BOX
2157 022216 000005 RESET sMAKE SURE DISPLAY IS OFFf
2158 022220 013737 002042 001122 MOV SREG1,$BDADR ;SET UP REG 12 ADRS
2159 022226 005037 001124 (LR $GDDAT JEXPECT RESET STATE
2160 022232 012777 000200 157602 MOV #200,aSREG1 ;SET EXTERNAL STOP
2161 022240 000005 RESET JCLR IT
2162 022242 032777 000200 157572 BIT #200,3SREGT ;DID IT CLR?
2163 022250 001404 BEQ TS1160 s NEXT TEST IF SO
2164 022252 0127%7 000200 001126 MOV #200, $BDDAT ;SHOW THAT [T WAS STILL SET
S}gg 022260 104045 ERROR 45 JRESET FAILED TO CLR EXTERNAL STOP
2167 N N AT A AR AN A A AR AN RN R AR AN AR AR AR AN AR RN AR AR AR RN R AN
(3) ;*TEST 160 TEST THAT EXTERNAL STOP WILL CAUSE AN INTERRUPT
(3) IR AR R AR RN AR RN R AN R A AR AR A AN R AR AR AN AR N ARA AR R AN R AR R A R AR RN
(2) 022262 000004 TST160: SCOPE
(1) 022264 012737 000040 001166 MOV #40,8TIMES ;.D0 40 ITERATIONS
(2) 022272 012737 000160 001206 MOV #160, STESTN :oSET TEST NUMBER IN APT MA]L BOX
2168 022300 012777 020000 157554 MOV #EIT13,aSTKPT :SET MAINT SWITCH #2
2169 022306 000005 RESET ;MAKE SURE DISPLAY IS OFF
2170 022310 012737 000340 177776 MOV #340,PSW ;SET PSW TO 7
2171 022316 013737 002042 001122 MOV SREGT,$8DADR ;SET UP REG 12 ADRS
2172 022324 012737 000200 001124 MOV #200,$GDDAT JEXPECT EXTERNAL STOP FLAG
2173 022332 013701 001252 MOV SVECTT R ;GET BASIC VECTOR ADRS
2174 022336 042701 160000 BIC #160000,R1 . CLEAR PSW BITS tr B owe

2175 022342 012711 022406 MOV #1%,(R1) JSET UP STOP INT ADRS
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CZVSAB.P11

2176

022346
022354
022362

022426

022432
022434
022442
022450
022456
022464
022470
022474
022502
022510
022516
022524
022532
022536
022544
022546
022554
022562
022564
022566
022570

022622

022624
022626
022634
022642
022650
022656
022664
022672

012761
012777
005037
017737
042737
104033
000410
022626
032777
001003
005037
104033
004737

000004
012737
012737
012777
012737
013701
042701
012761
012761
013737
012737
012777
005037
012777
021616
017737
042737
104046
000414
022626
017737
042737
023737
001401
1046046
004737
000005

000004
012737
012737
013737
012777
012737
012737
012777

000340
000200
177776
157450
177577

000200
001126
024454

000040
000161
020000
000340
001252
160000
022566
000340
002042
004060
007600
177776
000000

157270
173717

157246
173717
001124

024454

000040
000162
002042
020000
000340
000404
007600

PART 1

000002
157460

001126
001126

157424

201166
001206
157404
177776

000010
000012
001122
001124
157306

157264

001126
001126

001126
001126
001126

001166
001206
001122
157204
177776
001124
157140

L S
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TEST THAT EXTERNAL STOP

1160

MOV
MOV
CLR
MOV
BIC
ERROR
BR
1%: C(MP
BIT
BNE
CLR
ERROR
2%: JSR

#340,2(R1)
#200,3SREG1
PSW
aSREG1,$BDDAT
2177577, $8DDAT
33

2%

(R6)+, (R6) +
#200,aSREG1
2%

$BDLAT

33
PC.RSTVEC

43 PAGE 9-40

WILL CAUSE AN INTERRUPT

JSET UP PSW TO 7 ON INT

s CAUSE AN EXTERNAL STOP INT

JALLOW INT TO OCCUR

JREAD REG 12

;SAVE ONLY STOP FLAG

JEXTERNAL STOP FAILED TO INTERRUPT

;GO LOOK FOR LOOP ON TEST SWIT(H

JFIX STK SINCE NO RETURN

;CK THAT STOP FLAG IS SET

;BR IF SO

;INDICATE FLAG WAS NOT SET

JEXTERNAL STOP INTERRUPTED BUT FLAG NOT SET
JRESTORE EXTERNAL STOP VECTOR WITH HALT

';tt*tt*ttﬁttt*t*t*tt*tt****t*ﬁttﬁ*t*t*tt*ttt*tt***ﬁ*ﬁtﬁ*ttt**ttt

TEST THAT TIME OUT WILL CAUSE AN INTERRUPT

S AT A AAAN R R A AN AA AN RAAARA AR AN AAAAAAARANRAAAARANRAAAA AN A AN AR AR RN

TRTEST 161

TST161: SCOPE
MOV
MOV
MOV
MOV
MOV
BIC
MOV
MOV
MOV
MOV
MOV
CLR
MOV
C(MP
MOV
BIC
ERROR
B8R

1%: CMP
MOV
BIC
CMP
BEQ
ERROR

2%: JSR
RESET

#40.8TIMES
2161, $TESTN
#8IT13,3STKPT
#340,PSW
SVECT1,R1
#160000.R1
#18,10(R1)
#340.12(R1)
SREG?, $BDADR
#4060 .$GDDAT
#7600.3RL0
PSW

#0,aDPC
(SP) . (SP)
@SREG1, SBDDAT
#173717, $BDDAT
46

2$

(R6)+, (R6) +
aSREG1, SBDDAT
#173717,$8DDAT
$GDDAT, $BDDAT
2

46

PC.RSTVEC

2:D0 40 ITERATIONS

2;SET TEST NUMBER IN APT MAIL BOX
;SET MAINT SWITCH #2

;SET PRIORITY TO HIGHEST LEVEL

;GET BASIC VECTOR ADRS

. CLEAR PSW BITS *x B aw

;SET UP TIMEOUT INT SERVICE ADRS

;SET UP PRIORITY TO 7 ON INT

;SET UP REG 12 ADRS

;EXPECT TIMEOUT & DPC 16,17

;RELOCATE TO ADRS 760000

JALLOW INTERRUPT TO OCCUR

;DISPLAY WILL TIMEOUT AT ADRS 760000

JALLOW TIME

JREAD REG 12

;SAVE ONLY TIMEOUT BIT & DPC 16,17

:VS60 FAILED TO INTERRUPT ON TIME OUT

;GO LOOK FOR LOOP ON TEST SWITCH

sFIX STACK SINCE NO RETURN

sREAD STATUS

;SAVE TIMEOUT & DPC 16,17

;CORRECT?

;BR IF SO

sTIMEOUT BIT FAILED TO SET ON INTERRUPT

JRESET TIMEOUT VECTOR WITH HALT

;CLR RELOCATE REG BEFORE ADVANCING

A ALA LR ARl s sl ittt i il Aot bttt Al e it

TEST THAT RESET WILL CLEAR TIMEOQUT FLAG

MR A4S sdd 2220t RRRRRRRRR0R SR R0 2R RA0RRRRRRRRREREDE

SxTEST 162

1ST162: SCOPE
MOV
MOV

#40 STIMES
2162, $TESTN
SREGT, $8DADR
#1715, 3STKPT
#340,PSW
#4064  $GDDAT
#7600,aRLO

:.D0 40 ITERATIONS

;2SET TEST NUMBER IN APT MAIL BOX
;SET L.P. REG ADRS 12

.SET MAINT SW ?2

JDON'T LET INTR OCCUR.

SEXPECT ONLY CHAR & VECTOR SCALE B]TS
sRELOCATE TO ADRS 760000

SEQ 0063
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CZVSAB.P11

2222
2223
2224
2225
2226
2227
2228
2229
2230

(3)

(3)

(2)

(1)

(2)
2231
2232
2233
2254
2235
22%
2237
2238
2239
2240
2241
22642
2243
2244
2245
2246
2247

022700
022706
022710
022712
022720
022726
022730

022732
022734
022742
022750
022756
022764
022772
023000
023006
023014
023022
023026
023034
023040
023046
023054
023062
023070
023072
023074
023076
023104
023112
023120
023122

023124
023126
023134
023142
023150
023156
023164
023172
023200
023206
023214
023220
023226
023232
023240
023246

29-MAY-79 10:10

012777
021616
000005
017737
023737
001401
104032

000004
012737
012737
012737
012777
012737
012737
012777
052777
012737
005277
012737
005277
013737
052777
017737
023737
001401
104034
000005
012737
017737
023737
001401
104032

000004
012737
012737
012737
212777
012737
012737
012777
052777
012737
005277
012737
005277
013737
052777
017737

000000

157124
001124

000040
000163
000340
020000
144000
164360
031076
040000
122000
157002
001777
156770
002052
040000
156772
001124

100000
156742
001124

000040
000164
000340
020000
101440
164760
031076
040000
122000
156610
001777
156576
002052
000400
156600

157122

001126
001126

001166
001206
177776
157076
001124
031076
157022
157046
031100

031102

001122
156776
001126
001126

001124
001126
001126

001166
001206
177776
156704
001124
031076
156630
156654
031100

031102
001122

156604
001126

M 5
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1162 TEST THAT RESET WILL CLEAR TIMEOUT FLAG

MOV #0,aDP( ;DISPLAY SHOULD TIMEOUT AT ADRS 760000
CMP (SP), (SP) ;ALLOW TIME

RESET :CLR REG REG 12

MOV a@SREG1,$BDDAT  ;READ REG 12

CMP $GDDAT ,$8DDAT ;IS IT CORRE(CT?

BEQ TST163 *;NEXT TEST IF Ok
ERROR 32 *RESET FAILED TO CLR TIMEOUT
" .'ttt*ttttttﬁkttit*tttt**l‘tttttttﬁt*ttttittttittttttt***tti**tttt
TeTEST 163 TEST THAT LIGHT PEN FLAG WILL SET THEN CLEAR ON RESET - CONS 0
.-"tttitttﬁi*ttttti*tttﬁ!tttﬁﬁ*tﬁﬁtttt.tﬁﬁtttﬁtﬁﬁ**ﬁtﬁ**'tttt**ttt
TST163: SCOPE
MOV #40,$TIMES ::D0 40 ITERATIONS
MOV #163,$TESIN S SET TEST NUMBER IN APT MAIL BOX
MOV #3460 .PSW "HIGHEST PRIORITY

MOV #20000,3STKPT  :SET MAINT SW 2

MOV #16464000,8GDDAT  :EXPECT L.P. FLAG INITIALLY
MOV #164360.BUFFER -ENABLL L.P FLG INTR

MOV #BUFFER.ADPC - START

BIS #40000,3STKPT  -SET MAINT SW 3

MOV #122000,BUFFER+? :GRAPH X MODE
INC aDP( s RESUME
MOV #1777 ,BUFFER+4 :X=1777
INC aDP( ;RESUME

MOV CONS , SBDADR ;SET UP REG ADRS 27
BIS #40000,3CONS JSET L.P. FLAG

MOV dCONS, $BDDAT ;READ FLAGS REG 27
CMP $GDDAT ,$BDDAT ;IS IT CORRECT?

BEQ 1% ;BR IF SO
ERROR 34 ;LIGHT PEN FLAG FAILED TO SET - CONSOLE O
1%: RESET ;CLR FLAGS

MOV #100000,8GDDAT ;EXPECT ONLY INT ENA CONSOLE O
MOV aCONS , $BDDAT ;READ REG 272
CMP $GDDAT ,$BDDAT  ;DID REG 22 RESET?

BEQ TST164 ;NEXT TEST IF SO

ERROR 32 JRESET FAILED TGO CLEAR FLAGS - CONSCLE O
T R T
;*TEST 164 TEST THAT LIGHT PEN FLAG WILL SET THEN CLEAR ON RESET - CONS 1
P R L T e L e LI P P A
TST164: SCOPE

MOV #40,STIMES ;:D0 40 ITERATIONS

MOV #164,3TESTN ;:SET TEST NUMBER [N APT MAL BOX

MOV #340.PSW “HIGHEST PRIORTY

MOV #20000.3STKPT  :SET MAINT Sw 2

MOV #1014640,8GDDAT EXPECT L.P. FLAG INITIALLY
MOV #164760 .BUFFER :ENABLE L.P. FLG

MOV #BUFFER.ADPC  :START

BIS #40000,3STKPT  >SET MAINT Sw 3

MOV #122000,BUFFER+2 “GRAPH X MODE
INC aDP( :RESUME

MOV ¥1777 .BUFFER+4 -X=1777

INC aDPC *RESUME

MOV CONS, $S8DADR “SET UP REG ADRS 22
BIS #400.3CONS “SET L.P. FLAG

MOV ICONS, SBDDAT ;READ [T BACK

SEQ 0064
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2268
2269
2270
2271
2272
2273
2274
2275
2276
2277
2278

(3)

(3)

(2)

(1)

(2)
2279
2280
2281
2282
2283
2284

023254
023262
023264
023266
023270
023276
023304
023312
023314

023316
023320
023326
023334
023342
023346
023352
023360
223366
023374
023400
023406
023414
023422
023430
023436
023442
023450
023454
023462
023470
023474
023500
023502
023504
023506
023510
023516
023520
023522
023524
023532
023534
023536
023540
023542
023550
023552
023554
023556
023564
023566
023574

023737
001401
104034
000005
012737
017737
023737
001401
104032

000004
012737
012737
012737
013701
042701
012761
012761
012737
012700
012777
012737
012777
052777
012737
005277
012737
005277
013737
052777
005037
012701
005301
001376
005700
001451
017737
104050
000454
022626
017737
005700
001002
104050
000444
023737
001402
104050
000436
032777
001012
013737
012737
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001124

100000
156550
001124

000100
000165
000340
001252
160000
023522
000340
144000
000001
020040
164360
031076
040000
122000
156366
001777
156354
002052
040000
177776
000040

156336

156322

001124

000200

002032
000200

PART 1

001126

001124
001126
001126

001166
001206
177776

000004
000006
001124
156454
031076
156406
156432
031100
031102

001122

156362

001126

001126

001126

156246

001122
001124

N S
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T164 TEST THAT LIGHT PEN FLAG WILL SET THEN CLEAR ON RESET =~ CONS 1 SEQ 0065
(MP $GDDAT ,$BDDAT ;CORRECT?
BEQ 1% ;BR IF SO
ERROR 34 sLIGHT PEN FLAG FAILED TO SET = CONSDLE 1
1%: RESET :CLR FLAGS
MOV #100000,8$GDDAT ;EXPECT ONLY INT EN FOR CONSOLE O
MOV aCUNS, $BDDAT ;READ REG 22
CMP $GDDAT ,$BDDAT  ;(CORRE(CT?
BEQ TST165 ::NEXT TEST IF SO
ERROR 32 JRESET FAILED TO CLR FLAGS = CONSOLE 1
;:tttttttﬁtttt**tttttttittt*tttttttﬁt*ttttnttttt*tttttttttttttttt
JxTEST 165 TEST THAT LIGHT PEN FLAG =~ CONSOLE O WILL CAUSE AN INTERRUPT
:.'ﬁtttttitttttttttttttttttt*ttttttﬁttttttttttttttttttlttttﬁ***ltt
TST165: SCOPE
MOV #100,$TIMES ::D0 100 ITERATIONS
MOV #165,8TESTN ::SET TEST NUMBER IN APT MAIL BOX
MOV #340,PSW :SET PRIORITY T0 7
MOV $VECT1,R1 ;GET BASIC VvS60 VECTOR ADRS
BIC #160000.R ; CLEAR PSW BITS *% B xw
MOV #3%,4(R1) ;SET UP INTR SERVICE ADRS
MOV #340,6(R1) :SET UP PRIORITY TO 7 ON INT
MoV #144000,8GDDAT  EXPECT INT EN, L.P. FLG, L.P. INT EN
MOV #1,R0 ;RO WHEN NON-ZERC MEANS INT EXPECTED
MOV #20040,9STKPT  :SET MAINT SW 2
MOV #164360,BUFFER ;SET UP TO ENAB L.P. INT & INTENSITY EN
1%: MOV #BUFFER,aDPC :START
BIS #40000,9STKPT  :SET MAINT SW 3
MOV #122000,BUFFER+2 :GRAPH X MODE
INC aDPC :PICK UP GRAPH X INSTR = [NT WILL OCCUR IN DATA MODE
MOV #1777 ,BUFFER+4 ;X=1777
INC aDPC ;RESUME FOR X
MOV CONS,$BDADR ;SET UP REG ADRS 22
BIS #40000,9CONS :SET L.P. FLAG
CLR PSW JALLOW INTR
MOV #60,R1 ;SET UP DELAY
2%: DEC R1 ;COUNT AWAY
BNE 2% ;STAY UNTIL DONE
TST RO :DO WE EXPECT INT THIS PASS ~ NO IF ZERO
BEQ 7% ;BR IF NOT
MOV aCONS, $BDDAT :READ L.P. STATUS
ERROR SO ;LIGHT PEN CONSOLE O INTERRUPT FAILURE
BR 8% ;GO LOOK FOR LOOP ON TEST SW
3%: (MP (R6)+,(R6)+ JFIX STACK SINCE NO RTI
MOV aCONS, $BDDAT :GET CONTENTS OF REG 22
TST RO ;:DID WE EXPECT AN L.P. INTERRUPT THIS PASS?
BNE 49 ;BR [F SO
ERROR S0 :L.P. FLAG INTERRUPTED WHEN NCT ENABLED
BR 8% ;GO LOOK FOR LOOP ON TEST SW
4%: CMP $GDDAT,$BDDAT  ;SEE IF STATUS IS CORRECT AFTER INT
BEQ 5% ;BR IF SO
ERROR SO :INCORRECT INTERRUPT STATUS
BR 8% ;GO LOOK FOR LOOP ON TEST Sw
5¢%: 8IT #200,aSREGO :L.P. FLG SET IN REG 02 ALSO?
BNE 6% :BR IF SO
MOV SREGO, $BDADR ;SET UP REG ADRS 02
MOV #200,$GDDAT EXPECTED L.P. FLAG

-
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(ZVSA-B VSO0 INSTRUCTION TEST PART 1 MA(CY11 30G(1063)
(IVSAB.P11 29-MAY-=79 10:10 T165 TEST THAT LIGHT PEN FLAG - CONSOLE O WILL CAUSE AN INTERRUPT SEQ 0066
2319 023602 005037 001126 (LR $BDDAT JSHOW IT WAS NOT SET
2320 023606 104050 ERROR 50 :L.P. FLAG FAILED TO SET AT REG 02
2321 023610 000420 B8R 8% ;60 LOOK FOR LOOP ON TEST Sw
2¥22 023612 012737 100000 001124 6%: MOV #100000,8GDDAT  ;SET UP EXPECTED WITH L.P. FLAG INT DISABLED
2323 023620 012737 16430 031076 MOV #16463640 BUFFER ;SET UP INSTR WITH L.P. FLAG INT DJISABLED
2324 023626 005000 CLR RO JSET TEST SWITCH TO NO INTERRUPT EXPECTED
2325 023630 000671 BR 1% ;GO REPEAT TEST WITH INT EN DISABLED
2326 023632 017737 156214 001126 7%: MOV aCONS , SBDDAT ;READ REG 22
2327 023640 023737 001126 001124 cMP $8DDAT ,$GDDAT  ;FLAG CLR ON START?
2328 023646 001401 BEQ 8$ :BR IF SO
2329 023650 104034 ERROR 34 JSTART FAILED TO CLR L.P. FLAG
S%%? 023652 004737 024454 8%: JSR PC,RSTVEC :RESET L.P. INTERRUPT VECTOR WITH HALT
2337 ;;tttttttttitﬁttttttttttttt'ttlttttQttttl!tttt.ttttt'ttiltttttttt
(3 ;»TEST 166 TEST THAT LIGHT PEN FLAG - CONSOLE 1 WILL CAUSE AN INTERRUPT
(3) .-:ttitttt'ttttttttttittttttttttttttttttttttttttttttttttttttﬁttttt
(2) 023656 000004 TST156: SCOPE
(1) 023660 012737 000100 001166 MOV #100,8TIMES ;:D0 100 ITERATIONS
(2) 023666 012737 000166 001206 MOV #166,8TESTN ;:SET TEST NUMBER IN APT MAIL BOX
2333 023674 012737 000340 177776 MOV #340,PSW :SET PRIORITY T0 7
2334 023702 013701 001252 MOV SVECT1 R :GET BASIC vS60 VECTOR ADRS
2335 023706 042701 160000 BIC #160000,R? : CLEAR PSW BITS wx B ws
2336 023712 012761 0246062 0000C4 MOV #38,4(RY) ;SET UP INTR SERVICE ADRS
2337 023720 012761 000340 000005 MOV #340,6(R1) :SET UP PRIORITY TO 7 ON INT
2338 (023726 012737 101440 001124 MOV #101440,8GDDAT  ;EXPECT INT EN, L.P. FLG, L.P. INT EN
2339 023734 012700 000001 MOV #1,R0 ;RO WHEN NON-ZERO MEANS INT EXPECTED
2340 023740 012777 020040 156114 MOV #20040,aSTKPT  :SET MAINT Sw /¢
2341 023746 012737 164760 031076 MOV #164766.BUFFER JSET UP TO ENAB L.P. INT & INTENSITY EN
2342 023754 012777 031076 156046 1%: MOV #BUFFER,aDP( :START
2343 023762 052777 040000 156072 BIS #460000,aSTKPT  ;SET MAINT SW 3
2344 023770 012737 122000 031100 MOV #122000,BUFFER+2 :GRAPH X MODE
2345 023776 005277 156026 INC aDP( :PICK UP GRAPH X INSTR - INT WILL OCCUR N DATA MODE
2346 024002 012737 001777 031102 MOV #1777 BUFFER+4 :X=1777
2347 0264010 005277 156014 INC aDPC JRESUME FOR X
2348 024014 013737 002052 001122 MOV CONS, $BDADR ;SET UP REG ADRS 22
2349 024022 052777 000400 156022 BIS #4600, 3CONS :SET L.P. FLAG
2350 024030 005037 177776 CLR PSW JALLOW INTR
2351 024034 012701 000040 MOV #40,R1 ;SET UP DELAY
2352 024040 005301 2%: DEC R1 ;COUNT AJAY
2353 024042 001376 BNE 2% :STAY UNTIL DONE
2354 (024044 005700 TST RO :DO WE EXPECT INT THIS PASS - NO IF ZERO
2355 024046 001433 BEQ 6% :BR IF NOT
2356 024050 017737 155776 001126 MOV a(ONS, $8DDAT :READ L.P. STATUS
2357 0264056 104050 ERROR SO ;LIGHT PEN CONSOLE 1 INTERRUPT FAILURE
2358 (024060 000436 BR 7% ;GO LOOK FOR LOOP ON TEST Sw
2359 024062 022626 3% CMP (R6)+,(R6)+ JFIX STACK SINCE NO RTI
2360 024064 017737 155762 001126 MOV aCONS , $BDDAT JGET L.P. STATUS
2361 024072 005700 TST RO :DID WE EXPECT AN L.P. INTERRUPT THIS PASS”
2362 024074 001002 BNE 4% :BR IF SO
2363 024076 104050 ERROR 50 ;L.P. FLAG INTERRUPTED WHEN NOT ENABLED
2364 024100 000426 BR 7% ;GO LOOK FOR LOOP ON TEST SW
2365 024102 023737 001124 001126 4%: CMP $GDDAT ,$8DDAT  ;SEE IF STATUS IS CORRECT AFTER INT
2366 024110 001402 BEQ 5% :BR IF SO
2367 024112 104050 ERROR 50 ;INCORRECT L.P. STATUS
2368 024114 000420 BR 7% ;GO LOOK FOR LOOP ON TEST SW
2369 0241 6 012737 101000 001124 5%: MOV, + #101000,$GDDAT  ;SET UP TEST WITH L.P. FLAG INT DISABLED
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2370
2371
2372
2373
2374
2375
2376
2377
2378
2379

(3)

2400
2401

024124
024132
026134
024136
024144
024152
026154
024156

024162
024164
024172
024200
0264206
026214
024220
024224
024232
026234
024240
0264246
024254
024262
024270
024272
024274
024300
024306

024310
024312
024320
024326
024330

012737
005000
000707
017737
023737
001401
104034
004737

000004
012737
012777
012737
012737
005037
005037
012777
000402
005277
013737
017737
042737
023737
001401
104041
006337
022737
001352

000004
012737
032777
001401
000009

29-MAY-79 1C:10

164740

155710
001124

024454

000167
020000
000100
110000
031100
031102
031076

000170
010000

PART 1

031C76

001126
00112¢

001206
155662
001124
031076

155576

01122
001126
001126
001126

001124

001206
154612

MACY11 30G(1063)

MOV
(LR
BR
6%: MOV
C(MP
BEQ
ERROR
’%: JSR

C 6
17-SEP-79 08:43 PAGE 9-44
1166 TEST THAT [ IGHT PEN FLAG - CONSOLE 1 WILL CAUSE AN INTERRUPT

#164740,BUFFER
RO .

1%

aCONS, $BDDAT
$GDDAT , $8DDAT
’$

34

PC,RSTVEC

JSET UP INSTR WITH L.P. FLAG DISABLED
JSET TEST SWITCH TO NO INTERRUPT EXPECTED
;G0 REPEAT TEST WITH INT EN DISABLED
;READ REG 22

;L.P. FLG CLR ON START?

:BR IF SO

;START FAILED TO CLR L.P. FLAG

JRESET L.P. INTERRUPT VECTOR WITH HALT

P AR RN A AN AN NN EARAAARNAAARANARCRAAAARAARNARNARAARAARARNRNNAARNAAARNRRARIAAANARAY

TEST THAT*WORD 0,1 & 2 'INDICATORS WILL SET

';ttttttﬁttﬁ'tt'.t..lt.i't*t!itt'ti!tii‘tt.'t"*'."tt't!tit'tt't

TRTEST 167

1ST167: SCOPE
MOV
MOV
MOV
MOV
(LR
CLR
MOV
BR
1%: INC
2%: MOV
MOV
BIC
CMP
BEQ
ERROR
3%: ASL
™MP
BNE

#167,$TESTN
MIT13.3STKPT
#100,8GDDAT
#110000 ,BUFFEQ
BUFFER+2"®
BUFFER+4 ',
#BUFFER, 320¢
23 ’

aDPC

STKPT, $8DADR
aSTKPT, $BDDAT
2177077, $8DDAT
$GDDAT, $8DDAT
3s

41

$GDDAT
:;OOO.SGDDAT

;oSET TEST NUMBER [N APT MAJL BOX
JSET MAINT SWITCH #2
JEXPECT WORD O INDICATION INITIALLY
:SET UP L?Ng xECTOR INSTR
(L .Y

: START

;GO ALLOW TIME FOR INSTR NPR
;PICK UP DATA WORD

;SET UP REG ADRS 32

;READ REG 32

;SAVE ONLY WORD INDICATORS
;1S 1T CORRECT?

;BR IF SO

;WORD INDICATOR FAILURE
;ADVANCE TO NEXT WORD
;HAVE ALL BEEN TESTED?

.BR IF NOT

a1 22 8282220222223 2222228282322 22 2 d282 Rt R 22 R2tZRRRT 2]

TEST FOR HALT AT END OF DIAGNCSTIC (SW12 SET)

2222220 d0R2R0 2R 2Rt 2R0R R R0t RRZ22RdRRRRRRSRRRRRR S]]

S*TEST 170

TST170: SCOPE
MOV
BIT
BEQ
HALT

#170,$TESTN
#B1T712,aSWR
$EOP

;;SET TEST NUMBER [N APT MAIL BOX
;1S SW12 SET?

;BR IF NOT

;COMPLETED PASS - SW1Z2 SAYS HALT

SEQ 0067
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(ZVvSA-B VSO0 INSTRUCTION TES
(ZVSAB.PI 1 29-MAY~-79 10:10 END OF PASS ROUTINE SEQ 0068
2493 .SBTTL END OF PASS ROUTINE
E?; ""QQiﬁittl"tt‘.Q."t‘ttt'tttttttttttltttttttt.t'ttt.tttt'tttttt't
(1) s *INCREMENT THE PASS NUMBER (SPASS)
(1) ;*INDICATE END-OF -PROGRAM AFTER 1 PASSES THRU THE PROGRAM
(1) ;«TYPE 'END PASS #XXXXX'' (WHERE XXXXx IS A DECIMAL NUMBER)
(1) ;*]F THERES A MONITOR GO TO IT
E}; ;*]F THERE ISN'T JUMP TO RESTRT
(1) 024332 $EOP:
(1) 024332 000004 SCOPE
(") Q24334 005037 001102 CLR $TSTNM ;;ZERO THE TEST NUMBER
(1) 024340 005037 001166 CLR $TIMES ;. JERO THE NUMBER OF ITERATIONS
(1) 024344 005237 001210 INC $PASS ;o INCREMENT THE PASS NUMBER
(1) 024350 042737 10000C 001210 BIC #1G0000,8PASS  ;;DON'T ALLOW A NEG. NUMBER
(1) 024356 005327 DEC (PC)+ ;. LOGP?
(1) 024360 000001 SEOPCT: .WORD 1
(1) 024362 003022 BGT $DOAGN ;o YES
(1) 024364 012737 MOV (PC)+,a(PC)+ ; cRESTORE COUNTER
(1) 024366 000001 SENDCT: ,WORD 1
(1) 024370 024360 $SEOPCT
(1) 024372 104401 024437 TYPE . SENDMG ;. TYPE 'END PASS #''
(2) 024376 013746 0037210 MoV $PASS,~(SP) ;. SAVE SPASS FOR TYPEOQUT
(2) 024402 10440° TYPDS ;.60 TYPE-~DECIMAL ASCII WITH SIGN
(1) 024404 104401 024434 TYPE - SENULL ;. TYPE A NULL CHARACTER
(1) 0264410 013700 000042 $GET42: MOV 42, RO ;.GET MONITOR ADDRESS
(1) 0264414 001405 BEQ $DOAGN ; ;BRANCH IF NG MONITOR
(1) 024416 000005 RESET ;sCLEAR THE WORLD
(1) 024420 004710 $ENDAD: JSR PC., (RO ;.60 TO MONITOR
(1) 024422 000240 NOP 22 SAVE ROOM
(1) 024424 000240 NOP ;.FOR
(1) 024426 000240 NOP JCACTNM
(1) 024430 $DOAGN:
(1) 024430 000137 JMP a(PC)+ ;JRETURN
(1) 024432 002472 $RTNAD: .WORD  RESTRT
(1) 026434 377 377 000 S$ENULL: .BYTE  <-1,-1,0 . JNULL CHARA(CTER STRING
21) 024437 015 042472 0642116 SENDMG: .ASCIZ <15><12>/END PASS #/

n
®
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(ZVSA-B  VS60 INSTRUCTION TES

(ZVSAB.P11~ 29-MAY=73 10:10 END OF PASS ROUTINE SEQ 0069
24606 DI AN AR AR AR AR R R AN R RN LR AN AR AR AN R RN ORI RN R R AR AR AN RN AR RN NS
2407 ;THIS CODE RESETS ALL vS60 VECTORS WITH HALTS
26408 N R RN AN R AN AR AN R AN R RN R R AN R AN TN TR NN T RANRR AN TR NN
2409 024454 012737 000340 177776 RSTVEC: MOV #340,PSW JRESET PRIORITY TO HIGHEST LEVEL
2610 024462 012701 000004 MOV #4 ,R1 ;SET UP VECTOR LOCATION COUNT
2611 024466 013700 001252 MOV SVECT1,RO ;GET 1ST vS60 VECTOR ADRS
2412 024472 042700 160000 BIC #160000,RO . CLEAR PSW BITS *r B oee
2613 024476 010010 1%: MOV RO, (RO) ;SET UP ADRS TO HALT
2614 024500 062720 000002 ADD #2,(R0O)+ JPOINT IT TO HALT
2415 024504 005020 (LR (RO) + JSET UP HALT
2616 024506 005301 DEC R1 ;COUNT THIS VECTOR RESTORE
2417 024510 001372 BNE 1% ;BR IF MORE TO RESTORE
5218 024512 000207 RTS PC JRETURN IF ALL DONE
2420 IR R R A R R AR R R AN AR A AN AN AN AN R AN RN R AN AR RN AN N AN AN RN AR AR NN RR AW
2421 ;THIS IS A GENERAL PURPOSE DELAY ROUTINE (REG CNT OF 20)
2622 N AR AR A AR R AN AR AN R T AR AR A NN AR R R AR A AR SRR F NN NN E RN
2623 024514 013700 002026 DLAY:  MQV DELAY RO ;GET COUNT
2426 024520 005300 1¢: DEC RO ; COUNT AWAY
2425 024522 001376 BNE 1% JBR TILL DONE
2626 024526 000207 RTS PC JEXIT

2427
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024526
024526
024534

024536

024540
024544
024552
024556
024562
024564
024566
024572
024574
024574
024602
024604
024612
024614
024620
024622
024630
0264637
024640
0246472
024650
024652
024656
024662
024664
024672
v 6674
024700
024702
024706
026714
024716
024724
0246732
024736
024744

29~MAY~-79 10:

032777
001114

000416

013746
012737
005737
012637
000463
022626
012637
000423

032777
001404
127737
001465
105737
001421
123737
101015
03277/
001404
013737
000446
105037
005037
000415
032777
001011
005737
001406
005237
023737
002024
012737
013737
105237
113737
011637

S
0

040000

000004
024564
177060
000004

000004

000400
154330
001103
001115
001000
001110

001103
001166

004000
001210

001104
001166

000001
025002
001102
001102
001106

T PART 1

154404

000004

154336
001102

001103
154300
001106

154246

001104

001104
001166

001206
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SCOPE HANDLER ROUTINE

.SBTT. SCOPE HANDLER ROUTINE

BE2Z22322233232322023222R220 22820 RS20 RRRRRRRRRRdd ]|

:*THIS ROUTINE CONTROLS THE LOMCING OF SUBTESTS. 1T WILL INCREMENT
:+AND LOAD THE TEST NUMBER(STS AM) [NTO THE DISPLAY REG.(DISPLAY<7:0>)
:«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>

;*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

LeSWi4=1 LOOP ON TEST
LaSWll=" INHIBIT ITERATIONS
- +SW09=1 LOOP ON ERROR
% SWO08-1 LOOP ON TEST IN SWR<7:0>
“wCALL
o SCOPE ::SCOPE-]OT
$SC0PF :
1%: BIT #IT14,aSWR ;:LOOP ON PRESENT TEST?
BNE $OVER “YES IF SWi4-1
SMAAARSTART OF CODE FOR THE XOR TESTERA###A
$XTSTR: BR 68 ;- 1F RUNNING ON THE ''XOR'' TESTER CHANGE
S THIS INSTRUCTION TO A ‘NOP'' (NOP=240)
MOV SFERRVEC,-(SP)  ::SAVE THE CONTENTS OF THE ERROR VECTOR
MOV #5$ , RFERRVEC S SET FOR TIMEOUT
ST 177060 " TIME OUT ON XOR?
MOV (SP)+,a#ERRVEC :-RESTORE THE ERROR VECTOR
BR $SVLAD S:GO TO THE NEXT TEST
5% CMP (SP)+,(SP)+ “CLEAR THE STACK AFTER A TiME OUT
MOV (SP)+.a#ERRVEC ::RESTORE THE ERROR VECTOR
BR 7% . LOOP ON THE PRcSENT TEST

6% MRRRREND OF

CODE FOR THE XOR TESTER#AAAN

BIT #B1T08,aSWR ;;LOOP ON SPEC. TEST?
BEQ 2% ;:BR IF NO
(MP8 dSWR,$TSTNM 22ON THE RIGHT TEST? SWR<7:0>
BEQ $OVER ;:BR IF YES
°%: TSTR $ERFLG :JHAS AN ERROR OCCURRED?
BEQ 3% ;:BR IF NO
{MPB SERMAX ,$ERFLG ::MAX. ERRORS FOR THIS TEST OCCURRED?
BHI 3% ;:BR IF NO
BIT #31709,aSwR ::LO0OP ON ERROR?
BEQ 4% ;cBR IF NG
7% MOV $L PERR, SLPADR :2SET LOOP ADDRESS TO LAST SCOPE
BR $OVER
4%: CLRB $ERFLG ;. ZERO THE ERROR FLAG
CLR $TIMES ::CLEAR THE NUMBER OF ITERATIONS TO MAKE
BR 1% ;;ESCAPE TO THE NEXT TEST
3%: BIT MBIT11,aSWR ;;INHIBIT ITERATIONS?
BNE 1% ;.:BR IF YES
TST $PASS ..IF FIRST PASS OF PROGRAM
BEQ 1% INHIBIT ITERATIONS
INC $ICNT INCREMENT ITERATION COUNT
CMP $TIMES,$ICNT .,CHE(K THE NUMBER OF [TERATIONS MADE
BGE $OVER ;;BR IF MORE ITERATION REQUIRED
1%: MOV #1,81CNT JoREINITIALIZE THE ITERATION COUNTER
MOV SMXCNT ,$TIMES :;SET NUMBE:. OF ITERATIONS TO DO
$SVLAD: INCB $TSTNM ;JCOUNT TEST NUMBERS
MOvVB $TSTNM, STESTN ::5ET TEST NUMBER IN APT MAILROX
MOV (SP) ,$LPADR ::SAVE SCOPE LOOP ADDRESS

SEQ 0070
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024750
024754
024760
0246766
024774
025000
025002

025004
025012
025020
025022
025030
025030
025032
025034
02504C
025042
025050
025052
025060
025062
025066
025074
025100
025102
025106
025110
025112
025116
025120
025124
025132
025134
025142
025150
025154
025160
025162
025162
025166
025170
025174
025176
025202
025204
025212
025220
025224
025230
025234
025240
025242
025244

01637
005037
112237
013777
013716
000002
003720

112737
112737
000403
112737

010046
010146
105737
001450
122737
001031
132737
001425
017600
062766
005737
001372
010037
105720
001376
163700
006200
010037
012737
000413
017637
062766
013746
004737
000000

105737
001416
005737
001413
005737
001375
017637
06276€
005237
105037
105037
105037
012601
012600
000207

001110
001170
000007
001102
001106

000001
000001

000001

025246
000001
000100
000004
000002
001202

001216

001216

001220
00000%

000004
000002
177776
026600

025250

001222

001202

000004
000002
001202
025250
025247
025246

001115
154146

025250
025246

025250

001222
001223

000004

001202

025160
000004

001204
000004

MACY1T 30G(1063)

MOV
CLR
MOvB
MOV
MOV
RTI
$MX(NT: 2000.
.SBTTL

$OVER:

G 6
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SCOPE HANDLER ROUTINE

(SP) ,SLPERR
$ESCAPE
#, SERMAX

SEQ 0071

. :SAVE ERROR LQOP ADDRESS
;. CLEAR THE ESCAPE FROM ERROR ADDRESS
JJONLY ALLOW ONE(1) ERROR ON NEXT TEST

$TSTNM,aDISPLAY ;;DISPLAY TEST NUMBER

$LPADR, (5P)

;:FUDGE RETURN ADDRESS
s FIXES PS
; «MAX. NUMBER OF ITERATIONS

APT COMMUNICATIONS ROUTINE

EE2Z2Z22222220R2RRaR222RRd22 RN SRRSRRRRER!

iATYI:
$ATY3:

$ATYS:
$ATY(:

MOVR
MOVE
BR

MOvB

MOV
MOV
TSTR
BEQ
CMPR
BNE
BITR
8EQ
MOV
ADD
1%: TST
BNE
MOV
°%: TSTR
BNE
SuB
ASR
MOV
MOV
8R
3% MOV
ADD
MOV
JSR

4% .WORD

5¢:
10%: TSTB
BEQ
TST
BEQ
TST
BNE
MOV
ADD
INC
CLRB
CLRB
CLRB
MOV
MOV
RTS

11%:

12%:

A,8FFLG
#1,8MFLG
$ATY(

#1,8FFLG

* RO,=-(SP)

R1,-(SP)

P SMFLG

5%
HAPTENV, SENV
3%

3%

24 (SP) RO
#2,4(SP)
$MSGTYPE

1%

RO, $MSGAD
(RO) +

2%

$MSGAD ,RC
RO

RO, SMSGLGT
6 SMSGTYPE
5%

24 (SP) ,4%
#2,4(SP)
177776,~(SP)
SC,STYPE

$FFLG
12%

SENV

12%
$MSGTYPE
11%

a4 (SP) ,SFATAL
#2,6(SP)
$MSGTYPE
$FFLG
$LFLG
SMFLG
(SP)+ R
(SP)+ RO
PC

©iiIF NOT:
¥APTSPOOL , SENVM

;.70 REPORT FATAL ERROR
;:T0 TYPE A MESSAGE

..TO ONLY REPCRT FATAL ERROR

;sPUSH RO ON STACK
;;PUSH R1 ON STA(CK
;:SHOULD TYPE A MESSAGE?
;;IF NOT: BR
;. OPERATING UNDER APT?
BR
::SHOULD SPOOL MESSAGES?
JJ]F NOT: BR
:2GET MESSAGE ADDR.

:;BUMP RETURN ADDR.
::SEE IF DONE W/ LAST XM]ISSION®
;21F NOT: WAIT
;:PUT ADDR IN MAILBOX
;;FIND END OF MESSAGE

;:SUB START OF MESSAGE

;,GET MESSAGE LNGTH IN WORDS
;;PUT LENGTH [N MAILBOX
;.TELL APT TO TAKE MSG.

::PUT MSG ADDR IN JSR L INKAGE
. :BUMP RETURN ADDRESS

::PUSH 177776 ON STACK

S CALL TYPE MACRO

::SHOULD REPORT FATAL ERROR?
;o IF NOT: BR
;JRUNNING UNDER APT?
;JIF NOT: BR
JJFINISHED LAST MESSAGE?
;o1F NOT: WAD
;;GET ERROR #

:;BUMP RETURN ADDR.
;:TELL APT TO TAKE ERROR
::CLEAR FATAL FLAG
;. CLEAR LOG FLAG
;. CLEAR MESSAGE FLAG
;;POP STACK INTO R1
::POP STACK INTO RO
::RETURN
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P11

025246
025247
025250

025252
025252
025260
025264
025266
025274
025302
025304
025310
025314
025320
025326
025334
025342
025344
025350
025354
025354
025362
025364
025372
025376
025377
025400
025402
025406
025410
025412
025420
025422
025426
025432
025434
025440

29-MAY-79

000
000
000
025252
00020C
000001
000100
000040

113737
105237
001775
013777
032777
00140¢
104401
005237
011637
162737
117737
032777
001004
004737
104401

122737
001007
113737
004737

000

000
000777
005777
100001
000000
032777
001402
013716
005737
001402
013716

10:10

001102
w1103

001102
002000

001172
001112
001116
00000¢
153564
020000

025454
001177

000001

001114
025022

153532

001000

001110
001170

001170

002024

001222
025376

153520
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APT COMMUNICATIONS ROUTINE

$MFLG:  LRYTE
$LFLG: .BYTE
$FFLG: .BYTE
.EVEN
APTS]2E=200
APTENV=001
APTSPOOL=100
APT(SUP=040

0 ,IMESSG. FLAG
0 ::L0G FLAG
0 ;2FATAL FLAG

.SBTTL ERROR HANDLER ROUTINE

""Qtl‘.Q.ﬁ"tt'lﬂﬁi!ﬁﬁt*“iiﬁtttttttiQ.ﬁttlitttt.tttttﬁt't...!ﬁt.

;*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR (OUNT,
;*SAVE THE ERROR ITEM NUMBER AND [HE ADDRESS OF THE ERROR C(ALL
;*AND GO TO SERRTYP ON ERROR

;*THE SWITCH OFTIONS PROVIDED BY TS ROUTINL ARE:

;*SW15=1
;*SW13=1
;*SW10=1
s *SW009=1
s*CALL
o ERROR
$ERROR:
MOVR
7%: INCR
BEQ
MOV
BIT
BEQ
TYPE
1%: INC
MOV
SUBR
MOVR
BIT
BNE
JSR
TYPE
20%:
(MPS
BNE
MOVR
JSR
21s: .BYTE
BYTE
22%: BR
’%: TST
BPL
HALT
3% BIT
BEQ
MOV
0% TST
BEQ
MOV

5¢%:

HALT ON ERROR
INHIBIT ERROR TYPEQUTS
BELL ON ERROR
LOOP ON ERROR

N ;;ERROR-EMT AND N ERROR JTEM NUMKER

$TSTNM, TSTNUM

$ERFLG ;2SET THE ERROR FLAG
14 3 ::DON'T LET THE FLAG GO TO ZERO
$TSTNM_ aDISPLAY ;:DISPLAY TEST NUMBER AND ERROR FLAG
#1T710,aSWR ;;BELL ON ERROR?
1% ;oNO - SKIP
JSBELL ;2RING BELL
$ERTTL ;s COUNT THE NUMBER OF ERRORS
(SP) ,$ERRP( ;2GET ADDRESS OF ERROR INSTRUCTION
#2,8ERRP(
O$ERRPC.,.SITEMB ;.STRIP AND SAVE THE ERROR ITEM (OLE
#3]T13,9SWR ;ISKIP TYPEQUT JF SET
20% ::SKIP TYPEQUTS
PC.$ERRTYP ;2G0 TO USER ERROR ROUTINE
LSCRLT
RAPTENY , $ENV JJRUNNING IN APT MODE
2% ;2NO,SKIP APT ERROR REPORT
$ITEMB,21% ::SET ITEM NUMBER AS ERROR NUMBEK
SC.SATYA :sREPORT FATAL ERROR TO APT
0
22% ;;APT ERROR LOOP
aSWR JJHALT ON ERROR
3% :;SKIP IF CONTINUE
;2HALT ON ERROR!
#IT09,aSWR ;;LO0OP ON ERROR SWITCH SET?
(% .:BR [F NO
$LPERR, (SP) ;:FUDGE RETURN FOR LOOPING
$ESCAPE ;:CHECK FOR AN ESCAPE ADDRESS
5% :2BR IF NONE

$ESCAPE, (SP) ;.FUDGE RETURN ADDRESS FOR ESCAPE

SEQ 0072

9
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(ZVSAB.P11 29-MAY-79 10:1C ERROR HANDLER ROUTINE SEQ 0073

(1) 025440 022737 024420 000042 (MP #SENDAD , a#4 /. ;JACT=11 AUTO=ACCEPT?
(1) 025446 001001 BNE 6% :JBRANCH [F NO

1) 025450 000000 HALT ::YES

(1) 025452 6% :

(1Y 025452 000007 RT] . sRETURN
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(ZVSA-8 VS60 INSTRUCTJON TEST PART 1 MACY11 30G(1063) "AGE 13
(ZVSAB.P1 29-MA ‘=79 10:10 ERROR HANDLER ROUTINE SEQ 0074

2633

2634 .SBTTL ERROR MESSAGE TYPEOU™ ROUTINL
(1)
(2) CIRRANERNANANANARNENAARY R AN RN D R AR R AR A RN RN R RN AN R AR RN RN AN AN
M ;*THIS ROUTINE USES THE "'ITEM (ONTROL SYTE'' ($ITEMB) TO DETERMINE WwHI(H
o :*ERROR IS TO BE REPORTED. IT THEN OBTAINS, FROM THE 'ERROR TABLE'' ($ERRTS’,
) :*AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.
(1M
(1) 025454 $ERRTYP: '
(1) 025454 104401 001177 TYPE L,SCRLF ;' 'CARRIAGE RETURN'' & "LINE FEED''
(1) 025460 010046 MOV RO,~(SP) ;. SAVE RO
(1) 025662 005000 (LR RO JsPICKUP THE ITTEM INDEX
(1) (0256464 153700 001114 BISB A4S I TEMB RO
(1) 025470 001004 B8NE 1% . 1F ITEM NUMBER IS ZERO, JUST
ap ;;TYPE THE PC OF THE ERROR
(2) 025472 013746 001116 MOV $ERRP(C,-(SP) . :SAVE SERRPC FOR TYPEQUT
(2) ; ;ERROR ADDRESS
(2) 025476 104402 TYPOC ;;GO TYPE--OCTAL ASCII(ALL DIGITS)
(1) 025500 000426 B8R (1 3 JGET OUT
(1) 025502 005300 1%: DEC RO ..ADJUST THE INDEX SO THAT T WILL
(1) 025504 006300 ASL RO ;e WORK FOR THE ERROR TABLE
(1) 025506 006300 ASL RO
(1) 025510 006300 ASL RO
(1) 025512 062700 001270 ADD #$ERRTB,RO ;.FORM TABLE POINTER
(1) 025516 0312037 025526 MOV (RO)+,2% ::PICKUP ‘ERROR MESSAGE'' POINTER
(1) 025522 001404 BEQ 4 ;.SKIP TYPEQUT IF NO POINTER
(1) 025524 104401 TYPE ;:TYPE THE 'ERROR MESSAGE''
(1) 025526 000000 . 2%: .WORD O 22" ERROR MESSAGE'' POINTER GOES HERE
(1) 025530 104401 001177 TYPE LSCRLF ;' 'CARRJAGE RETURN'' & 'LINE FEED"'
(1) 025534 012037 025544 3%: MOV (RO)+,4% ;;PICKUP 'DATA HEADER'' POINTER
(1) 025540 001404 BEQ 5% ::SKIP TYPEOUT IF O
(1) 025542 1064401 TYPE ;:TYPE THE 'DATA HEADER''
(1) 025544 000000 4% .WORD 0 ;. ' DATA HEADER'' POINTER GOES HERE
(1) 025546 104401 001177 TYPE SCRLF : “CARRIAGE RETURN'' & "LINE FEED''
(1) 025552 011000 5%: MOV (RO ,RO ..PICKUP ‘DATA TABLE'' POINTER
(1) 025554 001004 BNE 7% ;GO TYPE THE DATA
(1) 025556 012600 6%: MOV (5P)+ RO *RESTORE RO
(1) 025560 104401 001177 TYPE LSCRLF ::'TARRIAGE RETURN'' & "LINE FEED''
(1> 025564 000207 RTS PC . cRETURN
(1) 025566 2 ¥
(2) 025566 013046 MOV a(RO)+,-(SP) ;:;SAVE a(RO)+ FOR TYPEOQUT
(2) 025570 104402 TYPOC ;GO TYPE--OCTAL ASCIIC(ALL DIGITS)
(1) 025572 005710 TST (RQ) ;. 1S THERE ANOTHER NUMBER?
(1) 025574 001770 BEQ 6% ;:BR [F NO
(1) 025576 104401 (025604 TYPE ,8% ;o TYPE TWO(2) SPACES
(1> 025602 000771 BR ’$ .. LOOP
(1) 025604 020040 000 8% - ASCIZ /Y ;. TWO(2) SPACES
(1 025610 LEVEN
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2636
2637
(1)

S
0

n
~

025610 017646 000000
025614 116637 000001
025622 112637 026035
025626 062716 000002
(025632 000406
(25634 112737 000001
025642 112737 000006
025650 112737 000005
025656 010346
025660 010446
025662 010546
025664 113704 026035
025670 005404
025672 062704 000006
025676 110437 026034
025702 113704 026033
025706 016605 000012
025712 005003
025714 006105
025716 000404
025720 006105
025722 006105
025724 006105
025726 (10503
025730 006103
025732 105337 026034
025736 100016
025740 042703 177770
025744 001002
025746 005704
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026033

026033
026035
026032
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ERROR MESSAGE TYPEOQUT ROUTINE

.SBTTL BINARY TO OCTAL (ASCII) AND TYPE

4 2223322333223 232233223220202023R 2R tR0RRRRASRRRRSRRRRRRRARS RS

S%THIS ROUTINE IS USED TO CHANGE A 16=BIT BINARY NUMBER TO A 6-DIGIT
“wOCTAL (ASCII) NUMBER AND TYPE 1IT.
- «$TYPOS---ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE

J*CALL:

oW MOV NUM, - (SP) ;;NUMBER TO BE TYPED

I TYPOS ;;CALL FOR TYPEOUT

i BYTE N ::N=1 TO 6 FOR NUMBER OF DIGITS TC TYPE
M .BYTE M ;:M=1 OR O

o * ;21=TYPE LEADING ZERGS

. ;s 0-SUPPRESS LEADING ZEROS

* N

*$TYPON----ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
*$TYPOS UR $TYPOC

~CALL:
I MOV NUM,-(SP) JJNUMBER TO BE TYPED
i TYPON ;JCALL FOR TYPEOUT
-
;*$TYPO(=---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
J*CALL:
o MOV NUM,~(SP) ;INUMBER TO BE TYPED
ow TYPOC ;s CALL FOR TYPEOUT
$TYPOS: MOV a(SP) ,-(SP) ;:PICKUP THE MODE
MOVR 1(5P) ,SOF ILL ;;LOAD ZERO FILL SWITCH
MC.B (SP)+_,$0MODE+1 ;;NUMBER OF DIGITS TO TYPEt
ADD #2,(SP) ;JADJUST RETURN ADDRESS
BR $TYPON
$TYPOC: MOVB #,80F]ILL ;2SET THE ZERO FILL SWITCH
MCVB #6,$0MODE +1 ;2SET FOR SIX(6) DIGITS
$TYPON: MOVB #5,80CNT ;:SET THE ITERATION COUNT
MOV R3,-(SP) ;;SAVE R3
MOV R4 ,-(SP) ;cSAVE R4
MOV R5,-(SP) ;SAVE RS
mggs §?MODE+1.R4 ;:GET THE NUMBER OF DIGITS TO TYPE
N h ]
ADD #6 R4 J2SUBTRACT IT FOR MAX. ALLOWED
MOVB R4, $OMODE ::SAVE IT FOR USE
MOVB $OFILL R4 ;JGET THE ZERO FILL SWITCH
MOV 12(SP) ,R5 ;oPICKUP THE INPUT NUMBER
CLR R3 :;CLEAR THE OUTPUT WORD
1%: ROL RS ; ;ROTATE MSB INTO '‘C*’
BR 3% ;.GO DO MSB
2%: ROL RS ;;FORM THIS DIGIT
ROL RS
ROL R5
MOV RS,R3
3% ROL R3 ;.GET LS8 OF THIS DIGIT
DE(CB $OMODE ;:TYPE THIS DIGIT?
BPL 7% ;2BR IF NO
BI( #177770,R3 ;2GET RID OF JUNK
BNE 4% J2TEST FOR O

TST R4 ; ;SUPPRESS THIS 07

SEQ 0075
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(1) 025750 001403
(1) 025752 005204
(1) 025754 052703
(1) 025760 052703
(1) 025764 110337
(1) 025770 104401
(1) 025774 105337
(1) 026000 003347
(1) 026002 002402
(1) 026004 005204
(1) 026006 000744
(1) 026010 012605
(1) 026012 012604
(1) 026014 012603
(1) 026016 016666
(1) 026024 012616
(1) 026026 000002
(1) 026030 000
(1) 026031 000
(1) 026032 000
(1) 026033 000
(1) 026034 000000
2438
(1)
(2)
1)
(1)
1
1)
(1
(1)
g
(1)
(1)
(1) 026036
(3) 026036 010046
(3) 026040 010146
(3) 026042 010246
(3) 026044 010346
(3) 026046 010546
(1) 026050 012746
(1) 026054 016605
(1) 026060 100004
(1) 026062 005405
(1) 026064 112766
(1) 026072 005000
(1) 026074 012703
(1> 026100 112723
(1) 026104 005002
(1) 026106 016001
(1) 026112 160105
(1) 026114 002402
(1) 026116 (€J5202
(1) 026120 000774
(1) 026122 060105
(1) 026126 005702

ON TES
10:10

000060
000040
026030
026030
026032

000002 000004

020200
000020
000055

026252
000040

026242

T PART 1
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BINARY TO OCTAL (ASCII) AND TYPE

BEQ 5% ;:BR IF YES
L%: INC R4 ;:DON'T SUPPRESS ANYMORE 0'S
BIS #'0,R3 ;;MAKE THIS DIGIT ASCII
5%: BIS #' ,R3 ;JMAKE ASCII IF NOT ALREADY
MOVB R3.,8% ;sSAVE FOR TYPING
TYPE ,8% ;260 TYPE THIS DIGIT
7%: DECB $OCNT ;:COUNT BY 1
BGT 2% ;:BR If MORE TO DO
BLT 6% ;sBR IF DONE
INC R4 ;2 INSURE LAST DIGIT ISN'T A BLANK
BR 2% ;.60 DO THE LAST DIGIT
6%: MOV (SP)+ RS :;RESTOPE RS
MOV (SP)+ R4 :RFSTORE R4
MOV (SP)+ _,R3 JcRuULTORE R3
MOV 2(SP) ,4(SP) ;:SET THE STACK FOR RETURNING
MOV (SP)+,(SP)
RTI ; JRETURN
8%: .BYTE 0 ;:STORAGE FOR ASCII DIGIT
.BYTE 0 ;:TERMINATOR FOR TYPE ROUTINE
$OCNT: .BYTE 0 ;sOCTAL DIGIT COUNTER
$OFILL: .BYTE 0 ;JZERO FILL SWITCH
$OMODE: .WORD 0 : :NUMBER OF DIGITS TO TYPE

_SBTTL CONVERT BINARY TO DECIMAL AND TYPE ROUTINE

2 :t*ttttttttttttttttttttitt'itt*t***t**ttttt*t*iti*ttttitiittt*ti

;*THIS ROUTINE IS USED TO CHANGE A 16-8IT BINARY NUMBER TO A 5-DIGIT
;*SIGNED DECIMAL (ASCII) NUMBER AND TYPE [T. DEPENDING ON WHETHER THE
;J*NUMBER IS PCSITIVE OR NEGATIVE A SPACE OR A MINUS SIGN WILL BE TYPED

;*BEFORE THE FIRST DIGIT OF THE
:'?EPLACED WITH SPACES.
;*CALL :

i * MOV NUM,-(SP)
Ix TYPDS
$TYPDS:
MOV RO,=(SP)
MOV R1,-(SP)
MOV R2,-(SP)
MOV R3,-(SP)
MOV RS,-(SP)
MOV #20200 .- (SP)
MOV 20(SP) ,RS
BPL 1%
NEG RS
MOVB #'=,1(SP)
1%: CLR RO
MOV #8DBLK ,R3
MOVB  #' ,(R%)+
2%. cLR R?
MOV $DT3L (RO) LR
3%: <uB R1,RS
_LT (A 3
INC R2
BR 3%
4%: ALD R1,RS
TS’ RZ

NUMBER. LEADING ZEROS WILL ALWAYS BE

:2PUT THE BINARY NUMBER ON THE STA(K
.:G0 TO THE ROUTINE

;;PUSH RO ON STACK

:2PUSH R1 ON STACK

::PUSH R2 ON STACK

::PUSH R3 ON STACK

;;PUSH RS ON STACK

;:SET BLANK SWITCH AND SIGN
;;GET THE INPUT NUMBER

;:BR IF INPUT IS POS.

::MAKE THE BINARY NUMBER POS.
;oMAKE THE ASCII NUMBER NEG.
;. IJERO THE CONSTANTS INDEX
JoSETUP THE QUTPUT POINTER
:;SET THE FIRST CHARACTER TO A BLANK
;;CLEAR THE BCD NUMBER

;:GET THE CONSTANT

..FORM THIS BCD DIGIT

::BR IF DONE

;s INCREASE THE BCD DIGIT BY 1

;;ADD BACK THE CONSTANT
;o CHECK IF B(D DIGIT=0

SEQ 0076
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{ZVSA-B VS60 INSTRUCTION TES
(2VSAB.PI1 29-MAY=79 10:10 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE SEQ 0077
(1) 026126 001002 BNE 5% ::FALL THROUGH IF O
(1) 026130 105716 TSTR (SP) ::STILL DOING LEADING 0°S?
(1) 026132 100407 BM] 7% ;;BR IF YES
(1) 026134 106316 5%: ASLB (SP) :MSD?
(1) 026136 103003 BCC 6% ;2BR IF NO
(1) 0261640 116663 000001 177777 MOVB 1(SP) ,=-1(R3) ;;YES==SET THE SIGN
(1) 026146 052702 000060 6$: BIS #'0,RC ;iMAKE THE BCD DIGIT ASCI!I
(1Y 026152 052702 000040 7% : BIS #' _R2 ::MAKE IT A SPACE IF NOT ALREADY A DIGIT
(1Y 026156 110223 MOVB R2,(R3)+ :2PUT THIS CHARACTER IN THE OUTPUT BUFFER
(1) 026160 005720 TST (RO)+ :3JUST INCREMENTING
(1) 026162 020027 000010 CMP RO.#10 ;:CHECK THE TABLE INDEX
(1) 026166 002746 BLT 2% ;.60 DO THE NEXT DIGIT
(1) 026170 003002 BGT 8% ::G0 TO EXIT
(1Y 026172 010502 MOV R5.R2 ::GET THE LSD
(1) 026174 000764 BR 6% ;G0 CHANGE TO ASCII
(1) 026176 105726 8%: TSTR (SP)+ ::WAS THE LSD THE FIRST NON-ZERO?
(1) 026200 100003 BPL 9% ::BR IF NO
(1) 026202 116663 177777 177776 MOVB -1(SP) ,-2(R3) ::YES==SET THE SIGN FOR TYPING
(1) 026210 105013 9% : CLRB (R3) ;:SET THE TERMINATOR
(3) 026212 012605 MOV (SP)+,RS ;:POP STACK [NTO RS
(3) 026214 012603 MOV (SP)+,R3 ;;POP STACK INTO R3
(3) 026216 012602 MOV (SP)+,R2 ;;POP STACK INTO R2
(3) 026220 012601 MOV (SP)+ ,R1 ::POP STACK INTO R1
(3) 026222 012600 MOV (SP)+,RO ;;POP STACK INTO RO
(1) 026224 104401 026252 TYPE ,$DBLK ;:NOW TYPE THE NUMBER
(1) 026230 016666 000002 000004 MOV 2(SP) 4 (SP) ::ADJUST THE STACK
(1) 02623 (12616 MOV (SP)+, (SP)
(1) 026240 000002 R1 ;;RETURN TO USER
(1) 026242 023420 $DTRL: 10000.
(1) 026244 001750 1000.
(1) 026246 000144 100.
(1) 026250 000012 10.
(1) 026252 000004 $DBLK: .HLKW 4
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2440
2441
(1)

~
no
~

026262 012737 026426
026270 012737 000340
026276 01

026300 010146

026302 010246

026304 010346

026306 010446

026310 010546

026312 017746 152622
026316 010637 026432
026322 012737 02633«
026330 000000

026332 000776

02€334 Ci2737 026426
026342 013706 026432
026346 005037 026432
026352 005237 026432
026356 001375
026360 C12677 152554
026364 012605
026366 012604
026370 012603
026372 012602
026374 012601
026376 012600
026400 012737 026202
026406 012737 000340
026414 104401
026416 026434
026420 012716
026422 002110
026424 000002
026426 000000
026430 000776
026432 000000
026434 005015 042522
2443 026502
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000024

000026

000024

000024

000024
000026

052123
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CONVERT BINARY TO DECIMAL AND TYPE ROUTINE

.SBTTL POWER DOWN AND UP ROUTINES

'"ttﬁtttttt'ti*ttﬁ*ttttttittttiﬁtiitt**ﬂitttiti-ttitttttttttttttt

*POWER DOWN ROUTINE

$PWRDN: MOV H#SILLUP,a#PWRVEC ;,SET FOR FAST UP
MOV #340,a#PWRVEC+2 ;;PRIO:7
MOV PO,=-(SP) 2JPUSH RO ON STA(CK
MOV R1,-(SP) J:PUSH R1 ON STACK
MOV R2.,=(SP) ;sPUSH R2 ON STACK
MOV R3,-(SP) :2PUSH R3 ON STACK
MOV R4 ,=(SP) :;PUSH R4 ON STACK
MOV RS,=(SP) ;:PUSH RS ON STACK
MOV aSWR, = (SP) ;:PUSH aSWR ON STACK
MOV SP,$SAVR6 ;2SAVE SP
MgvT #SPWRUP , d#PWRVEC ;,SET UP VECTOR
HAL
BR .~2 : HANG UP
,'"l“'iﬁtt*ti*tl’tl’.t**t.ﬁ.'tl‘*i‘*ﬁﬁ"ttti**ﬁit*t*ttﬁﬁt*ﬁ'*t*ﬁiittti‘i
;POWER UP ROUTINE
$PWRUP: MOV NSILLUP,a#PWR' ¢ ;;SET FOR FAST DOWN
MOV $SAVR6G,SP ;;GET SP
CLR $SAVR6 ::WAIT LOOP FOR THE TTY
1¢: INC $SAVR6 ;sWAIT FOR THE INC
BNE 1% ::0F WORD
MOV (SP)+ ,aSWR ;:POP STACK INTO aSWR
MOV (SP)+ RS ;:POP STACK INTO RS
MOV (SP)+ ,R4 ;;POP STACK INTO R4
MOV (SP)+,R3 ;:POP STACK INTO R3
MOV (SP)+ ,R2 ::POP STACK INTO R2
MOV (SP)+ ,R1 ;;POP STACK INTO R1
MOV (St )+, RO ::POP STACK INTO RO
MOV HSPWRDN ,a#PWRVEC ;:;SET UP THE POWER DOWN VECTOK
MOV #340,a#PWRVEC+Z ;;PRIO:7
TYPE ::REPORT THE POWER FAILURE
SPWRMG: .WORD  PWRMSG ;;POWER FAIL MESSAGE POINTER
MOV (PC)+,(SP) ;;RESTART AT BEGIN
$PWRAD : ﬁ#?RD BEGIN : :RESTART ADDRESS
$ILLUP: KHALT ;;THE POWER UP SEQUENCE WAS STARTED
BR .~ :: BEFORE THE POWER DOWN WAS COMPLETE
$SAVR6: O ;2PUT THE SP HERE
PWRMSG: .?SEIZ <15><12>/RESTARTING AFTER A POWER FAILURE/<15><12>
.EVEN

SEQ 0078
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(IVSA-8 VSO0 INSTRUCTION TEST PART 1
(ZVSAB.P11

2645
(1)
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026502
026504
026506
026512
026516

026520
026522
026526
026534
026540
026542
026544
026546
026552
026554
026560
026564
026570
026572
0265/&
026576

C9-MAY=-7

010046
010146
013746
013746
010600

104400
012637
012737
012701
005711
005721
000775
162701
010006
012637
012637
010137
012601
012600
000207
000000

9 10:10

00004
000006

000006
026546
020000

000002

000006
000004
26576

000004
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ROUTINE TO SIZE MEMORY

LSBTTL ROUTINE TO SIZE MEMORY

EELZXIXEEEZEESZEARAARRRSARRRdRRRRRARRRRARARRRRSRRRRRSAREARRARENER)

;;CALL:
o JSR PC,$SIZE
* RE TURN

“«SLSTAD WILL CONTAIN THE LAST AVAILABLE MEMORY LOCATION
$SIZE: MOV RO, = (SP) ::SAVE RO ON THE STACK

MOV R1,~(SP) ;;SAVE R1 ON THE STAC(K
MOV S#ERRVE(C,-(SP) ;.SAVE PRESENT ERROR VE(CTOR PS & P(
MOV a#ERRVEC+7,-(SP)
MOV SP,RO ;. SAVE THE STACK POINTER
;;SET THE ERRVEC PS TO THE PRESENT PS
TRAP ;2PUSH OLD PSW AND P(C ON STA(K
MOV (SP)+ ,a#ERRVE(+2 ;:SAVE THE PSW [N @#ERRVEC(+?2

MOV #2% , MERRVEC ;.SET FOR TIMEOUT
MOV #20000,R1
1%: TST (R1)

;sFIRST ADDRESS
;;TEST THIS ADDRESS

TST (R1)+ :;STEP TO NEXT ADDRESS
BR 1% ;. TRY ANOTHER
2%: SUB #2.R1 . :DROP BACK
MOV RO,SP :;RESTORE THE STACK
MOV (SP) + ,a#ERRVEC+2 ;;RESTORE ERROR VECTOR
MOV (SP)+ ,a#ERRVEC
MOV R1,$LSTAD ;;LAST ADDRESS
MOV (SP)+ R1 ;:RESTORE R1
MOV (SP)+ R0 ;;RESTORE RO
RTS PC

$LSTAD: .WORD O ;;CONTAINS THE LAST ADDRESS

SEQ 0079




o Py

C(ZVSA-B VS60 INSTRUCTION TEST PART 1 MACY11 30G(1063)
C2VSAB.P11 29-MAY-?9 10:10 ROUTINE TO SIZE MEMORY ‘
2447 ) ,
2??? .SBTTL TYPE ROUTINE o '
(2) B 2522322222334 23202323222223232323222223232322322232322222342322323232322223223222232§3)]
Q) 'ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A 0 BYTE.
(1 'THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
(1) ;*NOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARA(TER.
QD) :*NOTEZ2: SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
(}; ;=*NOTE3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
( o
(1) J*CALL:
1) t1) USING A TRAP INSTRUCTION
(1) TYPE . MESADR ;oMESADR S FIRST ADDRESS OF AN ASCIZ STRING
oy ,*OR
(1) In TYPE
(1 . ME SADR
1) %
(1)
(1) 026600 105737 001157 $TYPE TSTR $TPFLG ;1S THERE A TERMINAL?
(1) 026604 100002 BPL 1% ;:BR IF YES
(1) 026606 000000 HALT ;sHALT HERE IF NO TERMINAL
(1) 026610 000430 B8R 3s s ;LEAVE
(1) 026612 010046 1%: MOV RO,-(SP) ;:SAVE RO
(1) 026614 017600 000002 R MOV al(SP) ,RO ;:GET ADDRESS OF ASCIZ STRING
(1) 026620 122737 000001 001222 CMPB #APTENV , SENV ;cRUNNING IN APT MODE
1) 026626 001011 BNE 62% ;:NO,GO CHECK FOR APT CONSOLE
(1) 026630 132737 000100 001223 BITB #APTSPOOL ,$ENVM ; ;SPOOL MESSAGE TO APT
(1) 026636 001405 8EQ 629 JsNO,GO CHECK FOR CONSOLE
(1) 026640 010037 026650 MOV RO,61% ;s SETUP MESSAGE ADDRESS FOR APT
(1) 026644 004737 025012 JSR PC,$ATY3 ;:SPOOL MESSAGE TO APT
(1) 026650 61%: .WORD 0 ; :MESSAGE ADDRESS
(1) 026652 132737 0C0040 001223 62$ 81T HAPTCSUP,$ENVM . :APT CONSOLE SUPPRESSED
(1) 026660 001003 BNE 60% ;sYES,SKIP TYPE QUT
(1) 026662 112046 ’%: MOVB (RO)+,~(SP) ;. PUSH CHARACTER TO BE TYPED ONTO STA(K
(1) 026664 001005 BNE 6% ;;BR IF IT ISN'T THE TERMINATOR
(1) 026666 005726 TST (SP)+ . IF TERMINATOR POP ]IT OFF THE STACK
(1) 026670 012600 60%: MOV (SP)+,R0O :sRESTORE RO
(1) 026672 062716 000002 3% ADD #2,(SP) ;;ADJUST RETURN P(C
(1) 026676 RTI] :sRETURN
(1) 026700 122716 000011 4% CMPB #HT , (SP) ; sBRANCH IF <HT>
(1) 0267046 001430 BEQ 8%
(1) 026706 122716 000200 C(MPB #CRLF,(SP) JJBRANCH [F NOT <CRLF>
(1) 026712 001006 BNE 5%
(1) 026714 005726 TST (SP)+ J:POP  <CR><LF> EQUIV
(1) 026716 104401 TYPE ,;TYPE A CR AND LF
(1) 026720 001177 $CRLF
(1) 026722 105037 027056 CLRB $CHARCNT :;CLEAR CHARACTER COUNT
(1) 026726 000755 B8R 2% J:GET NEXT CHARACTER
(1) 026730 004737 027012 5%: JSR PC,$TYPEC 5.GO TYPE THIS CHARA(TER
(1) 026734 123726 001156 6%: (MPB $FILLC,(SP)+ J.IS IT TIME FOR FILLER CHARS.?
(1) 026740 001350 BNE 2% 2. IF NO GO GET NEXT (HAR.
(1) 026742 013746 007154 MOV $NULL,-(SP) ;.GET # OF FILLER CHARS. NEEDED
(1) ;:AND THE NULL CHAR.
(1) 026746 105366 000001 Ie ¥ DECB 1(SP) ,,DOES A NULL NEED TO BE TYFED?
(1) 026752 002770 BiT 6% BR IF NO--GO POP THE NULL OFF OF STA(K
(1) 026754 004737 027912 JSR PC,$TYPEC ,.GO TYPE A NULL

c 7
17-SEP-79 0B:43 PAGE 17

SEQ 0080
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(IvSA-8 VS60 INSTRUCTION TEST PART 1 M™MA(CY11 30G(1063) 17-SEP-79 08:43 PAGE 17-1

(ZVSAB.P11 29-MAY-79 10:10 TYPE ROUTINE SEQ 008
(1) 02676C 105337 027056 DECB $CHARCNT ;:D0 NOT (OUNT AS A COUNT
(1; 026764 000770 B8R Ié 3 ;. LOOP
(
(}; ;HORIZONTAL TAB PROCESSOR
(
(1Y 026766 112716 000040 8%: MOVR *' ,L(SP) ;:REPLACE TAB WITH SPACE
(1) 026772 004737 (27012 9% : JSR PC,.STYPEC ;2TYPE A SPACE
(1) 026776 132737 000007 027056 BITR #7 ,$CHARCNT ;:BRANCH [F NOT AT
(1) 027004 001372 BNE 9% ;:TAB STOP
(1) 027006 005726 TST (SP) + ;;POP SPACE OFF STACK
(1) 027010 000724 BR 2% :2GET NEXT CHARA(CTER
(1) 027012 105777 152132 $TYPE(C: TSTB % TPS JIWAIT UNTIL PRINTER IS READY
(1) 027016 100375 B8PL $TYPE(
(1) 027020 116677 000002 15212« MOVB 2(SP) ,a%TPB 2L 0AD CHAR TO BE TYPED INTO DATA REG.
(1) 027026 122766 000015 000002 (MPR #CR,2(SP) ;:1S CHARACTER A CARRIAGE RETURN?
(1) 027034 001003 BNE 1% ;;BRANCH IF NO
(1) 027036 105037 027056 CLRB $CHARCNT JYES==CLEAR CHARACTER COUNT
(1) 027042 000406 B8R $TYPEX JIEXIT
(1) 027044 122766 000012 000002 1%: (MPB ALF,2(SP) ;:1S CHARACTER A LINE FEED?
(1) 027052 (C01402 BEQ $TYPEX ;:BRANCH JF YES
(1) 027054 105227 'N(B (PC)+ ;2COUNT THE (HARACTER
(1) 027056 000000 $(HARCNT:.WORD O ;s CHARACTER COUNT STORAGE
E;; 027060 000207 $TYPEX: RTS PC
449

N
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(ZVSAB.P11 29-MAY-79 10:10 <. TRAP DECODER SEQ 0082
24?; .SBTTL TRAP DECODER

{
(\2) . tQttttttttttt'ttttﬁtttttttttttlﬁtttiﬁ!t‘ttttﬁttttttt‘t‘ttttlt't
&P S«THIS ROUTINE WILL PICKUP THE LOWER BYIE OF THE '‘TRAP'' INSTRUCTION
) :=AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
(1) .«OF ~HE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL
(}) :«GO TO THAT ROUTINE.
(1)
(1) 027062 010046 $TRAP: MOV RO,=-(SP) ::SAVE RO
(1) 027064 016600 000002 . L [0)Y] 2(SP) RO ::GET TRAP ADDRESS
(1) 027070 005740 P TSt - (RO ::BACKUP BY 2
(1) 027072 111000 MOVB (RO) ,RO ::GET RIGHT BYTE OF TRAP
(1) 027074 006300 ASL RO ::POSITION FOR INDEXING
(1) 027076 016000 027116 MOV $TRPAD (RO) ,RO  ;;INDEX TO TABLE
(}; 027102 000200 RTS RO ::G0 TO ROUTINE
(
(1)
i}; ::THIS IS USE TO HAND._E THE "'GETPRI'' MACRO
(1) 027104 011646 $TRAP2: MOV (SP) ,-(SP) ::MOVE THE PC DOWN
(1) 027106 016666 000004 000002 MOV 4(SP),2(5P) ::MOVE THE PSW DOWN
(}; 027114 000002 RT] ;JRESTORE THE PSW
(
g%) .SBTTL TRAP TABLE

)
(3) :*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
(%; :*BY THE ''TRAP'' INSTRUCTION.
(
E%i : ROUT INE
(3) 027116 027104 $TRPAD: .WORD  $TRAP?
(3) 027120 026600 $TYPE  ;.CALL-TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
(3) 027122 025634 $TYPOC ;.CALL=TYPOC TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
(3) 027124 025610 $TYPOS ;.CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NQO [ EADING ZEROS)
(3) 027126 025650 $TYPON ..CALL TYPON TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
(3> 027130 026036 $TYPDS :;CALL=TYPDS TRAP+5(104405) TYPE DECIMAL NUMBER (WITH SIGN)




({VSA-B VSO0 INSTRUCTION TE
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(ZVSAB.P11

2654
2455
2656
2457
2458
2459
2460
2461
2462
2463
2664
2465
2466
2667
2468
2669
2670
2671
2672
2473
2474
2675
2476
2477
2678
2479
2480
2481
2482
2483
2484
2485
2486
2687
2488
2489
2496
2491
2492
2493
2494
2495
2496
2497
2498
2499
2500
2501
2502
2503
2504
2505
2506
2507
2508

027132

027216
027240
027274
027315
027340
027366
027422
027454
027510
027544
027577
027632
027654
027676
027716
027740
027764
030010
030030
030053
030115
030135
030153
030172
030212
030230
030264
030301
030316
030335
030375
0304 36
030501
030531
030572
030642
030662
030711
030732
030755
030777
031014

031062

031076

005015

040515
047516
047514
123
047514
047514
047514
044504
044504
044504
104
047514
047514
052502
044103
020131
020130
042522
027104
123
126
103
102
052111
042515
042522
052123
114
047503
1Ak
1M
047111
127
114
027114
044504
054105
124
040516
114
123
051105
031067
001116

000000
000001

S
0
051412

047111
042701
0462101
050505
0462101
042101
042101
050123
050123
050123
051511
042101
042101
020123
051101
054504
054504
047514
027120
040505
041505
040510
044514
046101
052516
042523
050117
050056
047514
042524
052116
0425264
051117
050056
027120
050123
042524
046511
042515
050056
040526
050122

002024

I PART 1

040524

027124
047111
047111
042525
047111
047111
047111
040514
040514
040514
046120
047111
047111
044524
052040
040516
040516
040503
027125
041522
047524
020122
045516
04151
046040
020124
044440
020056
020122
051516
051105
047122
020104
020056
051440
040514
047122
026505
046440
20056
045503
020163

001122

—
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ASCII MESSAGES

.SBTTL ASCII MESSAGES

SEQ 0083

HEADER: .ASCIZ <15><12><12>.START OF (2VSA-B VvS60 INSTRUCTION TEST PART [/<15><12>

EM1: LASCIZ /MAINT. SWITCH REG/

EM2: LASCIZ /LOADING O.P.C. REG <STATI(>/
EM3: .ASCIZ /LOADING MODE REG/

EM4: LASCIZ /SEQUENCING DP(C REG/

EMS: .ASCIZ /LOADING LINE TYPE REG/

EM6: .ASCIZ /LOADING INTENSITY LEVEL REG/
EM7: .ASCIZ /LOADING GRAPHPLOT INC REG/
EM10: .ASCIZ /DISPLAY JUMP ABS TO AN ADRS/
EMI11: .ASCIZ /DISPLAY JUMP REL TO AN ADRS/

EM12: .ASCIZ /DISPLAY JSR ABS TO AN ADRS/

EM13: .ASCIZ /DISPLAY JSR REL TO AN ADRS/

EM14: .ASCIZ /LOADING X POS REG/

EMT5: .ASCIZ /LOADING Y POS REG/

EM16: ASCIZ /BUS TIME-OUT ER/

EM17: ASCIZ /CHAR TERMINATE ER/

EM20: .ASCIZ /Y DYNAMIC OFFSET ER/

EM21: ASCIZ /X DYNAMIC OFFSET ER/

EM22: ASCIZ /RELOCATE REG ER/

EM23: .ASCIZ /D.P.U. NAME REG ER/

EM24 : ASCIZ /SEARCH CODE OF ASSOC. NAME REG ER/
EM25: .ASCIZ /VECTOR SCALE ER{

EM26: .ASCIZ /CHAR SCALE ER/

EM27: LASCIZ /BLINK LOGIC ER/

EM30: LASCIZ  /ITALIC LOGIC ER/

EM31: .ASCIZ /MENU LOGIC ER/

EM32: .ASCIZ /RESET FAILED TO CLEAR A REG/
EM33: .ASCIZ /STOP INTR ER/

EM34: .ASCIZ /L.P. FLAG ER/

EM35: .ASCIZ /COLOR LEVEL ER/

EM36: LASCIZ /ITENSITY ENABLE - CONS O + 1 ER/
EM37: .ASCIZ /INTERNAL STOP FLAG FAILED TO SET/
EM4O: LASCIZ /INTERNAL STOP FLAG FAILED TO CLEAR/
EM4T: LASCIZ /WORD 0-1-2 INDICATOR ER/

EM4L2: LASCIZ  /L.P. INTR ENABLE - CONS O + 1 ER/
EML3: LASCIZ /L.P. SWITCH INTR ENABLE ~ (ONS O + 1 ER/
EM44: .ASCIZ /DISPLAY BUSY ER/

EM4S : LASCIZ /EXTERNAL STOP LOGIC ER/

EM4GE: ASCIZ  /TIME-OUT INTR ER/

FM47: ASCIZ  /NAME MATCH INTR ER/

EMS0: LASCIZ  /L.P. FLAG INTR ER/

EM571: .ASCI1Z /STACK PTR FR/

DH1: .ASCIZ /ERRP( TSTNUM BUSADR EXP(T  RCVD/
.EVEN

DT1: $ERRPC, TSTNUM, $BDADR, $GDDAT ,$BDDAT, 0

:;'tt.tt.tttttltt!tt.ttt'*ttttt*'ttti*itiﬁttlittttttﬁtitit'ittﬁtt

:THIS IS THE WORKING AREA FOR ALL VS60 NPR'S (INSTRS & DATA)
:FROM HERE TG THE END OF 28k

S4 222X NSNS dR R RERRARRRARARRRRRRRRRRRERERRERRNS)

BUFFER: 0
JEND




(ROSS REFERENCE TABLE == USER SYMBOLS

CZVSA=B  VS60 INSTRUCTION TEST PART 1 MACY11 30G(1063)
(ZVSAB.P11 29-MAY-/9 10:10

ABASE = 172000 194 32
ACDW! = Q000000 b4

ACDWZ = 000000 32

ATPUOP= 000000 32

ADDWO = 000000 32

ADDW1 = 000000 32

ADDW10= 000000 32

ADDW11= Q00000 37

ADDW12= 000000 32

ADDW13= 000000 32

ADDW14= 000000 32

ADDW15- 000000 32

ADDWZ = 000000 12

ADDW3 = 000000 32

ADDWS = 000000 ”,

ADDWS = 000000 b P%

ADDWG = 000000 32

ADDW? 000000 32

ADDW8 = 000000 32

ADDWS - 000000 30

ADEV(CT= 000000 32

ADEVM = 000000 32

AENV = 000000 32

AENVM - 000000 ?

AFATAL- 000000 32

AMADR1- 000000 32

AMADR?2= 000000 32

AMADR 3= 000000 32

AMADRS= 000000 22

AMAMS 1= 000000 32

AMAMS 2= 000000 32

AMAMS 3= 000000 32

AMAMSS = 000000 32

AMSGAD= 000000 3

AMSGLG= 000000 32

AMSGTY= 000000 37

AMTYP1= 000000 32

AMTYPZ2= 000000 32

AMTYP3= 000000 32

AMTYP4 - 000000 32

ANAME 002050 364LM 892+ Q05+« 906+ 916+
APASS = 000000 32

APR]OR= 000000 32

APTCSU= 000040 24304 2448
APTENV= (000001 24308 2431 2448
APTSIZ= 000200 388 24304
APTSPO= 000100 26304 2448
ASWREG= 000000 32

ATESTN= 000000 32

AUNIT = 000000 32

AUSWR = 000000 3?2

AVECT1= 100320 20# 37
AVECT2= 000000 32

BEGIN 002110 b 388# 400 2441
BITO = 000001 174

BITOO - 000001 174

928«

958+

G 7
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987«

1014+

1028+

1029+

1048+

SEQ 0084




(IVSA-B VvS60 INSTRUCTION TEST PART 1

(ZVSAB.P11 29-MAY-79 10:10

BITO1 = 000002 17#

BIT02 = 000004 17#

B8I1T03 = 000010 17%

BI1104 = 000020 17%

BITOS = 000040 17#

BIT06 = 000100 17#%

BITO7 = 000200 17#

BITO8 = 000400 178 2429

811709 = 001000 174 26429

BITY = 000002 17 693

BITIC = 002000 178 2431

BIT11 = 00400C 178 2429

BIT12 = 010000 174 594

BIT13 = 020000 17# 737
1013 1025
1197 1210
1420 1434
1615 1632
1817 1839
2067 2086

BIT14 = 040000 178 2429

8I1T15 = 1000G0 17#% 1270

BIT2 = 000004 17#%

BIT3 = 000010 174 1139

BIT4 = 000020 178 1240

BITS = 000040 178

8176 - 000100 174 1346

BIT7 - 000200 174

BIT8 = 000400 174

BIT9 - 001000 17# 1879

BPTVEC- 000014 174

BUFFER 031076 226 327
846+ 847«
963 990«
1274 1275
1376+ 1377
1447« 1452
1526~ 1528
1589 1598+«
1658« 1664+
1724« 1725
1801« 1802
1862 1863
1934« 1936+
2038 2066+
2140« 2149
2292« 2323«

(NTR 002022 3354

CONS 002052 3654 1529
1620 1621
1711 1728
229 2295+

(R 000015 178 2448

CRLF - 000200 178 2448

DBUF 002000 2264 739
1099 1100+

H 7
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CROSS REFERENCE TABLE =-- USER SYMBOLS

26431

706 723 2399

750 762 774 785 821 843
1039 1072 1084 1097 1112 1123
1225 1238 1251 1267 1282 1331
1451 1466 1483 1499 1514 1524
1645 1662 1675 1692 1705 1722
1859 1876 1888 1909 1933 1952
2106 2117 2135 2168 2191 2218
1744
1255
1882

328 329 330 331 753 751«

848 864+ 865« 866 879+ 880

991« 992 1015« 1017 1030~ 1031
1283+ 1284« 1285 1288« 1306 1307
1389« 1391 1392«  1404x 1406 1416+
1454 1655« 1467« 1468+ 1469 1484+
1537« 1542+ 1544 1545« 1558« 1559
1604+ 1605 1606« 1618« 1619 1628+
1665 1666 1678« 1679 1688* 1694+«
1726 1738« 1739 1740« 1742« 1756+
1812 1820« 1821~ 1822 1830 1840~
1877« 1878« 1880 1893~ 1894+ 1895
1938 1946 1948 1954« 1957 1958+
2068 2069« 2071+« 2088+ 2089+ 2090
22364 2235 2237x 2239« 2258+ 2259

2347~ 2342 2344 2346 2370+ 2382+

1530 1547 1548 1560 1561 1578
1638 1639 1650 1651 1668 1669
1729 1736 1746 22641 2242% 2243
2302 2306 2326 2

752 764 776 9N 822
1102 1113« 1115 1126 1137

N = b —d —d —

S NO NN -0
WoWVUAWNN
— QO NIVICOD — N

923
1162
1372
1572
1766
2004

792
961+
1124
1361+
1436+
1515+
1576+
1648+
1709
1784
1854
1916
2005
2138
2288
25064

1608
1699
2267

— d
-
S~

SEQ D085

983
1185
1402
1602
1797
2037

827

962+
1268
1375+
1438
1516
1588+
1649
1718+
1800+
1860+
1924
2021
2139
2290+

1609
1710
2273

1098+
1164

-




(IVSA-B VS60 INSTRUCT]
29-MAY-79

(ZVSAB.FP11

DBUF1 002002
DBUFZ2 002004
DBUF3 002006
DBUF4 002010
DBUFS 002012
DDISP = 177570
DDONE 002070
DDONE1 002072
DELAY 002026
DH1 031014
DISPLA 001142
DISPRE 000174
DLAY 024514
DNAME 002054
DP( 002030
DSAVE 002014
DSAVE! 002016
DSWR 177570
DT 031062

EMTVEC= 000030

EM1

EM10
EM1
EM12
EM13
EM14
EM15
EM16
EMi7
EM2

EM2O
EM21

027216
027454
027510
027544
027577
027632
027654
027676
027716
027240
027740
027764

TEST PART 1
0:10
1165 1174»
1252+ 1254
1975 2008
32748 1212+
328#
3294
3304
3214
174 32
3734 393
I74M
3378 2423
37 44
128 135
221 228
312 319
240 388«
24LM 3188
1979 1995
3664 849
934 935
IS56n 389
764 776+
831 839+«
1099 1102+
1228+ 1241~
1362+ 1377«
1501« 1503«
1635 1637+
1743w 1755«
1802+ 1803
1866 1880+
1959« 1960
2053« 2055+
22722% 2235+
2385« 2387«
3324
3334
174 32
38 45
129 136
222 229
313 320
174 188 *
36 24574
85 24644
92 24654
99 24664
106 2467K
113 26684
120 26654
127 2470n
134 v Yar
43 24584
141 24728
148 24734

MACY11 30G(1063)

1176
1269
2024
1253

388
395

54
142
235

24984
2429+

2011
850
964
692
784
848«

1115«

1254+

1391«

1516«

1649«

1757«

1804

1895«

1961

2068+

2238+

388

143
236
25004

1186+
1332+
2043

58
149
242

2431~

2027
867
965
695+
791«
866+

1126+

1256+

1393«

1528«

1665

1758

1822+

1896

1976#

2070«

2240

59
150
243

I 7
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1188
1334

65
156
249

2046
868
993
696
793
880+

1138+

1269

1406~

1544~
1667+

1759

1823

1897

1978+

2072+

2259

66
157
250

1198»
1345+

72
163
256

2057
881
995
707
798+
933«

1141+

1275+
1423+

1546

1679+

1769+

1824

1916

1992+

2090+
2262+

73
164
257

1200
1347

79
171
263

2073

1018
708+

963+
1154+
1285+
1425+
1559+
1695+
1771 =
1843+
1917
1994
2096+
2264

80
172
264

1211«
1500+

86
178
271

24234
889
1020
712
BOS+
992+«
1165«
1287+
1438«
1575«
1697
1772
1845+
1918
2008+
2108+
2288+

87
179
272

93
185
278

893
1027
722

1017=
1176«
1289+
1454
1577+
1709+
1773

1846

1938+
2010~
2127+
2291+

94
186
279

e
~NND
win)
(W¥Te N

100
192
285

903
1033

725+

812+
1031«
1188+
1307«
1456+
1589+
1725+«
1783«
1848
1940+
2024+
2139+
2293

101
193
286

1228
1755

107
199
291

907
1054

727

814
1053+
1200+
1334+
16469+
1605+
1727+
1785+
1862+«
1941
2026+
2142+
2342+

108
200
292

1239+
1767

114
206
298

914
1056
739+
820
1075
1213+
1347«
1471 »
1607+
1730+
1786
1864+
1942
2043+
2145+
2345+

115
207
299

SEQ 0086

1241
1769

121
213
305

918
1061

752+

826+
1087+
1214+
1360+
1486+
1619+
1741+
1787
1865
1957+
2045+
2201+
2347+

122
26
306




(ZVSA-B VS60 INSTRUCTION TEST PART 1

(ZVSAB.P11

Eme2 030010
EM23 030030
EM24 030053
EM2S 030115
EM26 030135
EmM27 030153
EM3 027274
EM30 030172
EM31 030212
EM32 030230
EM33 030264
EM34 030301
EM3S 030316
EM36 030335
EM37 030375
EM4 027315
EM40 030436
EMGT 030501
EMS2 030531
EMLT 030572
EM&4 030642
EMSS 030662
EM4LE 030711
EMG7 030732
EMS 027340
EMS0 030755
EM51 030777
EM6 027366
Em7 027422
ERRVEC= 000004
GNS = RARNEKRK
HEADER 027132
HT = 000011
IOTVEC: "00020
KIPAR(L . wxetex
LF = 00001°2
LPV(T 002074
LPVCTT 002076
NAMEVT 002104
NAMEV1 002106
PIRQ - 177772
PIRQVE= 000240
PRO - 000000
PR 000040
PRZ - 000100
PR3 - 000140
PR4 000200
PRS = 000240
PR6 = 000300
PR7? = 000340
PS = 177776
PSW 177776

PWRMSG 026434
PWRVEC 000024

RESTRT

002472

29-MAY-79 10:10

T S R
IO 00~~~ O W
O =H~NyOornwn

PONGRUND —
NN = OO
~NOMNVIoo

Ny
it
H

~J

oo rRor
NOMNAU IS IS
ornown~oo —

277
284
290
297
304
64
311
318
71
78
174
U 24
409
174
174
u 2445
174
3764
3774
3824
3834
174
17#
174
174
174
174
174
174
174
174
174
174

2192« .

2441
174
25

2L74LA
26754
24764
L7
24784
24794
24554
24804
24814
24824
24834
2484a
24854
24864
24874
24604
2488#
24894
24904
24914
24924
24934
2494H
24954
24614
24964
24974
24624
24634
388~
2451
24554
2448
388«

2448

410«
2200+
24420

388+«

407

J 7
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CROSS REFERENCE TABLE == USER SYMBOLS

L17% 418 428 429+ 2429% 2445+

924« 954« 1026+ 1040+« 1055+ 1298+ 1308+ 2118+ 2136+
2219+ 2231 2255+ 2279 2296 2333+ 2350« 2405«

2641
4104 2403

2170«

SEQ 0087

2178+
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(ZVSAB.P11 29-MAY-79 10:10

RESVEC= 000010 17%

RLO 002040 360# 560
2221«

RSTVEC 024454 402 1069

SETUP1 002360 3894

SETUP2 (002370 1914 394

SETUP3 002420 3984 401

SIZE 002020 334 404~

SREGO 002032 3574 736
1103 1104
1178 1189
1266 1271

SREGT 002042 3614 1335
1426 1427
2120 2122+
2179 2184

STACK - 001100 174 388

STKLMT= 177774 174

STKPT 002062 3654 586
674 680~
859+ 877+
1136+ 1151»
1331« 1344
1524+ 1541+«
1722+ 1737
1892« 1909~
2086+ 2106+
2340* 2343«

STeVAL  ()2056 3674

SWR GU1140 328 388«

SWREG 000176 oLa 388

SwO = 000001 17%

Sw00 = 000001 174

Sw01 = 000002 174

SwOZ2 = 000004 17#%

Sw03 = 000010 17%

SW04 = 000020 17

SWO5 = 000040 174

SwOoé6 - 000100 174

Sw0?7 000200 17#

SwW08 000400 17

Sw09 = 001000 17

SWwl = 000002 17#

SW10 = 002000 17#

SW11 = 004000 174

sw12 = 010000 174

sw13 = 020000 17

SWil4é = 040000 170

SW15 = 100000 17

SWw2 = 000004 174

Sw3 - 000010 178

Swé& - 000020 17

SW5 = 000040 174

Sw6 = 000100 174

Sw7 000200 174

SW8 - 000400 174

562+
1328

405

741
1116
1190
1277
1336
14639
2123
2197

411

589+

682

923+
1162+
1358+
1555
1752+
1913+
2117+
2380+

2399

563
2188

824

749
1117
1201
1290
1348
1440
2128
2203

590
694 *
953+
1173+
1372+
1572+
1766+
1933x
2135+
2388

2429

572
2213

828

754
1127
1202
1292
1346
1457
2141+
2208

647

706~

983+~
1185+
1388+«
1585«
1781«
1937~
2168+
2389

2431

K 7
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576+
2330

PONY =3 b ek b b
N =W =N
NINOO ~NNOON00 —

648~

723%
1013x
1197«
1602+
1602~
1797
1952+«
2191«

2441~

M) = = b i =

s A% LAY Bl
NININ=SN S
O H O OWWN

L

599

778
1155
1230
2315
1379
2091
2158

660+

762
1072+
1238+
1451*
1645%
1859+
1988+
2236+

601+

1076
1156
1242
2317
1394
2092
2160

661

774Lx
1084+
1251~
1466+
1662+
1876+
2004+
2256+

603

—
nN—=O
S ON
WO N

1395
2098
2162

670

785+
1097«
1267+
1483«
1675+
1881
2020
2260~

711«

1088
1167
1257

1407
2105
2171

672+

821+
1112+
1282+
1499+
1692+
1882
2037+
2286+

SEQ 0088

2199+

1089
1177
1258

1408
2111
2177+

673

843+
1123+
1305+
1514+
1705«
1888+
2067«
2289+
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(ZVSAB.P11 29-MAY<79 10:10 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0089

SWS = 001000 174

TBITVE= 000014 17# »

TERMCH 002060 368# 433 637+ 438 447 450 451 461 463 Lb4r 465 638 640
64

TIMEVT 002100 3754 -

TKVEC = 000060 174 :

TMEVT1 002102 3804

TPVEC = 000064 174

TRAPVE= 00C034 174 388+

TRTVEC= 000014 174

TSTNUM 002026 3364 2431« 2500

1ST1 002512 4150

TST10 003360 5124

TST100 013164 1367 13714

TST101 013302 13874

TST102 013410 1398 14014

TST103 013534 1412 1415 14194

TST104 013642 1430 1433

157105 013764 1446 14504

157106 014072 1461 14654

1ST107 014202 1476 1481#

TST11 003466 5284

TST110 014316 14974

1ST111 014422 1508 15124

1ST112 014510 1520 1523

TST113 014632 1536 15404

157114 014740 1551 15544

1ST115 015062 1567 15714

157116 015156 1580 15844

1ST117 015300 1597 16014

TST12 003570 5434

1ST120 015376 1610 16144

157121 015520 1627 16314

1ST122 015616 1640 16444

157123 015740 1657 16614

157124 016036 1670 16744

157125 016160 1687 16914

TST126 016256 1700 17044

151127 016400 1717 17214

T1ST13 003674 5584

TST130 016476 1730 17354

157131 016620 1748 17514

1ST132 016720 1761 17654

TST133 017020 1775 1779

TST134 017136 17954

1ST135 017262 1809 18154

157136 017414 1829 18384

1ST137 017540 1853 18574

1ST14 003762 5704

TST140 0176564 1871 18754

TST141 017754 1883 18874

1ST142 020106 1902 1908#

TSTi43 020246 1923 19324

157144 020376 1967 1951a

157145 020530 1966 1970K

TST146 020634

O
0o
o
—
O
Qo
o~
»N




(ZVSA-B VS60 INSTRUCTION TEST PART 1

CZVSAB.P11

1ST147 020740
TST15 004060
IST150 021044
TST151 021150
TST152 021336
TST153 021474
TST154 021612
TST155 021710
TST156 022032
T1ST157 022200
TST16 004156
TST160 022262
TST161 022432
TST162 0226264
1ST163 022732
TST164 023124
TST165 023316
TST166 023656
TST167 024162
TST17 004230
IST170 024310
TST2 002614
T1ST20 004302
TS121 004354
TS122 004450
TST23 004522
TST24 004602
TS125 004676
TST26 005030
1S127 005126
TST3 002710
TST30 005244
TST31 005324
TST32 005420
T1ST33 005514
TST34 005610
TST35 005704
TST36 006134
TS137 006272
TST4 003010
T1ST40 006410
TST41 006534
TST42 006622
TST43 006726
TST44 007012
TST45 007064
TST46 007310
TST47 007534
TSTS 003066
TST50 007750
TST51 010044
1STS2 010154
TST53  01040¢
TST54 010476
TSTS55 010572

TST56

010702

29-MAY-79 10:10

1998
5854
2014
2030
2051
2083
2099
2113
2129
2148
5984
2163
21904
22164
2227
2251
2275
23324
23794
604
2398#
4314
613
622
634
643
653
6694
684
700
L4654
717
728
744
757
769
781
797
835
4604
858#
8764
884
9024
9
91
952#
9824
467
10124
1021
1035
10714
1080
1092
1107

20024

2018#
20354
2060

20854
21044
21164
21344
2151

21674

22304
22544
22784

6074

cle4
625#
6374
6464
6564

6914
7044

7214
7354
7484
7604
7724
7834
804

838

8874
9134
9224
L4704

10244
10384

10834
10964
LRRRY

MACY1T1 30G(1063)
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2064m

21504

811
84oH

816

8194

SEQ 0090
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CZVSA-B  VS60 INSTRUCTION TE

(ZVSAB.P11 29-MAY-79 10:10 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0091
1ST157 010774 1120 11224

1ST16 003162 L8334

T1ST60 011070 13N 11354

TST61 011200 1146 11504

1ST62 011266 1158 11614

TST63 011354 1169 11724

TST64 011450 1181 1184

TSTES 011544 1193 11964

TST66 011640 1205 12094

T1S167 011746 1220 12244

1S17 003266 4N

TST70 012040 1233 12374

TST71 012134 1246 12504

TS172 012242 1261 12654

TST73 012354 1278 12814

TST74 012476 1294 12974

TST7S Q12672 13304

TST76 012764 1339 13434

1S177 013060 1352 13564

TYPDS = 104405 2403 24514

TYPE = 104401 408 2403 2431 2434 2437 2438 2441 2448 24514

TYPOC = 104402 2434 24514

TYPON = 104404 26514

TYPOS — 104403 24514

XDOF7 002044 362% 501 503+ 504 514 518« 519 526 548« 608 61C= 612 628+
XPOS 002034 2822# %8;; 1488 1498 1505 1513 1519 1971 1980 1987 1996 2036 2047
YDOFF 002046 3634 472 474 475 485 LB 490 L97+ 533« 617 619+ 621 629+
YPOS 002036 3594 2003 2012 2019 2028 2054 2058 2081 2082

ID0FF 002066 3714 530 534 545 549 626 631

ZPOS 002064 3704

$APTHD 001000 30#

SASTAT= wawwns |J 2430

$ATYC 025030 24304

$ATY1 025004 4304

$ATY3 025012 Q4304 2448

$ATY4 025022 24308 2437

sAUTOR 001134 324

$BASE 001256 324 390 619

$8DADR 001122 324 419+ 421 422+ {33 447~ 461 % 72+ 485+ 501+ 514# 530+ 545+

560+ 572 586+ 599+ 608« 617 626+ 638+ 647 658« 670+ 692+ 707+
722 736+ 749« 761> 773« 784+ 820+ 849 867+ 881+ - B8O« 903 914~
934+ 964« 993s 1018« 1027+« 1054  1076* 1088+ 1103+« 1116+ 1127« 1142+ 1155+
1166% 1177+ 1189« 1201+  1216%  1229% 1242+ 1257+ 1266% 1290* 1299+ 1335+ 1348
1357+« 1378+ 1294+ 1407+  1426%  1439%  1457x 1472« 1487+ 1498+ 1513« 1529+ 154/«
1560% 1578+ 1590+ 1608+ 1620+« 1638x  1650* 1668+ 1680* 1698+ 1710« 1728~ 1736+
1758+ 1772« 1786% 1803* 1823+ 1846+ 1865+ 1881+ 1896+ 1917+ 1941+ 1960+ 1971«
1987« 2003« 2019+ 2036+ 2054% 2065+ 2081 2091+ 2105+ 2120 2143« 2158+ 2171+
2197« 2217% 2241+ 2265+ 2294+  2317% 2348+ 2388+ 2500
$8DDAT 001126 324 438+ 439 451+ 452 465+ 466 £75% 476 477 490+ 491+ 492
504 * 505+ 506 519 520 521 534« 535+ 536 549+ 550+ 591 563+
564 577« 578 570= 591« 592 603« 612+ 621« 631« 632« 633 €42
651+ 652+ 661+ 662+ 663 674 675 676 682+ 683 696+ 697 712»
713 727+ 741 742% 763 754« 755« 756 766+ 767 768 778w 779
780 793 794 800+ 801 807+ 808 814 815 831« 832 850+ 851~
852 868+ 869 870 883« 893+ 894 895 907« 908+ 909 918+ 935«




(ZVSA-B  vS60 INSTRUCTION TEST PART 1
CZVSAB.P11

$BELL
$Cowl
$CDwW?
$CHARC
$CKSWR=
$CMTAG
(M =
M2 =
(M3 =
$CPUOP
$CRLF
$OBLK
$00WO0
$DEVCT
$DEVM
$DOAGN
$DTBL
$ENDAD
SENDCT
$SENDMG
SENULL
SENV
SENVM
$EOP
SEOPCT
$ERFLG
St RMAX
$ERROR
$ERRPL
$ERRTB
$ERRTY
SERTTL
$ESCAP
$E TABL
$E TEND
$SFATAL
$SFFLG
SFILLC
$FILLS

001172
001262
001264
027056
001100
000002
000004
000002
001230
001177
026252
001266
001212
001260
026430
026242
024420
024366
026437
024434
001222
001223
024332
024_60
001103
001115
025252
001116
001270
025( 54
001112
001170
001222
001270
001204
025250
001156
001155

29-MAY-79 10:10

937
1004+
1105
1167
1219
1293
1379«
1441+
1519
1593
1701«
1804
1942+
2048
2164
2240
2360+

32N
3N
3N

264684

2451
324
320
32N
324
3N
Ll 4

2438#
324
34
3o

24603

24364
27

188

24034

2403%W
3N
320

2400

388+
32N
3N

388
30
3N

243
320
3N
324
30
L9 4

24304+

324
2o

»> 208 * »

» » 8

QO NO N NN — = OO
8'\)1\
V== ONONOOPO —

PN S S S N
O—= =2 NSO WO

N —
OO
[V, I
20 N
»

2179«
2250

24631

~n
W
o
W

388

24631

24034
2403

2430

2403
24034
2429+
388+
24318
24631«
2434
2434n
2431«
388+

34
2430«

2448
2448

942

o
—
NN

»®

=2 PO ANNOD — (N~

— e d e h —d e el e d
N

f 21,8

» »

O0 O N8 NN — 2

[ S
O
Vo
\O.J

»

2180+
2267+
2373w

2434

2431

2431
2430

2431+
24629
2434

2429+

MACY11 30G(1063)

944
034
118+
179
232
321
395w
459
532
622+
713

— ) el ol ) i e ol D it b

1962
2077«
2186+
2268
2374

2448

2448
2448

2500

2431

967
1061~
1128+
1190+~
1244+
1337+
1397
1474~
1549
1641
1746
1849
1981
2094 «
2204
2274
2390+

971«
1077«
129+
91»

8 8
17-SEP-79 08:43 PAGE 20-8
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972
1078«
1130
1192

~N

W

0
»

PNOPNOPNUND) — = b b b b =
WA= O Q0 NONWN S N

995
1089+
14be
1203+
1260
1351
1427+
1490
1563
1671+

1773

1897
2013

2125+
2225+
2319x
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CZVSAB.P11 29-MAY-79 10:10 CROSS REFERENCE TABLE == USER SYMB(LS SEQ 0093
$GDADR (001120 30
$GDDAT 001124 3o 434 435 439 442+ 448« 652 456+ 4579 462 466 473 474
477 480~ 487+ 488+ 692 502+ 503 506 5009« 516+ 517« 521 530+
536 530 547+ 551 554~ 555« 561+ 562 564 567+ 574+ 575« 578
588+ 589 592 595« 600+ 609+ 618+ 627+ 633 639+ 648+ 659+ 660
663 666+ 671« 676 679 683 693« 695 697 701= 709+ 713 716+«
726 760 743 753« 756 765+ 768 777 780 792+ 794 799« 801
806+ 808 813« 815 827+ 830~ 832 837 845+ 847 852 855+ 86+
863+ 865 870 8§78+ 890+« 895 899« 904 » 909 915« 926+ 927+« 928
930+ 937 939+ 942 948+ 949 956 957« 958 960+ 967 969« 972
978« 979 985« 986 * 987 989+ 997 999« 1002 1008« 1009 1016+« 1032+
1034 10646+ 1047 1048 1050« 1066~ 1067 1074 = 1079 1086+ 1091 1101« 1106
11146 1119 1125+ 1130 1139« 1145 1152+« 1153 1163+ 11€46 1175~ 1180 1187
1192 1199« 1204 1215« 1219 1227% 1232 1240« 1245 1255+ 1260 1270~ 1276+
1286+ 1293 1300+ 1321 1333« 1338 1346 1351 1363« 1366 1374+ 1376 1381
1384« 1390+ 1397 1405+ 1410 1414+ 1422* 1429 14637 1442 1445+ 1453+ 1460
1470 1475 1485+ 1490 1694 1504« 1507 1517 1527+~ 1532 1535« 1543« 1550
1557« 1563 1566+~ 1573~ 1587+ 1593 1596+ 1603« 1617~ 1623 1626+ 1633+ 1647+«
1653 1656+ 1663~ 1677 1683 1686+ 1693« 1707+ 1713 1716+ 1723» 1744~ 1747
1754« 1756 1760 1768~ 1770 1774 1780+ 1784 1788 1792+ 1805 1810~ 1811+
1812+« 1825 1830~ 1835~ 1841+ 1849 1854 1851« 1863 1867 1870+ 1872« 1879+
1898 1903» 1904 « 1905+ 1919 1924« 1929+ 1935+ 1943 1948+ 1955« 1958 1962
1965 1967+ 1977« 1981 1993+ 1997 2009« 2013 2025« 2029 2044 2048 2056+
2059 2076« 2087« 2097« 2109~ 2112 2121« 2122 2130 2137« 2141 2152« 2159«
2172+ 2198« 2210 2220« 2226 2233~ 2244 2248+ 2250 2257« 2268 2272 2274
gggé* 2311 2318« 2322« 2327 2338+« 2365 2369+ 2374 2381« 2391 2%94« 2395
$GETL2 024410 24034
$GTSWR- wawmnn 2451
$4D - 000000 13
$HIBTS 001000 30
$ICNT 001104 IOK 2429+
SILLUP (026426 2464
$INTAG 001135 o
$SITEMB 001114 328 2631+ 2434
SLF 00120C 328 2431 2448
SLFLG 025247 24304
$LPADR 001106 30 388+« 24209+
$LPERR (001110 324 388« 416~ 432« 446 471« 484« S00« 513« 529+ 544 559+ 571«
587 657~ 705« 844« 860+ 888+ 925~ 955« 984+ 1041+ 1373« 1403« 1435«
1482+ 1525+ 1556+ 1586+ 1616+ 1646« 1676+ 1706+ 1796+ 1816+ 1844~ 1858+ 1889+
1910+« 1939« 1953« 2429x  243]
SLSTAD (026576 404 1780 264458
SMADRT 001234 324
$MADR? 001240 34
$MADR3 001244 324
$MADRG 001250 324
tMA]IL 001202 30 324 388 415 431 445 460 470 483 499 512 528 543
558 570 585 598 607 616 625 637 646 656 669 691 704
721 735 748 760 772 783 819 842 858 876 887 902 913
922 952 982 1012 1026 1038 1071 1083 1096 1M1 1122 1135 1150
1161 1172 1184 1196 1209 1224 1237 1250 1265 1281 1330 1343 1356
1371 1387 1401 1419 1433 1450 1465 1481 1497 1512 1523 1540 1554
1571 1584 1601 1614 1631 1644 1661 1674 1691 1704 1721 1735 1751
1765 1779 1795 1815 1838 1857 1875 1887 1908 1932 1951 1970 1986
2002 2018 2035 2064 2085 2104 2116 2134 2156 2167 2190 2216 2230




(ZVSA-B  VS60 INSTRUCTION TEST PART 1

CZVSAB.P11

SMAMS T
MAMS 2
SMAMS 3
SMAMS 4
SMBADR
SMFLG

SMSGAD
MSGLG
MSGTY
MTYP?
MTYP?
MTYP3
MTYP,
SMXCNT
SNUL L

ENWTST

$OCNT
$OMODE
$OVER
$PASS
$PASTM
$PWRAD
$PWRDN

SPWRUP
$QUE S
$RDCHR=
$RDDEC=
$RDL IN=
$RDOCT=
$REGAD
SREGO
$REG1T
$SRTNAD
$SR2A -
$SAVRE=
$SAVR6
$SCOPE
$SETUP=
$SIZE
$STUP =
$SVLAD
$SVPC =
$SWR -

001232
001236
001242
001246
001002
025246
001216
001220
001202
001233
001237
001243
001247
025002
001154
0000G"

026032
026034
024766
001270
001006
026422
026262
026416
026334
001176

khkkRhhw
L 28 N8
L3888 8]
L2 22844

001160
001162
001164
024432

AEAARR
ARAA AR

026432
024526
000037
026502
177777
024732
000210
167400

29-MAY-79 10:10

cccc

2254
324
20

320
320

528
691

2278

2430+
2430
2430+

2448
L3
6074
7724

10244

12094

16194

16144

18154

20644

23794

388«

26414

2431

242
388
26454

13
543
704

MACY11 30G(1063)

2332

L454

C164

7834
10384
1224M
164334
16314
18384
20854
23984

2403+

448

2403

22
558
721

2379

4604
6254
810#
10714
12374
14504
16444
18574
210644

2429

2429

32
570
735

D 8
17-SEP-79 (0B8:43 PAGE 20-10
CROSS REFERENCE TABLE ~- USER SYMBOLS

2398

4704
6374
8424
10824
12504
14654
16614
18754
21164

2431

388
585
748

2429

L4834
6464
8584
10964
12654
14814
16744
18874
213%4x

415
598
760

2631

L4994
6564
8764
11114
12814
14974
16914
19084
21564

431
607
772

2648

5124
6694
887~
11224
12974
1512#
17044
19324
21674

645
616
783

5284
6914
9024
11354
13304
15234
17214
1951#
21904

460
6295
819

5434
7044
913
1150#
13434
15404
17354
19704
22164

470
637
842

5584
7214
9224
11614
13564
15544
17514
19864
22304

(85
646
858

5704
7354
9524
11724
13714
15714
17654
2002#
2254M

499
656
876

SEQ 0094

585#
7684

11844
13874
15844
17794
20184
22784

512
669
887




E 8
T PART 1 MACY11 30G(1063) 17-SEP-79 08:43 PAGE 20-11

(ZVSA-B  VS60 INSTRUCTION TES

CZVSAB.P11 29-MAY=79 10:10 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0095
902 913 922 952 982 1012 1026 1038 1071 1083 1096 1111 1122
1135 1150 1161 1172 1184 1196 1209 1224 1237 1250 1265 1281 1297
1330 1343 1356 1371 1387 1401 1419 1433 1450 1465 1481 1497 1512
1523 1540 1554 1571 1586 1601 1614 1631 1644 1661 1674 1691 1704
1721 1735 1751 1765 1779 1795 1815 1838 1857 1875 1887 1908 1932
1951 1970 1986 2002 2018 2035 2064 2085 2104 2116 213 2156 2167
2190 2216 2230 2254 2278 2332 2379 2398 2403 2429 2431 2441

$SWREG 001224 3N 388

$SWRMK - 000000 22 2429 _

$TESTN 001206 IoM L15%  431x 445+ 460%  470% 483+ 499« 512« 528« 543« 558+ 570«

585+ 598+ 607+ 616* 5% 637+ €46 656~ 669+ 691« 704« 721« 735+
748+ 760 772% 783« 819« 842« 858« B76+ 887+ 902+ 913w 922+ 952+
982+ 1012+ 1024+ 1038+ 1071+« 1083« 1096+ 1111+ 1122+« 1135« 1150+ 1161« 1172+
1184« 1196 1209+  1224x 1237~ 1250+ 1265« 1281= 1330« 1343« 1356+ 1371« 1387+
1601% 1419« 14633« 1450« 1465+« 1481+ 1497+« 1512+« 1523« 1540+ 1554+ 1571« 1584+
1601« 1614 1631« 1644* 1661+  (6/74% 1691+ 1706v 17271« 1735« 1751+ 1765+« 1779+
1795~ 1815+« 1838+ 13857« 1875« 1887+ 1908« 1932« 1951« 1970+« 1986+ 2002+« 2018+
2035+  2064* 2085+  2104% 2116 2134 2156+ 2167« 2190r 2216+ 2230+ 2254+ 2278+
2332+« 2379«  2398x 2429«
$TIMES 001166 3o 388« 598« 607+ 616+ 625+ 637« 646 669+ 691+ 704 721« 810«
876+ 913« 922+ 952« 982 1012+ 1038+ 1281« 1297+ 1465+ 1512+ 1735« 1779«
2064 2104x 2116+ 2156% 2167« 2190+  2216% 2230+ 2254~ 2278+ 2332+ 2403+ 24209+

$TKB 001146 324
$TKS 001144 324
$TN = 000171 64 13 L154 434 4454 4604 467 4708 4834 495 512# 5284 5434

5584 2704 5854 5984 606 6074 613 6164 622 6254 634 6374 643
646N 653 6564 6694 684 6914 700 7044 717 C4L4 728 7354 744
7484 757 7604 769 7724 781 7834 797 804 811 816 8194 835
838 842# 858# 8764 884 8874 9024 910 9134 919 9224 9524 9824

10124 1021 10244 1035 1038# 10714 1080 10834 1092 10964 1107 1111 1120
11224 1131 11354 1146 11504 1158 11614 1169 11724 1181 118464 1193 11964
1205 12094 1220 12244 1233 123784 1246 12504 1261 12654 1278 12814 1294
12974 13304 1339 13434 1352 13564 1367 13714 13874 1398 164014 1412 1615
14194 1430 14334 1446 14504 14661 14654 1476 14814 14974 1508 15124 1520
1523 1536 15404 1551 1554# 1567 15714 1580 1584 1597 1601# 1610 16144
1627 16314 1640 16444 1657 16614 1670 167642 1687 16914 1700 17044 1717
17214 1730 17354 1748 1751# 1761 17658 1775 17794 17954 1809 18154 1829
18384 1853 18574 1871 18754 1883 18874 1902 19084 1923 19324 1947 1951#
1966 19704 1982 19864 1998 20024 2014 20184 2030 20354 2051 2060 2064 #
2083 20854 2099 21044 2113 21164 2129 21348 2148 2151 21564 2163 21674
21904 22164 2227 22304 2251 22548 2275 22788 23324 2379 23984

$1P8 001152 328 2448w

$TPFLG 001157 I8 2448

$TFS 001150 324 2448

$TRAP (027062 388 24514

$TRAPZ2 027104 264514

$TRP = 000006 24514

$TRPAD (27116 24514

$TSTM 001004 304

$TSTNM 001102 3N 413 2403 2429« 2471

STYPBN= teraxs J 2451

$TYPDS (026036 2L388 2451

$TYPE (026600 2430 24484 2451

S$TYPEC 027012 2448

$TYPEX (027060 2L4LBN

$TYPOC 025634 243748 2457




(ZVSA-B VSO0 INSTRUCTION TEST PART 1

(ZVSAB.P11 29-MAY=79 10:10

$TYPON 02565C 26378 2451

$TYPOS 025610 2437/ 2451

SUNIT 001214 320

SUNITM 001010 304

SUSWR 001226 324

SVECTY 001252 324 396

SVECTZ2 001254 32x

SXTSTR 024536 26294

$$GE 14= 000000 24034

$OF ILL 026033 24374

BLOCAT~ weaneen 2429 2431

. - 031100 Py o7k
26434 2448

LSASTA- eenree 2430

. $X 001006 304

MACY11 30G{1063)

17=-SEP=-79 (08:43 PAGE 20-12

CROSS REFERENCE TABLE == USER SYMBOLS

1042

s
24994

1301

304

2173

24

2193%

588

2280

2403

2334

2479

2411

2430

2431

2434n

24384

SEQ CU96

2441




(IVSA=B VSO0 INSTRUCTION TEST PART 1
(ZVSAB.P

COMMEN
DELAY
DELAY1
ENDCOM
ERROR

ESCAPE
Gt TPR]
GE TSWR
MAINTI
MAINT?

MULT
NEWTST

PUSH
REPORT
RE SUME

SCOPE

SETPRI
SETTRA
SETUP
SKIP

17#
37N
51

174

17#
614
796

1000
1194
1383
1612
1851
2095
2270

178

17%

17#
338#
3L

1084
1331
1602
1859
2191

174

17#
607
819

1096
1297
1540
1765
2035
2398

17#

174

174
3440

2055

174
607
819

1096
1297
1540
1765
2035
2398

174

2451H

174

17#
769

1092
1278
1551

29-MAY=-79 10:1C

427

623

803
1005
1206
1399
1625
1869
2101
2276

2645

694

737
1097
1344
1615
1876
2380

415
616
842
1111
1330
1554
1779
2064

2430
2430

805
2070
415
616
842
1M
1330
1554
1779
2064
2403

388
467
781
1107
1294
1567

POR) = b cud = b

w—-oagbmocm)b
O =00 —=rony —2 N
NS NNIN =N O

654
644
817
1036
1234
1631
1655
1900

2309

MACYT1 30G(1063)

468

654

834
1058
1247
1644
1672
1921
2132
2313

774
1136
1388
1662
1933

460
64€
887
1150
1371
1601
1838
2116

1214

460
646
887
1150
1371
1601
1838
2116

— 3
NN = 00O

2ONE a2y
DN =P

G 8
17-SEP-79 (8:43
CROSS REFERENCE TABLE =~ MACRO NAMES

694

678

872
1081
1273
1477
1702
1964
2154
2329

821
1162
1420
1692
1972

483
669
913
1172
1401
1631
1875
2156

1757
483

913
72

—CoCH —
WMNWNO

N = = =
NN — =

643
835
1169
1412
1640

1771

499
691

1184
1419
1644
1887
2167

O & 2000
1 — 00N VN
W — 00N

— e ——

1785

512
704
952
1196
1433
1661
1908
2190

684
840
1193
1430
1670

CAGE 21

N O NN — O W
OO0 —= NN — 2N
NN = — = Q0

PIPONY) — = b

923
1197
1499
1752
2020

528
721
982
1209
1450
1674
1932
2216

1978

528
721
982
1209
1450
1674
1932
2216

698

884
1205
1446
1687

199/

543

735
1012
1224
1465
1691
1951
2230

700

1220
1461
1700

366

745

940
1147
1323
1552
1776
2050
2212
2393

983
1225
1541
1781
2067

558

748
1024
1237
1481
1704
1970
2254

2010

558

748
1024
1237
14817
1704
1970
2254

— d ek
NENOON
— YN —
SNOMAWNNO N

2026

570

760
1038
1250
1497
1721
1986
2278

728
1021
1246
1508
1730

594
770
970
1170
1353
1582
1807
2079
2246

1039
1251
1572
1817
2135

585

772
1071
1265
1512
1735
2002
2332

SEQ 0097

695
787
975
1182
1368
1595
1827
2084
2252

1072
1267
1585
1839
2168

598

783
1083
1281
1523
1751
2018
2379

2053

598

783
1083
1281
1523
1751
2018
2379

757
1080
1272
1536
1761




CZVSA-B VSO0 INSTRUCTION TEST PART 1

(ZvSAB.P11
1775
2051
SLASH 17#
SPA(CE 17#
STARS 17#
570
760
1038
1250
1497
1721
1986
2278
2641
SWRSU 174
TRMTRP 2651n
TYPRIN 174
TYPDEC 17#
T YPNAM 17#
TYPNUM 174
TYPOCS 174
TYPOCT 17#
TYPTXT 174
$ECMRE 32
SECMTM 328
$SESCA 174
SENEWT 17#
607
819
1096
1297
1540
1765
2035
2398
$ESFT 2451a
$$SET™ 388#
$$SK [P Y
781
1120
1352
1897
1853
2113
.EQUAT e |
.HEADE 74
KT on
.SETUP 8#
. SWRH] o
.SWRLO 2N
LSACTT 10
.SAPTB 104
.BAPTH 10#
.BAPTY 104
JSCATC e 4
LS(MTA 8

1789
2060

27
585
772

1071
1265
1512
1735
2002
2332
2445
3884

2403

2434

615
616
842
1111
1330
1554
1779
2064

29-MAY-79 10:10

1809
2078

30
598
783

1083
1281
1523
1751
2018
2379
2648

3
625
858
1122
1343
1571
1795
2085

604

804
1146
1398
1627
1883
2148

1829
2083

32
607
819

1096
1297
1540
1765
2035
2398
2451

445
637
876
1135
1356
1584
1815
2104

N~ ad e b

— R =0
OO LS A\ = b
-2 N ONO0 — N

H 8
MACY11 30G(1063) 17-SEP-79 (08:43 PAGE 21-1
CROSS REFERENCE TABLE == MACRO NAMES

1853 1871 1883 1902
2099 2113 2129 2148

415 431 445 460
616 625 637 646
842 858 876 887
1111 1122 1135 1150
1330 1343 1356 1371
1554 1571 1584 1601
1779 1795 1815 1838
2066 2085 21064 2116
2603 2606 2408 2420
2502 2505

460 470 483 499
646 656 669 691
887 902 913 922
1150 1161 1172 1184
1371 1387 1401 14719
1601 1614 1631 1644
1838 1857 1875 1887
2116 2134 2156 2167

622 634 643 653
816 835 838 884
1169 1181 1193 1205
1415 1430 1446 1461
1657 1670 1687 1700
1923 1947 1966 1982
2163 2227 2251 2275

A»

1923
2151

470
656
902
1161
1387
1614
1857
2134
2422

1947
2163

483
669
913
1172
1401
1631
1875
2156
2429

528
721
982
1209
1450
1674
1932
2216

700
919
1233
1508
1730
2014

1966
2227

699
691
922
1184
1419
1644
1887
2167
2430

543

735
1012
1224
1465
1691
1951
2230

717
1021
1246
1520
1748
2030

1982
2251

512
704
95¢
1196
1433
1661
1908
2190
2431

1998
2275

528
721
982
1209
1450
1674
1932
2216
2434

S70

760
1038
1250
1497
1721
1986
2278

744
1080
1278
1551
1775
2060

2014

543

735
1012
1224
1465
1691
1951
2230
2437

585

772
1071
1265
1512
1735
2002
2332

757
1092
1294
1567
1809
2083

SEG 0098
2030

558

748
1024
1237
1481
1704
1970
2254
2438

598

783
1083
1281
1523
1751
2018
2379

769
1107
1339
1580
1829
2099




T PART 1

CZVSA=B VvS60 INSTRUCTION TES
(ZvSAB.P11 29-MAY=-79 10:10
SEOP 78 2403

.$ERRC 78 264

.SERRY o8 2434

. SPARM 8

. $POWE 8# 2441

.SREAD 8#

.$SAVE 8#

.$SCOoP 84 2629

.3S12ZE on 2445

.$SPA( 8#

.$SWD0 84

.S TRAP 8 2651

.$TYPD SN 2438

.$TYPE 7n 84 2448
.$TYPO N 2463%7

. ABS. 031100 000 (ON Rw

ERRORS DETECTED: O

CZVSAB,(Z2VSAB/CRF=(ZVSAB
RUN-TIME: 36 23 2 SECONDS
RUN-TIME RATIO: 134/62-2.1

CORE USED:

2

6K (5" PAGES?

T ¥
MACY11 30G(1063) 17-SEP=-79 (0B:43 PAGE 21-2
(ROSS REFERENCE TABLE == MACRO NAMES

ABS G3L |

SEQ 0099




